7 i R SR LA A PR 2 7

NINGBO OULE MACHINE CO., LTD.

TRERTIEBRAF

NINGBO DEREK TOOLS CO.,LTD.

ESH S BN SALES CENTER

Mk #iTE TR T ER N X BB E K& 1357 5 T 1 E B L 231

Add: 23th Floor, Guangbo Bld, No.1357, Middle section of Yinxian Ave, Yinzhou, Ningbo, Zhejiang
&/ Tel: 0574-26286999 26287770/71/73/76

f£H/ Fax: 0574-26283999

HR#E/ E-mail: sales@derekmetal.com

P31t/ Web: www.derekmetal.com

E B35S OVERSEAS

FBiE/ Tel: +86-574-26287772
HR48/ E-mail: sales1@derekmetal.com
1k/ Web: www.derektools.com

=25 T30 L

ST 45> EB JIANGSU BRANCH

FBiE/ Tel: 0512-57777308 57777309
fEH/ Fax: 0512-57777309

T~ Z= 5> #% GUANGDONG BRANCH
A35/ Tel: 0769-81199996 85305802
62/ Fax: 0769-81199995

gcoc

BMNRBEARER . HE=mINF

We reserve the rights to update the products
specification without prior notice.




iz 7y
qfﬁﬁiﬁ

Conquering all difficulties

ABOUT DEREK

fEsEEIT

I
Factory 1

TR RYHERARAERTRERZ IR
BIRARN “DEREK” J1EGRAEEERHIH
EMIiNEEHESD, HFEFETRES
drith 25 ER—HAT N TX % it 30 EHHY
“HATIMIX,

NFEIB 1993 ERIES, 20 SELF
Tk, RERROHEEZEEIZETIAN
RibEF=LmlEsl, #BEF 30 ST
EF), SWMERIAE, ZEEEFRIMEZERARA
AEFT!

Ningbo Oule Machine Co., Ltd., established in 1993, is the
research and manufacturing center of Derek Tools and
specialized in CNC milling cutters, turning tools, tool
holders, and boring tools. Our mission is to provide high
quality products and a-class service, including providing our
customers with tools solution, helping them get smooth

production.

BRINESIFTRIBAEE “GIE—R5 R, BRH-ERS” tlxRE, “AFFE
MEETABEMATR., WEEFHNRSTHZURSEKRENRIY” RSB TIENE
WiFsK o

BEAEEARER, ERTNEZTPEBER70ZNERMMER, B THITHEIKEHN
% BEXREEFWAAMEHHNSREEESRNEE, EEHEEEINERREFR
HEISET, BEAREERIHNEEMAHESE NALRNEZTTIEUEFTMAEN.
BRENTZ., LBHEeE, BRIAERSETEAN—BFITEMTZIAE,

We work with the most experienced engineers in high precise tools area, and we have the testing equipments to make sure our
tools are qualified. During the past years, we focused on the further development, working with high-tech research institutions all
over the world. With our efforts, we won an award of patent of 0.002mm precision adjustmet for FBH micro boring tools.

Meanwhile, we improved the whole factory management level. Today, Derek enjoys good reputation among the CNC tools field.

¢

ST AR Al




Type-MFXN Square Face Milling cutter Type-MFWN Square Face Milling Cutter Type- HN45 45°Face Milll Type- SN45 45°Face Mill
MFXNZ! 90° E%ET] MFWNZ! 90° TE$£7] HN45% 45° HE$HtT] syr\rl)is?&ﬂ 42" ?E%?ECJQJ I

X i o |
™ | o &7t

.
»
- <
- D01 D02 D03 _ D04

ASR Screw-on Cutter For High-feed Milling  EMR Screw-on Milling Cutter TRS Screw-on Milling Cutter RCF Screw-on Ball-nose Cutter For Roughing

ASR i 2F =0 K it 25 3t 77 5k EMR 3 2F s 5t 77 3k TRS # F K umet 71k RCF £ 2F sUBK 7 #8.7 =k
A

D05 D05 D06 D06
BF Screw-on Ball-nose Cutter For Finishing  300R/400R Screw-on Milling Cutter AJU Screw-on Cutter For Drilling Milling DS Solid Carbide Holder
BF € F sCER 4B $5 7T 300R/400R #iZF = i5 fuh #E 71 3k AJU g ZF g R R 7T 35 DS kgt 71 LAt

D07 D07 D08 D09
AJX High Feed Indexable Milling Tool SKS High Feed Indexable Milling Tool ASR High-feed Milling Cutter AHU Shoulder Milling Cutter
AJX KFLE 5T SKS K457 ASR KA 3%k T AHU B &Rt

D11 D12 D13 D14D15 ’
EMR Indexable End Mill EMRT Indexable End Mill TRS Indexable Milling Cutter RCF Ball-nose Indexable Cutter For Roughing
EMR &3 ikt 7] EMRT& ikt 71 TRS &F X umHHt T RCF sk 48 T]

D16D17 D18 D19D20 D21
BF Ball-nose Milling Cutter For Finishing 300R/400R High Speed Indexable End Mill  AJU Cutter For Centering And Drilling ATS T-Slot Milling Cutter
BF BRLHE I T2 8k 77 300R/400R i fa & i i £ T AU SR EESETT ATS-TEI 324k 7]
: @
D22 D23D24 D25 D26

ASJ Cutter For Drilling And Milling CH Indexable Cutter For Pocketing TP60°,45°,30° Chamfering Cutter EM45° Internal And External Chamfering Cutter

ASJ shitt RGBT (G T BY) CH B2 SLFL5% 7T TP60°,45°,30° E4RELEIf 7] EM45° msMelfa Tl

D26 D27 D27 D28
SSP45° Cutter For Centering And Chamfering ~ AJX High-feed Face Mill SKS High-feed Face Mill EMRW Face Milling Cutter
SSP45° FEAL 7] AJX KHELEEHETT K SKS Xi#tZam#t 71k EMRW [ 71 71 FE#E 7%

D28 D29 D29 D30

TRS Face Milling Cutter 400R Square Face Mill FP45° Face Mill Head FP75° Face Mill Head
TRS B 7171 E ST S 400R B faFmet Tk FPAS k7] sk FP75° SFE#E TSk

D31 D32 D33 D33
SE45° High-speed Face Mil TDC Slot Milling Cutter TDCW Slot Milling Cutter GDC Indexable Side Cutter For Slotting
SEASE iR FEHE 7]k TDC #&%% 71 TDCW k77 GDC &FAMskTI

D34 D35 D35 by D36

SDC Indexable Side Cutter For Slotting ~ CDC Indexable Side Cutter For Slotting  WDC Indexable Side Cutter For Slotting
SDC &FAMgETI CDC &3 = MmstTI WDC & F= Mgk 7]
»

D37 D38 D39
MCLNR/L MCBNR/L MCKNR/L MCGNR/L

EO1 EOL E02 E02
MCSNR/L MCMNN MCMNN-40 MDJNR/L

-’

EO3 EO3 E04 E04
MDPNN MDQNR/L MSBNR/L MSDNN

0] E05 E06 EO6
MSKNR/L MSSNR/L MTENN MTJINR/L

EO7 EOQ7 EO08 EO8
MTFNR/L MTGNR/L MTQNR/L MVJINR/L

E09 E09 E10 E10



MVQNR/L MVUNR/L MVVNN MWLNR/L

EIZ’ E

\

El1 Ell 12
WTJINR/L WTQNR/L WTENN WWLNR/L

E13 E13 E14 ’ El4
SCACR/L SCBCR/L SCFCR/L SCKCR/L

E15 E15 El6 ’ El6
SCLCR/L SCMCN SCMCN-40 SDACR/L

E17 E17 E18 ’ E18
SDFCR/L SDJCR/L SDNCN SDQCR/L

E19 E19 E20 ’ E20
SRACR/L SRDCN STECR/L STFCR/L

E21 E21 E22 ’ E22
STGCR/L STWCR/L SSBCR/L SSDCN

: C
E23 E23 E24 E24

SSKCR/L SSSCR/L SVJ*R/L SVQ*R/L

E26 ’

\
\

E25 E25 E26

SVU*R/L SW*N MCKNR/L MCLNR/L

E27 ’ E27 ’ E28 ’ E29
MDQNR/L MDUNR/L MDWNR/L MSKNR/L

E30 ’ E30 E31 ’ E31
MTFNR/L MTQNR/L MTUNR/L MTWNR/L

E32 E32 ’ E33 ’ E33
MVQNR/L MVUNR/L MVWNR/L MVXNR/L

E34 E34 E35 E35
MWLNR/L SCK*R/L SCL*R/L SCLCR/L*H

E36 ’ E37-E38 ’ E39-E40 E41
SCZCR/L SDLCR/L SDQCR/L SDUCR/L

E42 ’ E43 ’ E44 ’ E45
SDWCR/L SDZCR/L SDXCR/L SSK*R/L

E46 ’ E47 ’ E48 ’ E49
SSS*R/L STFCR/L STFPR/L STUCR/L

\

E50 E51 E52 E53

Rl Rl Rl



STUPR/L STWCR/L SVQ*R/L SVU*R/L

E54 ’

\

E57

E55 E56

SVZ*R/L SVW*R/L SVX*R/L SWLCR/L

E58 ’ E59 E60 E61
SWUBR/L SER/L SNR/L MGEVR/L

E62 E63 ’ E64 E65
MGEHR/L MGIVR/L QE*DR/L QF*D**LL**

E65-E66 ’ E67 ’ E68 E69

QF*DL QF*D**RR** ZQ Q*DR/L

E70 ’ E71 E72 E73
SNGR/L

E73

T I 12/
l : [ / H )
L 1" T < :
I { \
f LTSN



MFXN

Type-MFXN Square Face Milling Cutter

MFXNZ! 90° mE$t7]

Kr=90°
FRAEMEEZES0-160mm
TE#MRIEREER

Kr=90°
Standard diameter: 50-160mm
More options for inserts[z

HER: 3L

W Tarst: 4555

N Tar#aE R . HRC30

TIEMHE: MFXNI90-100-32-8TR
gE71 K . XNEX080608-GM QP5125
PI45EEVe: 180m/min (580r/min)
I EEFz: 0.2mm/t (Vi=930mm/min)
YIiRAp: 2mm

1%EAe: 80mm

BHFN: KiS

Machining Case

Vertical machine

Processed material:45# steel
Material hardness: HRC30
Speciafication of mill:
MFXN90-100-32-8T-R

Insert: XNEX080608-GM QP5125
Cutting rate(Vc): 180m/min (580r/min)
Feed(Fz): 0.2mm/t (Vf=930mm,/min)
Cutting depth(Ap): 2mm

Cutting width(Ae): 80mm

Coolant: Water

MFXN

Type-MFXN Square Face Milling Cutter

MFXNEL 77 R E$E 71 &2
WARIf SHSHELISIURIE S | (R, BR0R
AN TR IR,

WEMKZITERRATIEESM, HFAYR?.5mm,
BEAE AR EMEMT, SFEFE. &/,
W E6TIRILESRIER T F ERMEFLE,

M The structure has a large anterior horn and dynamic slant design,
easily for cutting and low vibration. Effectively improved surface roughn
-ess of the workpiece.

M Thick insert is remarkable for anti-broken. which can be ensured for
the maximum cutting depth as 7.5mm.

M The non-directional insert can deal with many kinds of processing, inclu
-ding plane, step, grooving, verticality machining.

MDouble faces and 6 teeth, more economical and practical than the tradi
-tional tools.



MFWN

Type-MFWN Square Face Milling Cutter

MFWNZ! 90° E$t7]

Kr=90°
FREMREES0-250mm
NR#RIEREE

Kr=90°
Standard diameter: 50-250mm
More options for inserts[=

HLER: 3fm

WnT#at: 4553

Wn THERE . HB180

TIEME: MFWNOO0-160-40-10T-R
#t71 R WNGUO80608N-GM JP5125
PIEIEEVC: 140m/min (280r/min)

LA EEFz: 0.15mm/t (Vi=420mm/min)
YIRAp: 2.5mm

P13EAe: 130mm

BHAR: |4

Machining Case

Vertical machine

Processed material: 45# steel
Material hardness: HB180
Speciafication of mill:
MFWN90-160-40-10T-R

Insert: WNGUO80608N-GM JP5125
Cutting rate(Vc): 140m/min (280r/min)
Feed(Fz): 0.15mm/t (Vf=420mm/min)
Cutting depth(Ap): 2.5mm

Cutting width(Ae): 130mm

Coolant: Air

Type-MFWN Square Face Milling Cutter
MFWNZL 7 B E St 71 £

W6 TIH| TR M EiF 25T
I%J—#Mﬁﬂ%%&%ﬁk Wi, AFRAE TR 8

BFE5TRNAFEES ERKIMELT0° NEXER

WA#EESE, GMtt, BREEM IS TENE

BRE AT SHERBEELIRES . KIRE, BUREH
MIERERE

M6 cutting edges achieve better machining economy.

Minsert has wide-area applications which is suitable for machining cast iron,
steel, stainless steel and difficult-to-machine materials.

MExcellent matching of cutter body and insert is close to perfect 90 degree
vertical.

WA variety of machining areas is feasible including surface, step, groove and
vertical milling.

W The design of large front angle and dynamic slope provides low resistance
and vibration during machining. The roughness of workpiece surface is also
improved.

MFWN

Type-MFWN Square Face Milling Cutter
MFWNZ! 90° mE#EJ]

Contrast Experiment: Angle Deviation
SCxTEE: MEER

Mg EEZOLLERRS J1{%
Testing Equipment: Tool Presetting and Measuring Machine from ZOLLER, Germany

S mMFWN S mMFWN

<

2 90°0000" | =3

1 f m2 =3
BHE S NEEHERAZIRZRMARKRN TR, EiHEUEEHIE2ESH A ERIEEM; mER JIE
WESETIRAEE, FELRERGERNE1FAR, AIEIEFTENIOEIZITE,

EMMost of cutters in the market is difficult to avoid the angle deviation problem of Figure 2 and Figure 3 because it is necessary to take into account
inserts from different brands;However DEREK cutter is based on the DEREK own inserts, which results in the installation and matching machining as
shown in Figure 1. It can achieve a near-perfect 90°design.

Contrast Experiment: Surface Roughness
SEMXTEE . fHEEEE R

T1H: WNGUO80608N-GM JP5225
PIHEEVCe: 200m/min
#HAEEFz: 0.1mm/t

YIiRAp: 1.2mm

1%EAe: 40mm

MFWN

ok
Eo

Insert: WNGUO80608N-GM JP5225
Cutting speed(Vc): 200m/min

Feed rate(Fz): 0.1mm/t

Cutting depth(Ap): 1.2mm

Cutting width(Ae): 40mm

E2

BMETEREXTIZEARSHBRPBESE, EEEREVRFGETmENHEEERIEAMRS,

M Better roughness result received under the same cutting conditions due to DEREK precision control of run-out.



MFWN

Type-MFWN Square Face Milling Cutter
MFWNZ! 90° mE#t7J]

HN45

Type- HN45 45°Face Mill
HN45%8! 45° HE$ET]

/ Application Example

&I TR A EXT L
Comparison of surface roughness
after finishing machining

YIRS Xt bt

Comparison of cutting load capacity

60 24

(um)

% . I
. 243 T s
| 1
b #
#H 30 B 12
%) Ra
(um)
0.8
15
04
0 0

Product from K brand, Japan Product from K brand, Japan

WA TH4: QT500 W44t 42CrMo

{EFATIE: MFWN90-80-27-5T-R (®80) {EA7IE: MFWN90-50-22-4T-R (050)
YIHEEVe: 160m/min YIHIEEVe: 200m/min

44 EFz: 0.13mm/t #HE4EEFz: 0.1mm/t

1iRAp: 2.0mm iRAp: 0.3mm

Machined material: QT500 Machined material: 42CrMo

Tool: MFWN90-80-27-5T-R (®80) Tool: MFWN90-50-22-4T-R (050)

Cutting speed(Vc): 160m/min Cutting speed(Vc): 200m/min

Feed rate(Fz): 0.13mm/t Feed rate(Fz): 0.1mm/t

Cutting depth(Ap): 2.0mm Cutting depth(Ap): 0.3mm

The Massive Blank Workpiece
QT500 X FEL

/Cutting length 8.43m

LP5125 LP5225 o e oo
MR ARFRENEE, 7 IETHIRLETE, SRS,

B Keep stable impact resistance by high density insert and the cutting edge with micro-lubrication
treatment.

Mechanical Parts
42CrMo HLHZE 4

/Cutting length 19.8m

LP5 1 25 LP5225 Produ?tfolfn%:?ra?;%apan
WiE IS8 E B S ARHIPVDAKRE, KIIETE MM EME,

MKeep stable wear resistance by PVD nano coating with high hardness and excellent resistance
to oxidation.

2% 7] R IERH m Bk sh bk
Comparison of axial runout after
installing the insert

80

R

60

@;;&\

B 40

20 l
0

{E A TIE: MFWN90-80-27-5T-R (®80)
T 5

Tool: MFWN90-80-27-5T-R (®80)

Teeth: 5

HAKRA R =&

Product from K brand, Japan

| /Tool

%718 MFWN90-80-27-5T-R

T1K . WNGUO80608N-GM(JP5125/JP5225)
YIEIEEVC: 160m/min

HEAEEFz: 0.13mmy/t

IiRAp: 2.0mm

Y13EAe: 60.0mm

Face milling cutter: MFWN90-80-27-5T-R
Insert: WNGUO80608N-GM(JP5125/JP5225)
Cutting speed(Vc): 160m/min

Feed rate(Fz): 0.13mm/t

Cutting depth(Ap): 2.0mm

Cutting width(Ae): 60.0mm

$£71#: MFWN90-50-22-4T-R

T1 5 : WNMUO80608N-GM(JP5125/JP5225)
YIHIEEVC: 201m/min

B4 EEFz: 0.29mm/t

YiwAp: 0.3mm

1%EAe: 30.0mm

Face milling cutter: MFWN90-50-22-4T-R
Insert: WNMUO80608N-GM(JP5125/JP5225)
Cutting speed(Vc): 201m/min

Feed rate(Fz): 0.29mm/t

Cutting depth(Ap): 0.3mm

Cutting width(Ae): 30.0mm

Kr=45°

1271 R=ZF M SIRNBEEME
PRAEMIZEES0-315mm
NRE#RERFEEE

Kr=45°

12-edge insert,superb combination of
economy and cutting depth Standard
diameter: 50-315mm

More options for inserts[2

LR : 3LA0

AT HT300

Wi TArReERE . HB200

TIE & HNA5-125-40-8T-R

$E71F: HNMX0907ANSN-R ZP5125
PIE5EEVe: 240m/min ( 600r/min )
PH4AEEFz: 0.15mmy/t (V=720mm/min)
YIiRAp: 1.5mm

#EAe: 80mm

BHEAR: KL

Machining Case

Vertical machine

Processed material: HT300

Materal hardness: HB200
Speciafication of mill:
HN45-125-40-8T-R

Insert: HNMX0907ANSN-R ZP5125
Cutting rate(Vc): 240m/min (600r/min)
Feed(Fz): 0.15mm/t (Vf=720mm/min)
Cutting depth(Ap): 1.5mm

Cutting width(Ae): 80mm

Coolant: Water

HN45

Type- HN45 45°Face Mill
HN458445° m %k 7]

WS REmIE TSR IRRE A, RIRR, BUESHEMT
HEEE ., HRERFHREMEEE,

WEMBZIHESMBETNIMERS, J1ERIHEEE7MM,
EHEIMABHESMMERE, AR MM,

BN 127] RIZ A F E 51,

W The dynamic slant design is easy for cutting with low vibration and high
speed. Effectively improved surface roughness of the workpiece.

M Thick insert is remarkable for anti-broken. Thickness of insert edge
is 7 mm, and thinnest part is 5mm, which can be ensured for the maxi
-mum cutting depth as 5mm.

MDouble faces and 12 teeth are more economical and practical.



SN45

Type- SN45 45°Face Mill
SN45%Y 45° kT

Kr=45°
IRAEMEEZ50-200mm
NRE#RERFEER

Kr=45°
Standard diameter: 50-200mm
More options for inserts[zl

S —

228
W i

4
S
3§

TJIE‘E: AN

WmTHE: 4554

Wi T RERE . HB180

TIE M SN45-125-40-10TR

#E71F . SNMX1205ANN-M JP5225
PIE5EEVe: 200m/min (500r/min)
#HL5EEFz: 0.2mm/t (Vi=1000mm/min)
PIRAp: 2mm

Y1EEAe: 50mm

BHANX: KL

Machining Case

Vertical machine

Processed material: 45# steel
Material hardness: HB180
Speciafication of mill:
SN45-125-40-10TR

Insert: SNMX1205ANN-M JP5225
Cutting rate(Vc): 200m/min (500r/min)
Feed(Fz): 0.2mm/t (Vf=1000mm/min)
Cutting depth(Ap): 2mm

Cutting width(Ae): 50mm

Coolant: Water

SN45

Type- SN45 45°Face Mill
SNASEIAS E$ET]

W ASEIZ T SSIMRE . (RIREE, BRUEEEMm I
IR, #{%I}*Eﬁﬁ’ﬁéﬁtﬂt_ﬁ

BEMR G T ESHANMESH, JERKEERE6mmM, &
AT AR SMMERE, A ESmm,

B ESTI RIBHF LT,

B The dynamic slant design is easy for cutting with low vibration and high
speed. Effectively improved surface roughness of the workpiece.

W Thick insert is remarkable for anti-broken. Thickness of insert edge
is 6 mm, and thinnest part is 4.5 mm, which can be ensured for the ma
-ximum cutting depth as 8mm.

MDouble faces and 8 teeth are more economical and practical.

MFXN

Type-MFXN Square Face Milling cutter
MFXNZ! 90° m$t7]

SRS 7] - i

BT T FEMNT EMEMNI A\ iﬁj}ﬂl

A2

=5 TI 4847 HEERF ETF
Specification

Insert screw Wrench Stock

RS
(¢) -
=3

MFXN90- 50-22-4T-R 4 50 22 7.5 M040C130 Q15B A
50-22-5T-R S 50 22 40 7.5 M040C130 Q15B A
63-22-4T-R 4 63 22 40 7.5 M040C130 Q15B A
63-27-6T-R 6 63 27 40 7.5 M040C130 Q15B A
63-27-7T-R 7 63 27 40 7.5 M040C130 Q15B A
80-27-5T-R 5 80 27 50 7.5 M040C130 Q15B A
80-27-7T-R 7 80 27 50 7.5 M040C130 Q15B A
80-27-9TR 9 80 27 50 7.5 M040C130 Q15B A
100-32-6T-R 6 100 32 50 7.5 M040C130 Q15B A
100-32-8T-R 8 100 32 50 7.5 M040C130 Q15B A
100-32-11T-R 11 100 32 50 7.5 M040C130 Q15B A
125-40-7T-R 7 125 40 63 7.5 M040C130 Q15B A
125-40-11T-R 11 125 40 63 7.5 M040C130 Q15B A
125-40-14T-R 14 125 40 63 7.5 M040C130 Q15B A
160-40-12T-R 12 160 40 63 7.5 M040C130 Q15B A
160-40-16T-R 16 160 40 63 7.5 M040C130 Q15B A

i& A Suitable:#E%= 71 /. W& 71 FDEREKOr SECO Insert

M T f# R
Specification r  Composition

79” ‘ % XNEXOBOBOB-GM 12.7 6.45 4.55 0.8 O 0120 A
QP5225 A

i %ﬁ?‘ AEFEi R ORITHEF
Notice: AExceIIent(Instock) A Good (Instock) OOn Request

»< DEREK

BFESN
Double-edged Mil

Aluminum Face Mill

Indexable Mill

IR

SEE

Chamfering Cutter

Friffa
Face Mill

Indexable Fac

SSE
Indl

SoeMMill

AT




MFWN

Type-MFWN Square Face Milling Cutter
MFWNZ! 90° E#tEJ]

HN45

Type- HN45 45°Face Milll
HN45%! 45° HE§ET]

=

BT

AEH0 T

D
D1

>< DEREK

v CEa# L

SE@mMHNLT AMENI DR EHENT

BT

FEAT

D

SF@mmMI @EANT

BS TNH12ET TERIEF ARHT BE S DIk TNR2ET  THEIRF RAETL BEE
Specification S Insert screw  Wrench Coolanthole Weight Specification  Teeth H Insert screw  Wrench  Coolanthole ~ Weight
MFWN90- 50-22-4T 50 15 22 40 8 MO50Y140 T15M J 0.27 HN45- 50-22-4T-R 4 50 18 22 40 M045J120 T15M J 0.45
63-22-4T 63 18 22 40 8 MO50Y140 T15M V 0.42 63-22-6T-R 6 63 18 22 40 M045J120 T15M V 0.60
63-22-5T 63 18 22 40 8 MO50Y140 T15M J 0.42 80-27-6T-R 6 80 20 27 50 M045J120 T15M J 1.23
80-27-5T 80 20 27 50 8 MO50Y140 T15M v 0.99 80-27-8T-R 8 80 20 27 50 M045J120 T15M V 1.22
80-27-7T 80 20 27 50 8 MO50Y140 T15M V 0.99 100-32-8T-R 8 100 45 32 50 M045J120 T15M J 1.80
100-32-7T 100 45 32 50 8 MO50Y140 T15M v 1.49 100-32-10T-R 10 100 45 32 50 M045J120 T15M V 1.75
100-32-9T 100 45 32 50 8 MO50Y140 T15M J 1.48 125-40-8T-R 8 125 55 40 63 M045J120 T15M J 3.37
3%%“ 125-40-8T 125 55 40 63 8 MO50Y140 T15M v 2.73 125-40-10T-R 10 125 55 40 63 M045J120 T15M V 3.29 5%%;
e 160-40-10T 160 56 40F 63 8 MO50Y140 T15M - 3.80 160-40-8T-R 8 160 56 40F 63 M045J120 T15M - 5.00 @ig
ﬁg 200-60-12T 200 133.5 60 63 8 MO50Y140 T15M 5.32 160-40-12T-R 12 160 56 40F 63 M045J120 T15M 4.97 ﬁé
250-60-14T 250 133.5 60 63 8 MO50Y140 T15M 9.01 200-60-12T-R 12 200 133.5 60 63 MO045J120 T15M 5.89
i& A Suitable: #8352 71 iy DEREK Insert 250-60-14T-R 14 250 133.5 60 63 M045J120 T15M 9.49
g1 315-60-16T-R 16 315 133.5 60 80 M045J120 T15M 21.0 g1z
A > 45 \ﬁ
il Be TR # R & F Suitable: &3 71y DEREK Insert il
e Specification A S Composition (1
N TR#R ER B
JP5125 A Composition  Stock
e A I
jid wnGososoen-GM 14.04 8.25 7.7 0.8 O 0220 e - 5
a2 o R ZP5125 A s
7] 5 JC1135 HNMX0907ANSN-R  16.5 7.14 4.9 7]
\’K JC3115 A /P5225 A P g
82 = A BERETR A=K OFITEEF . e 8l
%i% Notice: A Excellent(lnstock) AGood (Instock) OOn Request f\lIo'tice :Exceﬁeﬁ(lnstock) ﬁ(;ioi:(rl(-lﬁus?;ck) Sﬁgia&"g; %g
E E
jik %3
£ s
e E
Bta #ta
7] 7]

>< DEREK




Double-edged Mill

FIHSX

He S SRR
Aluminum Face Mill

Indexable Mi,

SRR

B

Y%

SE:)

Chamfering Cut

SERHa

Indexable Face Mil,

SIS
Slot Mill

SN45

Type- SN45 45°Face Mill
SN45%! 45° T

SlNles] ©

R\ BT T FEmHT  EfANT

D

S % TIH2ET  THEHREF  RATL BE

=
Specification Insert screw  Wrench  Coolant hole Weight

SN45- 50-22-4T-R 4 50 22 40 M040C100 T15M v 0.40
50-22-6T-R 6 50 22 40 M040C100 T15M v 0.40
63-22-6T-R/L 6 63 22 40 M040C100 T15M v 0.60
63-22-8T-R 8 63 22 40 M040C100 T15M v 0.60
80-27-7T-R/L 7 80 27 50 M040C100 T15M v 1.20
80-27-10T-R 10 80 27 50 M040C100 T15M v 1.20
100-32-8T-R/L 8 100 32 50 M040C100 T15M v 1.80
100-32-12T-R 12 100 32 50 M040C100 T15M v 1.70
125-40-10T-R/L 10 125 40 63 M040C100 T15M v 3.30
125-40-16T-R 16 125 40 63 M040C100 T15M v 3.30
160-40-12T-R/L 12 160 40F 63 M040C100 T15M : 4.60
160-40-20T-R 20 160 40F 63 M040C100 T15M ° 4.70
200-60-14T-R 14 200 60 63 M040C100 T15M : 5.90
200-60-24T-R 24 200 60 63 M040C100 T15M ° 6.00

i& A Suitable: &35 71 /i DEREK Insert

I s TNR#MER ER
g Specification A S di1 Composition Stock

o & snmxizosaNN-M 129 2,12 6.98 7.98  JP5225 A PR
A S
= A EBER A%EFEiT R ORRITHREF
Notice: A Excellent (Instock) AGood (Instock) OO0n Request

>< DEREK




ASR/EMR

ASR Screw-on Cutter For High-feed Milling
ASR it ZF 3K K i3t 25 i $% 70 %

TRS/RCF

TRS Screw-on Milling Cutter
TRS i ZF X i gt 71 =k

HAEEEO

HMIT FEMNI SMEMNI HENI #DE SENT

T 24T
Insert screw

H9EHEE

T FEHNI AMEMNI e ZENT

) ©

RS 1%

Teeth

JIFES
Insert

ERIRF
Wrench

Ek )= 77 %

Teet

JIFES
Insert

T 12T
Insert screw

ERIRF B=S
Wrench  Weight

ER  EREEET
Clamp Screw

Specification

Specification

ASR- :ng 2 16 M8 25 M8  EPNWOGO3TN8  MO25WO60 Q08 0.05 TRS- 4R16-M8-2T 2 16 85 25 M8 RDMT0802 MO30YO70-1 YS-34 MO30YO70-1 Q08  0.05
20'M1;) o 2 17 M8 25 M8  EPNWO6O3TN-8  MO25W060 Q08 0.05 4R17-M82T 2 17 85 25 M8 RDMTO802 MO30Y070-1 YS34 MO30Y070-1 Q08 0.05
o] 2 20 M0 30  MIO  EPNWOGO3TN-8  MO25W060 Q08 0.09 4R20-M10-2T 2 20 10.5 30 MI1O RDMTO802 MO30Y070-1 VYS-34 MO30Y070-1 Q08 0.09
25'M12'3T 2 21 MIO 30 MIO  EPNWOGO3TN-8  MO25WO60 Q08 0.09 4R21-M10-2T 2 21 105 30 MIO RDMTO802 MO30Y070-1 YS-34 MO30Y070-1 Q08 0.09
or— 3 25 Mz 35  MI2  EPNWOGO3TN-8  MO25W060 Q08 0.14 5R25-M12-2T 2 25 125 35 M12 RDMTI10T3 MO4OR080-2 VYS-43 MO040S100-1 Q15 0.14
: et 3 26 Mz 35 Mi2 _ EPNWOOO3TRE  MO25WO60 g 005 5R26-M12-2T 2 26 125 35 M12 RDMTI0T3 MO4ORO80-2 YS43 MO040S1001 Q15  0.14
i& A Suitable:f@% 71/~ Hiz71/ DEREK Or HITACHI Insert 5R30-M12-2T 2 30 12.5 35 MI12 RDMT10T3 MO4OR080-2 YS-43 M040S100-1 015 0.14
. 5R35-M16-3T 3 35 17 43 M16 RDMTIOT3 MO40R090 YS-43 MO040S100-1 Q15 0.25 ’
x i& i Suitable:f@3E 71+ =% 71 DEREK Or MITSUBISHI Insert %
iz %2
#° | EMR Screw-on Milling Cutter s
N U4 > Al N .
EMR i 2F =X o % 77 % RCF Screw-on Ball-nose Cutter For Roughing
s RCF i ZF X Bk iz d #H J7 =L m
| | n@E |-
HMT  FEMT SHMEMT  #DE SENT TR
g% 77@ Y o *Hf]ﬂi BRI N\ g%
& o [ e
7] = D = ° [ ] *7%
\’K () =) =
B2 K —L s
s o
bl 71§
: - L ’
g Bs T NNRES  TIH12%T ER ERIEET BEERERF B= ;,f
fis Specification Teeth D Insert Insert screw Clamp Screw Wrench  Weight — — Sp A 1 4T ” - il
% EMR- 4R16-M82T 2 16 85 25 M8 RPMWOS02 MO030Y070-1 YS-34 MO30Y070-1 Q08 0.05 Sosaer foeth D sart” Insert sorew ﬁﬁéﬁ%ﬁ W%ﬁ]t %
4R17-M8-2T 2 17 85 25 M8 RPMWO0S02 MO30Y070-1 YS34 MO30Y070-1 Q08 0.05 JCEWI00CE  MO30D075
) 4R20-M10-2T 2 20 105 30 M10 RPMWOS02 MO30Y070-1 YS34 MO30Y070-1 Q08 0.09 RCF- 20-10R-M10-2T 220 105 40 MO St o0l O30009s Q08B 0.09 )
e 4R21-M10-2T 2 21 105 30 M1O RPMWOS02 MO30Y070-1 YS34 MO30Y070-1 Q08 0.09 JOEW1250E  MO40DOB0.3 b
7 5R25-M12-2T 2 25 12.5 35 MI12 RPMW1003 MO40SO80-1 YS43 M040S100-1 015 0.14 25-125R-M122T 2 25 125 40 M2 Do oo o ooog  QLoB 0.14 7
5R26-M12-2T 2 26 125 35 M12 RPMWI003 MO40S080-1 YS43 MO40S100-1 Q15 0.14 EF SutableB= T F . B2 7] F DEREK Or HITACH! insert
5R30-M12-2T 2 30 125 35 M12 RPMWI003 MO040S100-1 YS43 MO040S120 Q15 0.14
5R35-M16-3T 3 35 17 43 M16 RPMWI003 MO40S100-1 YS43 MO40S120 015 0.25

i& A Suitable:#&% 71 5. =% 715 DEREK Or MITSUBISHI Insert

>< DEREK >< DEREK




BF/300R/400R

BF Screw-on Ball-nose Cutter For Finishing
BF i ZF Bk 2 15 858 70 3k

=@

BT BT

s TE TIRES J1 R 25T ERIRF BE=E
Specification Teeth D Insert Insert screw Wrench Weight

BF- 6R-M6-1T 1 12 65 22 M6  P3200-D12 MO50W090-6R Q20 0.03
8R-M8-1T 1 16 85 28 M8 P3202D16 MO50W130-8R Q20 0.05
10R-M10-1T 1 20 105 30 M10 P3201-D20 MO50W170-10R Q20 0.09
12.5R-M12-1T 1 25 125 40 M12 P3202-D25 MO60W210-12.5R T30M 0.14

i& F Suitable: == 71 K+ E/R4E 71 B DEREK Or WALTER Insert

300R/400R Screw-on Milling Cutter
300R/400R %t 7 i fum$t 71 k&

Double-edged Mil

FIHSM

B4 EAP

BT AL FEMNI FEMNI EMEMI DK WEHnT

‘ .

Aluminum Face Mill

He S SRR

Indexable Mi,

SRR

B

U Er/é

B
Wk
: BS TI# TRES TI R H24T HERARF B5E
Specification  Teeth Insert Insert screw Wrench Weight
g 300R- 16-M8-2T 2 16 8.5 25 M8 APMT1135 M025W060 Q08 0.05
fir 17-M8-2T 2 17 85 25 M8  APMT1135  M025W060 Q08 0.05
?@ 20-mM10-2T 2 20 10.5 30 M10 APMT1135 M025W060 Q08 0.09
Z 21-M10-2T 2 21 10.5 30 M10 APMT1135 M025W060 Q08 0.09
25-M12-3T 3 25 12.5 35 M12 APMT1135 M025W060 Q08 0.14
g%i 26-M12-3T 3 26 12.5 35 M12 APMT1135 M025W060 Q08 0.14
7] 400R- 25-M12-2T 2 25 125 35 M12 APMT1604 M040S080-1 Q15 0.14
26-M12-2T 2 26 12.5 35 M12 APMT1604 M040S080-1 Q15 0.14
30-M12-2T 2 30 125 35 M12 APMT1604 M040S100-1 Q15 0.16
35-M16-3T 3 85 17 43 M16 APMT1604 M040S100-1 Q15 0.24

i& A Suitable:#&5= 71+ =% 71 /& DEREK Or MITSUBISHI Insert

>< DEREK

AJU

AJU Screw-on Cutter For Drilling Milling
AJU i ZF 3K it FroD gh 5570 3%

AS
Specification
AJU- 16-M8-2T 2 16 85 28 M8
20-M10-2T 2 20 105 32 M10
25-M12-2T 2 25 125 38 M12
32-M16-2T 2 32 17 42 M16

HEAPO

AT

MEMT T WENT  2ENT

TIHES
Insert

CCMT060204
CPMT080204Z

CCMT060204
CPMT090204Z

CPMT090308
CPMT1203087

CPMT120408
CPMT160408Z

O
\ [ ] -
L] 4]
©
L
TIR2$T  HERERF BE
Insert screw  Wrench  Weight
M025W060 Q08B 0.05
M025W060 Q08B 0.09
MO35R080-1 Q15B '
MO040R080-2 Q15B 0.14
MO050Y110-4 Q20B 0.23

i& A Suitable:#&5 71 /. B3z 71/ DEREK Or HITACHI Insert

>< DEREK

Double-edged Mill

FEYX

Aluminum Face Mill

N S SESE A

Indexable Mill

FI R

SBE

Chamfering Cutter

=
[y
Face Mil

Indexable Fac

SSE
Indl

Sh
Slot Mill




DS DS

DS Solid Carbide Holder Screwed-on Milling Cutter VS Standard Milling Cutter
DS #n#R$t 7] L AT $BENPLE TIFFFO SN I TR T BE PE B

/Cutting Condition

WERTE: WHl J1#F300R-C20-20-160-2T M Cutter: 300R-C20-20-160-2T ---------------------- A
L ‘ FBRAEFFDS-C19-M10-150+300R-20-M10-2T DS-C19-M10-150+300R-20-M10-2T -------- B
WM R 554 W Work piece: 55#
o= O - Wi#EF: 201HB W Hardness: 201HB
RiERE RS TR Ap=0.3mm

1% Ae=12mm

zi‘ggi Jeomn_YeslSiming BHFR: TR
=iiei®  Nel2/omin N=2,39min_ fERBUR: ST Al
e =2 HAERE F=2,000mm/min  F=4,800mm/min B, L=190mm
Specification d L M dl Weight FEHE f=1.6mm/rev f=2.0mm/rev 653
DS- C12-M6-100 12 100 M6 6.5 0.14
C12-M6-150 12 150 M6 6.5 0.21 "
C12-M6-200 12 200 M6 6.5 0.29 ggnlgf@
C15-M8-100 15 100 M8 8.5 0.23 S
C15-M8-150 15 150 M8 8.5 0.35 - - o e #% 774F: 300RC20-20-160-2T(O A X)
C15-M8-200 15 200 M8 8.5 0.46 '
C15.6-M8-150 15.6 150 M8 85 0.38 1[& A e~ X ® ® ° FB3EREAF: DS-C19-M10-150+300R-20-M10-2T (@ 4 X)
C15.6-M8-200 15.6 200 M8 8.5 0.51 08[A& X elA A ex e a O® TiRE AA RN X WA
C15.6-M8-250 15.6 250 M8 8.5 0.60 06~ A~ ~alx X < Free Vibration Light Vibration Large Vibration
=h53Z27t8 = n4==
R C16-M8-100 16 100 W 85 0.26 60 80 100 120 150 180 tHfSpeec(mimin) I TR 3! Rz
«;ﬁj C16-M8-150 16 150 M8 8.5 0.39 ﬁi‘
L C16-M8-200 16 200 M8 8.5 0.51 ae
C16-M8-250 16 250 M8 8.5 0.65
=
C16-M8-300 16 300 M8 8.5 0.79 nglt'ét’i[ﬂfgﬂRje]sistance Force {RiEZM ( Ve=80m/min ) Bi#EEH (Ve=150m/min )
g C19-M10-150 19 150 M10 10.5 0.54 2
%;E C19-M10-200 19 200 M10 10.5 0.72 %5%
72 C19-M10-250 19 250 M10 10.5 0.91 73
S C20-M10-100 20 100 M10 10.5 0.42 -
2 C20-M10-150 20 150 M10 10.5 0.60 . E— I — i
il C20-M10-200 20 200 M10 10.5 0.82 jid|
% C20-M10-250 20 250 M10 10.5 1.00 %
\’K €20-M10-300 20 300 M10 10.5 1.22 L)
» C24-M12-150 24 150 M12 125 0.81 o
T C24-M12-200 24 200 M12 12.5 1.08 o
7 C24-M12-250 24 250 M12 12.5 1.35 g 7
“ C24-M12-300 24 300 M12 12.5 1.62 Tool Life EfnEfE ( VBMAX 0.2MMEL L ) TR ARAR °©
C25-M12-150 25 150 M12 12.5 0.94 i 1 1 - A
b , ‘ ‘ : 5 S A Lk
5 C25-M12-200 25 200 M12 125 1.25 Siflleswn 2% et it
2 C25-M12-250 25 250 M12 12.5 1.55 | | | ]
7 C25-M12-300 25 300 M12 12.5 1.83 s : : : : 7
C32-M16-150 32 150 M16 17 1.43 5k I, =5 B
e C32-M16-200 32 200 M16 17 1.90 — 525m(1004y6k) E
i C32-M16-250 32 250 M16 17 238 PIMIRE (m) iy A o
C32-M16-300 32 300 M16 17 2.81 Ve M0 E0am
C32-M16-350 32 350 M16 17 3.28
C32-M16-400 32 400 M16 17 3.75 | IRzR NAEGKIERE (T B ETHI TR ]
N nN— Result: Compared to stardard milling cutter,screwed-on milling cutter with solid carbide holder enjoys a much longer
N d= tool life and lighter vibration.

See next page

>< DEREK 53 DEREK




AJX

AJX High Feed Indexable Milling Tool
AX K48 31$%T]

HMAEEEE

SKS

SKS High Feed Indexable Milling Tool
SKS Ki#H28 %% T]

HAEERETE

/

SEE

Indexable Face Mil, Chamfering Cutte

SERHa

Slot Mill

AT

AT

SE@MNT AM@EMNT AT

HE\GIHT

ZHMmT

L1

>< DEREK

s Nk TNREBET ER EWREBET ERIRF E=

Specification Insertscrew Clamp Clamp Screw Wrench Weight

AJX- C20-20-130-2T 2 20 20 1.5 50 130 JOMTO80320 MO0O30Y070-2 QIOR 0.29

C20-20-180-2T 2 20 20 1.5 100 180 JOMT080320 MO30Y070-2 QI0R 0.40

C20-22-130-2T 2 22 20 1.5 30 130 JOMT080320 MO30Y070-2 QIOR 0.30

C20-22-180-2T 2 22 20 1.5 30 180 JOMT080320 MO030Y070-2 - - QIOR 0.40

C25-25-140-2T 2 25 25 2 60 140 JDMW09T320 MO035T085 YD-13 MO040S100-1 Q15B 0.47

C25-25-200-2T 2 25 25 2 120 200 JDMWO9T320 MO35T085 YD-13 MO040S100-1 Q15B 0.69

C25-28-140-2T 2 28 25 2 40 140 JDMW09T320 MO035T085 YD-13 MO040S100-1 Q15B 0.49

;‘% C25-28-200-2T 2 28 25 2 40 200 JDMW09T320 MO035T085 YD-13 MO040S100-1 Q15B 0.72

%ﬁz C32-32-160-2T 2 32 32 2 70 160 JDMW120420 MO40R100-2 YD-13 M040S120 Q15B 0.90

& C32-32-200-2T 2 32 32 2 120 200 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 1.13

C32-32-250-2T 2 32 32 2 130 250 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 1.45

1= C32-35-160-2T 2 35 32 2 70 160 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 0.92

i; C32-35-200-2T 2 35 32 2 70 200 JDMW120420 MO0O40R100-2 YD-13 MO040S120 Ql15B 1.17

%%Eé C32-35-250-2T 2 35 32 2 70 250 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 1.48

* C32-40-200-3T 2 40 32 2 70 200 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 1.20

o C32-40-250-3T 3 40 32 2 70 250 JDMW120420 MO40R100-2 YD-13 MO040S120 Q15B 1.50

ﬁz C32-40-300-3T 3 40 32 2 70 300 JDMW120420 MO40R100-2 YD-13 M040S120 Q15B 1.80
i i& A Suitable:f&5% 71 5. =% 71 /5 DEREK Or MITSUBISHI Insert

A2

7T] %

S

TRES

AT

SE@mMI EM@EMNI 5T

FE\DIHT

ZHMT

] °

2\

]

L1

LT 3

[EiR  EWRERST BT EE

Specification Teeth D d a Li L Insert Insert screw Clamp Clamp Screw Wrench Weight
SKS- C20-20-130-2T 2 20 201.25 50 130 WDMWO050316 MO030Y070-2 QIOR 0.28
C20-20-180-2T 2 20 201.25100180 WDMWO050316 MO0O30Y070-2 QI10R 0.39
C20-21-130-2T 2 21 201.25 50 130 WDMWO050316 MO030Y070-2 QI0R 0.29
C20-21-180-2T 2 21 201.25 50 180 WDMWO050316 MO030Y070-2 - - Q10R 0.41
C25-25-140-2T 2 2525 1.5 60 140 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.46
C25-25-200-2T 2 2525 15 70 200 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.69
C25-26-140-2T 2 26 25 15 60 140 WDMWO6T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.47
C25-26-200-2T 2 26 25 1.5 60 200 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.71 %E
C32-30-160-2T 2 30 32 1.5 70 160 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.80 %’f:
C32-30-200-2T 2 30 32 1.5 70 200 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 1.05 i
C32-32-160-3T 3 32 3215 70 160 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.89
C32-32-200-3T 3 32 32 1.5 70 200 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 1.16 s
C32-33-160-3T 3 333215 70 160 WDMWO0O6T320 MO40R080-2 YD-13 MO040S100-1 Q15B 0.89 i;
C32-33-200-3T 3 33 32 1.5 70 200 WDMWO06T320 MO40R080-2 YD-13 MO040S100-1 Q15B 1.16 %;
C32-32-160-2T 2 3232 2 70 160 WDMWO080520 MO045Y110 YD-16 MO045Y110 Q20B 0.89 *
C32-32-200-2T 2 32 32 2 120200 WDMW080520 MO045Y110 YD-16 MO045Y110 Q20B 1.15 e
C32-33-160-2T 2 33 32 2 50 160 WDMWO080520 MO045Y110 YD-16 MO045Y110 Q20B 0.84 fi
C32-33-200-2T 2 33 32 2 50 200 WDMWO80520 MO045Y110 YD-16 MO45Y110 Q20B 1.15 %
C32-40-200-3T 3 40 32 2 50 200 WDMWO080520 MO045Y110 YD-16 MO045Y110 Q20B 1.24 #
C32-40-250-3T 3 40 32 2 50 250 WDMWO080520 MO045Y110 YD-16 MO0O45Y110 Q20B 1.55 e
iE A Suitable: @ 71 /. 7]/ DEREK Or DIJET Insert %
51
fiL g
7]
LE
%ie
7]

>< DEREK




ASR

ASR High-feed Milling Cutter
ASR K #2555 7]

HAEREO

AHU

AHU Shoulder Milling Cutter
BRAB®T]

T

SFEMNT EMEMT BENT e 2RI

e

Specification

L1

H4IEOP

BT #HmI  F@EHT $E7]|JI EMEMNI AT

iy

L2

Insert

71 4247 Hﬁﬁ;?ﬁ%

Insert screw

E3—

Wrench Weight

S TN TRES TIH2ET  ERERF B=
Specification Teeth D Insert Insert screw  Wrench  Weight
ASR- C16-16-120-2T 2 16 16 40 120 EPNW0O603TN-8 M025W060 Q08B 0.17
C16-16-160-2T 2 16 16 50 160 EPNWO603TN-8 M025W060 Q08B 0.23
C16-17-160-2T 2 17 16 27 160 EPNWO603TN-8  M025W060 Q08B 0.23
C20-20-160-2T 2 20 20 50 160 EPNW0O603TN-8 M025W060 Q08B 0.36
C20-21-160-2T 2 21 20 27 160 EPNW0O603TN-8 M025W060 Q08B 0.37
C25-25-160-3T 3 25 25 60 160 EPNWO603TN-8  M025W060 Q08B 0.59
C25-25-200-3T 3 25 25 70 200 EPNW0O603TN-8 M025W060 Q08B 0.72
5%% C25-26-160-3T 3 26 25 50 160 EPNWO603TN-8 M025W060 Q08B 0.73
%ﬁg C32-32-160-4T 4 32 32 70 160 EPNWO603TN-8 M025W060 Q08B 0.88
& C32-32-200-4T 4 32 32 115 200 EPNWO603TN-8 M025W060 Q08B 1.17
C32-33-160-4T 4 33 32 60 160 EPNW0O603TN-8 M025W060 Q08B 0.94
g1z C32-33-200-4T 4 33 32 70 200 EPNW0O603TN-8 M025W060 Q08B 1.19
?;; C32-35-200-4T 4 35 32 50 200 EPNWO603TN-8 M025W060 Q08B 1.21
7t i& A Suitable:#@3% 71 5. Hiz 71k DEREK Or HITACHI Insert
E / Feature
g@é WA EMSET] ‘ .
7] BAREEBRX TN EEENE, WENHASFAZENEARMEGHBEX, BTHl. HEEIERERT,

MExcellent for high-feed cutting.

/

B

Good design for chip breaking and removing

SE:)

Indexable Face Mil, Chamfering Cutte

SSERHa

Slot Mill

AT

»< DEREK

HMincreasing per teeth feedrate will improve the tool life of insert without regarding to the defect influence of its tool life.

AHU- C12-12-130-1T 1 A 12 12 25 130 JDMT100308 MO025W050 Q08B 0.11
C12-13-130-1T 1 A 13 12 25 - 130 JDMT100308 MO025W050 Q08B 0.11
C16-16-120-2T 2 B 16 16 40 100 120 JDMT100308 MO025W050 QO8B 0.17
C16-16-160-2T 2 B 16 16 50 115 160 JDMT100308 MO025W050 Q08B 0.21
C16-16-200-2T 2 B 16 16 60 100 200 JDMT100308 MO025W050 Q08B 0.29
C20-20-120-2T 2 A 20 20 50 120 JDMT100308 MO025W060 QO8B 0.26
C20-20-160-2T 2 A 20 20 60 - 160 JDMT100308 MO025W060 Q08B 0.36
C20-20-200-2T 2 B 20 20 70 100 200 JDMT100308 MO025W060 QO8B 0.46
C25-25-160-2T 2 A 25 25 70 - 160 JDMT150508 MO040S080-1 Q15B 0.54
C25-25-200-2T 2 B 25 25 70 100 200 JDMT150508 MO040S080-1 Q15B 0.68
C25-25-250-2T 2 B 25 25 80 115 250 JDMT150508 MO040S080-1 Q15B 0.88
C32-32-160-2T 2 A 32 32 48 - 160 JDMT150508 MO040S080-1 Q15B 0.96
C32-32-200-2T 2 B 32 32 48 100 200 JDMT150508 MO040S080-1 Q15B 1.17
C32-35-160-2T 2 A 35 32 60 160 JDMT150508 MO040S080-1 Q15B 0.82
C32-35-160-3T 3 A 35 32 60 160 JDMT150508 MO040S080-1 Q15B 0.93
C32-35-200-3T 3 A 35 32 60 200 JDMT150508 MO040S080-1 Q15B 1.18
C32-35-250-3T 3 A 35 32 60 250 JDMT150508 MO040S080-1 Q15B 1.50
C32-35-300-3T 3 A 35 32 60 300 JDMT150508 M040S080-1 Q15B 1.81

i& A Suitable: B3z 71 i HITACHI Insert
n-—
ETR =

See next page

>< DEREK

Double-edged Mill

FAEYX

e S SE RS
Aluminum Face Mill

Indexable Mil

F SR

SBE

Chamfering Cutter

S
Slot Mill




AHU

AHU Shoulder Milling Cutter
AHU iFRaRH%7

B4 EAP

BT NI FEHNT I@JDI SMEMNLT D MEHT

EMR Indexable End Mill
EMR & 5 im$t 7]

HHEEE

NI FENT EMEMNT AN 2ET

B

/

SE:)

Chamfering Cutt

Indexable Face Mil,

S E R

4% 758 2 Special Size

L1

L2

e

TIE

B

THRES

THEET  ERRTF

£

=

Specification

7E BR
Teeth Fig D DS d L1 L2 L

eyil

Tk

Insert

F ©

TI R 4247

A

[EMR ERAEET R F B8

Insert screw Clamp Clamp Screw Wrench Weight

Specification Teeth Fig D d a Insert Insertscrew  Wrench Weight
AHU- C15-16-160-2T 2 A 16 15 9 40 160 JDMT100308 M025W050 Q08B 0.20
C15-16-200-2T 2 A 16 15 9 40 200 JDMT100308 MO025W050 Q08B 0.26
C16-17-160-2T 2 A 17 16 9 50 160 JDMT100308 MO025W050 Q08B 0.23
C16-17-200-2T 2 A 17 16 9 50 200 JDMT100308 M025W050 Q08B 0.30
C19-20-160-2T 2 A 20 19 9 50 160 JDMT100308 MO025W060 Q08B 0.31
5 C19-20-200-2T 2 A 20 19 9 50 200 JDMT100308 MO025W060 Q08B 0.42
3;]5 C20-21-160-2T 2 A 21 20 9 50 160 JDMT100308 MO025W060 Q08B 0.37
é}si C20-21-200-2T 2 A 21 20 9 50 200 JDMT100308 M025W060 Q08B 0.47
C24-25-160-2T 2 A 25 24 14 50 160 JDMT150508 M040S080-1 Q15B 0.48
C24-25-200-2T 2 A 25 24 14 50 200 JDMT150508 MO040S080-1 Q15B 0.66
%“f C24-25-250-2T 2 A 25 24 14 50 250 JDMT150508 M040S080-1 Q15B 0.88
%EE C25-26-160-2T 2 A 26 25 14 50 160 JDMT150508 M040S080-1 Q15B 0.56
ﬁ"‘ C25-26-200-2T 2 A 26 25 14 50 200 JDMT150508 MO040S080-1 Q15B 0.71
C25-26-250-2T 2 A 26 25 14 50 250 JDMT150508 MO040S080-1 Q15B 0.90
gr; i& A Suitable: B3z 71 /i HITACHI Insert
%%LE

Slot Mill

AT

>< DEREK

EMR- C12-4R12-130-1T 1 A 12 4 12 30 - 130 RPMW0802 MO030Y060 - Q08B 0.11
C16-4R16-160-2T 2 A 16 8 16 40 - 160 RPMWO0802 MO30Y070-1 YS-34 M030Y070-1 Q08B 0.23
C16-4R16-200-2T 2 B 16 8 16 40100 200 RPMW0802 MO030Y070-1 YS-34 M030Y070-1 Q08B 0.23
C20-4R20-160-2T 2 A 201220 60 - 160 RPMWO0802 MO30Y070-1 YS-34 MO30Y070-1 Q08B 0.36
C20-4R20-200-2T 2 B 20 1220 70100 200 RPMWO0802 MO030Y070-1 YS-34 M0O30Y070-1 Q08B 0.44
C20-5R20-160-2T 2 A 201020 60 - 160 RPMWIOO3 MO040S080-1 YS-39 MO035T085 Q15B 0.35
C20-5R20-200-2T 2 B 201020 70100 200 RPMW1003 MO040S080-1 YS-39 MO035T085 Q15B 0.45
C20-5R25-160-2T 2 A 251520 40 - 160 RPMWIOO03 MO040S080-1 YS-43 M040S100-1 Q15B 0.36
C20-5R25-200-2T 2 A 251520 40 - 200 RPMWIOO03 MO040S080-1 YS-43 M040S100-1 Q15B 0.56
C25-5R25-160-2T 2 A 251525 60 - 160 RPMWIOO03 M040S080-1 YS-43 M040S100-1 Q15B 0.54 ;‘E
C25-5R25-200-2T 2 B 251525 70100 200 RPMW1003 MO040S080-1 YS-43 M040S100-1 Q15B 0.70 %‘EE
C25-5R25-250-2T 2 B 251525 80115 250 RPMW1003 MO040S080-1 YS-43 M040S100-1 Q15B 0.86 &
C3'/4-5R30-110-2T 2 A 30 203/4 30 110 RPMWI1003 M040S100-1 YS-43 MO040S120 Q15B 0.28
C20-5R30-110-2T 2 A 302020 30 - 110 RPMWIOO03 MO040S100-1 YS-43 MO040S120 Q15B 0.27 ~
C25-5R30-160-2T 2 A 302025 35 - 160 RPMWIOO03 MO040S100-1 YS-43 MO040S120 Q15B 0.57 ?}’i
C25-5R30-200-2T 2 A 302025 35 - 200 RPMWIOO3 MO040S100-1 YS-43 MO040S120 Q15B 0.75 ;Et
C25-5R30-250-2T 2 A 302025 35 - 250 RPMWIOO03 MO040S100-1 YS-43 MO040S120 Q15B 0.92 T
C25-5R30-300-2T 2 A 302025 35 - 300 RPMWIOO03 MO040S100-1 YS-43 M040S120 Q15B 1.11 )
C32-5R35-160-3T 3 A 352532 48 - 160 RPMWIO03 M040S100-1 YS-43 M040S120 Q15B 0.91 e
C32-5R35-200-3T 3 A 352532 48 - 200 RPMWIOO03 MO040S100-1 YS-43 MO040S120 Q15B 1.17 ﬁ;
C32-5R35-250-3T 3 A 352532 48 - 250 RPMWI1003 M040S100-1 YS-43 MO0O40S120 Q15B 1.49 5%
C32-5R35-300-3T 3 A 352532 48 - 300 RPMWIOO03 MO040S100-1 YS-43 MO040S120 Q15B 1.79 #
C32-5R35-350-3T 3 A 352532 48 - 350 RPMWIO03 MO040S100-1 YS-43 MO040S120 Q15B 2.11
C32-6R32-160-2T 2 A 322032 48 - 160 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 0.89 %%
C32-6R32-200-2T 2 A 322032 48 - 200 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.16 77
C32-6R32-250-2T 2 A 322032 48 - 250 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.46 p
C32-6R40-160-3T 3 A 40 2832 48 - 160 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 0.93 -
C32-6R40-200-3T 3 A 40 2832 48 - 200 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.20 e
C32-6R40-250-3T 3 A 40 2832 48 - 250 RPMT1204 MO040S100-1 YS-43 MO040S120 QI5B 1.51 %"
C32-6R40-300-3T 3 A 40 2832 48 - 300 RPMT1204 MO040S100-1 YS-43 MO040S120 QI15B 1.81 %
C32-6R50-160-4T 4 A 503832 48 - 160 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.03
C32-6R50-200-4T 4 A 50 3832 48 - 200 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.29 s
C32-6R50-250-4T 4 A 50 38 32 48 250 RPMT1204 MO040S100-1 YS-43 MO040S120 Q15B 1.59 3

i& A Suitable: &= J1 . =% J1 K DEREK Or MITSUBISHI Insert 7
n=—
TR <=

See next page

>< DEREK




EMR EMRT

EMR Indexable End Mill EMRT Indexable End Mill
EMR & 5 im$t 7] EMRT &5 in$t 7]

A4EETE 9B EE

ENT  FENT SHENT AN BENT T  FENI SMEMNI A\ Z2ENT

-

oy g EEEE ey Tt

S N ExR Tk TIHE2ET  [EiR EREEET ERIRTF B8

Specification Teeth Fig DDS d L1 L2 L Insert  Insert screw Clamp Clamp Screw Wrench Weight

%A S Special Size

—
>

EMRT- C12-4R12-130-1T 12 4 12 30 - 130 RPMTO8T2 MO30Y060 Q08B 0.10

16 8 16 40 - 160 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.23

RS N BT T TIREET  ERR EARIEST MERIET C16-4R16-1602T 2 A
Specification Teeth Fig D DS Insert screw Clamp  Clamp Screw Wrench C16-4R16-2002T 2 B 16 8 16 40100 200 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.29
EMR- C15-4R16-160-2T 2 A 16 8 15 40 160 RPMW0802 MO030Y070-1 YS-34 M030Y070-1 Q08B  0.20 C20-4R20-160-2T 2 A 201220 60 - 160 RPMTO8T2 MO030YD70-1 YS-34 MO30Y070-1 Q08B 0.32
C15-4R16-200-2T 2 A 16 8 15 40 200 RPMWO802 MO030Y070-1 YS-34 MO30Y070-1 Q08B  0.25 C20-4R20-200-2T 2 B 201220 70100 200 RPMTO8T2 MO30Y070-1 YS-34 MO30Y070-1 QO8B 0.45
C16-4R17-160-2T 2 A 17 9 16 40 160 RPMWO0802 MO30Y070-1 YS-34 MO30Y070-1 Q08B  0.23 C20-5R20-160-2T 2 A 201020 60 - 160 RPMTIOT3 M040S080-1 YS-39 MO35T085 QI5B 0.34
C16-4R17-200-2T 2 A 17 9 16 40 200 RPMWO0802 MO30Y070-1 YS-34 MO30Y070-1 Q08B  0.29 C20-5R20-200-2T 2 B 201020 70100 200 RPMT10T3 M040S080-1 YS-39 MO35T085 Q15B 0.44
C19-4R20-160-2T 2 A 20 1219 60 160 RPMWOS02 MO030Y070-1 YS-34 M030Y070-1 Q08B  0.32 CEOGRSen Al 2 A 20 0 20 G0 JO0 GEHUTIONS LIARRISIL Ues DS 000 Qe 0540
% C19-4R20-200-2T 2 A 20 1219 70 200 RPMWOS02 MO30Y070-1 YS-34 M030Y070-1 Q08B  0.41 C20-5R25-200-2T 2 A 251520 40 - 200 RPMTLOTS MO40S080-1 vS43 M040S1001 Q158 0.47 5%
5 C204R21-160-2T 2 A 21 1320 60 160 RPMWOS02 MO40SO80-1 YS-39 MO35T085 Q158  0.36 C25-5R25-160-21 2 A 2515:25°60" - "1607RPMTLOTS MOS0S0S0-L¥5-43 MOOSLO0LTGIS870.54 ) 52
i C204R212002T 2 A 21 1320 70 200 RPMWOB02 MO40SOB0-L YS-39 MO35T085 O15B  0.45 C25-5R25-200-2T 2 B 251525 70100 200 RPMT10T3 MO040S080-1 YS-43 M040S100-1 Q15B 0.70 3
CH0SR211802T 2 A 21 1120 60 160 RPMWI003 MO40SOSOL YS-43 MOA0SI00L QISB  0.38 C25-5R25-250-2T 2 B 251525 80115 250 RPMT10T3 MO040S080-1 YS-43 M040S100-1 Q15B 0.88
h ' C25-5R30-160-2T 2 A 302025 35 - 160 RPMT10T3 MO040S100-1 YS43 M040S100-1 Q158 0.57 .
7 CEE e 2 b 21 UL 20 70 200 RPLIIOUS  OOS0S0A) e 5 IORSIO0AL Qe 007 C25-5R30-200-2T 2 A 302025 35 - 200 RPMTLOT3 MO40S100-1 YS43 M040S1001 Q158 0.73 |
A C24-5R25-160-2T 2 A 25 1524 60 160 RPMW1003 MO040S080-1 YS-43 MO040S100-1 Q15B  0.51 C25.5R30-2502T 2 A 302025 35 - 250 RPMTLOT3 MO40S100-1 YS43 MO40S1001 0158 0.91 2
i C24-5R25-200-2T 2 A 251524 70 200 RPMW1003 M040S080-1 YS-43 MO40S100-1 Q158  0.65 C32-5R35-160-3T 3 A 352532 48 - 160 RPMTIOT3 MO40S100-1 YS43 MO40S120 Q158 0.92 7
C24-5R25-250-2T 2 A 25 1524 80 250 RPMWI1003 MO040S080-1 YS-43 M040S100-1 Q15B 0.83 C32-5R35-200-3T 3 A 352532 48 - 200 RPMT10T3 MO040S100-1 YS-43 M040S120 Q158 1.17
gré C25-5R26-160-2T 2 A 26 1625 60 160 RPMW1003 MO040S080-1 YS-43 MO040S100-1 Q15B 0.55 C32-5R35-250-3T 3 A 352532 48 - 250 RPMT10T3 M040S100-1 YS-43 MO040S120 Q15B 1.48 gg
il C25-5R26-200-2T 2 A 26 1625 70 200 RPMW1003 M040S080-1 YS-43 M040S100-1 Q15B  0.70 C32-5R35-300-3T 3 A 352532 48 - 300 RPMT10T3 MO040S100-1 YS43 M040S120 QI15B 1.79 e
7] C25-5R26-250-2T 2 A 26 1625 80 250 RPMW1003 MO040S080-1 YS-43 M040S100-1 Q15B  0.89 EMRT- C15-4R16-160-2T 2 A 16 8 15 40 - 160 RPMTO8T2 M030Y070-1 YS-34 MO30Y070-1 Q08B 0.20 2
\’K i A Suitable:#&35 71 & . =% 71K DEREK Or MITSUBISHI Insert C15-4R16-200-2T 2 A 16 8 15 40100 200 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.26
o2 C16-4R17-160-2T 2 A 17 9 16 40 - 160 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.21 o
Be C16-4R17-200-2T 2 A 17 9 16 40100 200 RPMTO8T2 M030Y070-1 YS-34 MO30Y070-1 Q08B 0.29 Be
C19-4R20-160-2T 2 A 201219 60 - 160 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.30
C19-4R20-200-2T 2 A 201219 70100 200 RPMTO8T2 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.41
RE C20-4R21-160-2T 2 A 211320 60 - 160 RPMTO8T2 M030Y070-1 YS-34 MO30Y070-1 Q08B 0.33 a
(s C20-4R21-200-2T 2 A 211320 70100 200 RPMTO8T2 M030Y070-1 YS-34 MO30Y070-1 Q08B 0.46 ity
i C24-5R25-160-2T 2 A 251524 60 - 160 RPMT10T3 MO040S080-1 YS-43 M040S100-1 Q15B 0.51 %
C24-5R25-200-2T 2 A 251524 70100 200 RPMT10T3 MO040S080-1 YS-43 M040S100-1 Q15B 0.65
) i& A Suitable: @35 71« =% 71 DEREK Or MITSUBISHI Insert .
7] 7]

>< DEREK 53 DEREK




TRS

TRS Indexable Milling Cutter
TRS &F X met ]

M4EETE

T FEMNT SMENT e 2ENT

ms

¥ ER

eiul

TR

© A

L2

TI 8257

[EH]

[EHRAZET IR TF E8

»< DEREK

Specification Teeth Fig DDS d L1 L2 L Insert Insert screw Clamp Clamp Screw Wrench Weight
TRS- C12-4R12-130-1T 1 A 12 4 12 35 130 RDMT0802 MO30Y060 - Q08B 0.10
C16-4R16-160-2T 2 A 16 8 16 50 160 RDMT0802 MO0O30Y070-1 YS-34 MO30Y070-1 Q08B 0.23
C16-4R16-200-2T 2 B 16 8 16 50100200 RDMT0802 MO0O30Y070-1 YS-34 M0O30Y070-1 Q08B 0.29
C20-4R20-160-2T 2 A 2012 2060 160 RDMT0802 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.35
C20-4R20-200-2T 2 B 2012 20 70100200 RDMT0802 MO30Y070-1 YS-34 M0O30Y070-1 Q08B 0.34
C20-5R20-160-2T 2 A 2010 20 60 160 RDMT10T3 MO40R080-2 YS-39 MO035T085 QI15B 0.35
C20-5R20-200-2T 2 B 2010 20 70100200 RDMT10T3 MO0O40R080-2 YS-39 MO035T085 Q15B 0.44
C20-5R25-160-2T 2 A 2515 20 40 160 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.26
e C20-5R25-200-2T 2 A 2515 20 40 200 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.46
;}Ej C25-5R25-160-2T 2 A 2515 2560 160 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.54
é&é C25-5R25-200-2T 2 B 2515 2570100200 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q158 0.69
C25-5R25-250-2T 2 B 2515 2580150250 RDMT10T3 MO040R080-2 YS-43 M040S100-1 Q15B 0.87
C25-5R30-160-2T 2 A 30202540 - 160 RDMTIOT3 MO40R080-2 YS-43 M040S100-1 Q15B 0.57
ES C25-5R30-200-2T 2 A 3020 25 40 200 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q158 0.72
g; C25-5R30-250-2T 2 A 3020 25 40 250 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.91
ﬁ C32-5R35-160-3T 3 A 3525 32 48 160 RDMT10T3 MO40R090 YS-43 M040S120 Q15B 0.91
y C32-5R35-200-3T 3 A 3525 3248 200 RDMT10T3 MO40R090 YS-43 M040S120 Q15B 1.16
a2 C32-5R35-250-3T 3 A 35253248 - 250 RDMT10T3 MO40R090 YS-43 MO040S120 Q15B 1.48
ﬁf C32-5R35-300-3T 3 A 3525 32 48 300 RDMT10T3 MO40R090 YS-43 M040S120 Q15B 1.79
% C32-5R35-350-3T 3 A 3525 32 48 350 RDMT10T3 MO40R090 YS-43 MO040S120 Q15B 2.10
\’K C25-6R32-160-2T 2 A 3220 2548 160 RDMT1204 MO40R100-2 YS-43 M040S120 Q15B 0.94
o C25-6R32-200-2T 2 A 3220 25 48 200 RDMT1204 MO40R100-2 YS43 MO040S120 Q15B 1.19
s C25-6R32-250-2T ) A 3220 25 48 250 RDMT1204 MO40R100-2 YS-43 M040S120 Q15B 1.50
ns C32-6R32-160-2T 2 A 3220 32 48 160 RDMT1204 MO40R100-2 YS-43 M040S120 QI15B 0.96
- C32-6R32-200-2T 2 A 3220 3248 200 RDMT1204 MO40R100-2 YS-43 M040S120 Q15B 1.22
T C32-6R32-250-2T ) A 3220 32 48 250 RDMT1204 MO40R100-2 YS-43 MO040S120 Ql15B 1.55
ﬁ C32-6R32-300-2T 2 A 32203248 - 300 RDMT1204 MO40R100-2 YS43 MO040S120 Q15B 1.91
?; i& A Suitable:#&== 71/« HarJ1/ DEREK Or HITACHI Insert
J]
B l‘_-—
%3 HTRR =
7] See next page

TRS

TRS Indexable Milling Cutter
TRS &F K met ]

oo ||l = )

HMI FENT AMENT DK 2ENT

ol L f
o e ——————————— ] A
a L8
E©x

Gl

Tk

Insert

7% A5 Special Size

BS

18

E= TNREBET  ER  ERIRET ERIRTF 2=
Teeth Fig D DS d

Insert screw Clamp Clamp Screw Wrench Weight

Specification

TRS- C15-4R16-160-2T 2 A 16 8 1550 160 RDMT0802 MO30Y070-1 YS-34 M030Y070-1 Q08B 0.20
C15-4R16-200-2T 2 A 16 8 1550 200 RDMT0802 MO30Y070-1 YS-34 MO30Y070-1 Q08B 0.26
C16-4R17-160-2T 2 A 17 9 16 50 160 RDMT0802 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.23
C16-4R17-200-2T 2 A 17 9 16 50 200 RDMT0802 MO030Y070-1 YS-34 M030Y070-1 QO8B 0.30
C19-4R20-160-2T 2 A 2012 19 60 160 RDMT0802 MO030Y070-1 YS-34 MO30Y070-1 Q08B 0.30
C19-4R20-200-2T 2 A 20 12 19 70 200 RDMT0802 MO030Y070-1 YS-34 M030Y070-1 Q08B 0.41
C20-4R21-160-2T 2 A 21 13 20 60 160 RDMT0802 MO030Y070-1 YS-34 M030Y070-1 QO8B 0.35 5%%
C20-4R21-200-2T 2 A 21 13 20 70 200 RDMT0802 MO30Y070-1 YS-34 MO30Y070-1 Q08B 0.45 %'&;
C24-5R25-160-2T 2 A 2515 24 60 160 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.50 &
C24-5R25-200-2T 2 A 25 15 24 70 200 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.64
C24-5R25-250-2T 2 A 2515 24 80 250 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.82 e
C25-5R26-160-2T 2 A 26 16 25 60 160 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q158 0.54 ;fug
C25-5R26-200-2T 2 A 26 16 25 70 200 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.70 e
C25-5R26-250-2T 2 A 26 16 25 80 250 RDMT10T3 MO40R080-2 YS-43 M040S100-1 Q15B 0.89 %

i& A Suitable:#E= 71/« HizJl/ DEREK Or HITACHI Insert Z

fir g
i
7l
F
5
kS
715
e
e
fire
S
=
by
lEE
%3
b

>< DEREK




RCF

RCF Ball-nose Indexable Cutter For Roughing
RCF ek#2FhiET]

saliad]is

T NI R

)

k

o
% R
L
HO1 H10

Tk THEE]  ERERF BE

oS T i
Specification Teeth R D d Insert Insert screw Wrench Weight

RCF- C20-10R-160-2T 2 10 20 20 18 60 160 Q08B 0.30
R oy ; 18 28 ;O ig Zg fgg ZCEW100CE  MO30DO075 ngg 8'45
C25-10R-160-2T S ZCEW100SE  MO030D095  © .59
€25-10R-200-2T 2 10 20 25 18 70 200 Q08B 0.65
C25-10R-250-2T 2 10 20 25 18 80 250 Q08B 0.75
C25-12.5R-160-2T 2 125 25 25 23 60 160 Q158 0.55
€25-12.5R-200-2T 2 125 25 25 18 70 200 ZCEW125CE MO40D080-3  Q15B 0.70
i C32-12.5R-200-2T 2 1255 25 32 23 80 200 ZCEW125SE  MO040D110 Q158 0.90
72 C32-12.5R-250-2T 2 125 25 32 23 90 250 Q158 1.20
{{;ﬁ C32-15R-160-2T 2 15 30 32 28 60 160 Q20B 0.80
32-15R-200-2T 2 15 30 32 28 70 200 ZCEW150CE MO50Y120-3 Q20B 1.10
7 32-15R-250-2T 2 15 30 32 28 80 250 ZCEW150SE ) Q20B 1.40
ES 32-15R-300-2T 2 15 30 32 28 110 300 Q208 1.70
B i A Suitable: B 37 71 A HITACHI Insert
;’i«
s
i
fir2
%
”ﬁ
&8
s
7
RE
{irs
EY
BEe
7]
&=
%3
7]

>< DEREK

BF

BF Ball-nose Milling Cutter For Finishing
BF BksLAE N Tzt

—(®

BT BRI

L1

S Nk T1 4257 IF =
Specification D Insert Insert screw Wrench  Weight
BF- C12-4R-100-1T 8 12 25 100 P3200-D08 MO30W070-4R Q08B 0.10
C12-4R-130-1T 8 12 25 130 P3200-D08 MO30W070-4R Q08B 0.10
C12-4R-160-1T 8 12 30 160 P3200-D08 MO30W070-4R Q08B 0.12
C10-5R-100-1T 10 10 30 100 P3200-D10 M040W090-5R Q15B 0.05
C12-5R-130-1T 10 12 30 130 P3200-D10 M040W090-5R Q15B 0.10
C12-5R-160-1T 10 12 35 160 P3200-D10 M040W090-5R Q15B 0.12
C12-6R-130-1T 12 12 30 130 P3200-D12 MO50W090-6R Q20B 0.10
C12-6R-160-1T 12 12 30 160 P3200-D12 MO50W090-6R Q20B 0.15
C16-6R-160-1T 12 16 30 160 P3200-D12 MO50W090-6R 020B 0.13
C16-8R-120-1T 16 16 30 120 P3200-D16 MO50W130-8R Q20B 0.23
C16-8R-160-1T 16 16 30 160 P3200-D16 MO50W130-8R Q20B 0.20
C16-8R-180-1T 16 16 35 180 P3200-D16 MO50W130-8R Q20B 0.26
C16-8R-200-1T 16 16 45 200 P3200-D16 MO50W130-8R Q20B 0.29 .
C20-10R-160-1T 20 20 30 160 P3200-D20  M0O50W170-10R Q20B 0.35 %E
C20-10R-200-1T 20 20 35 200 P3200-D20  MO50W170-10R 020B 0.45 Ty
C25-12.5R-160-1T 25 25 35 160 P3202-D25 M060W210-12.5R T30M 0.54 ﬁé
C25-12.5R-200-1T 25 25 40 200 P3202-D25 MO60W210-12.5R T30M 0.70
C25-12.5R-250-1T 25 25 60 250 P3202-D25 MO60W210-12.5R T30M 0.88
C32-16R-200-1T 32 32 55 200 P3201-D32 MO80W250-16R T30M 1.13 e
C32-16R-250-1T 32 32 70 250 P3201-D32 MO80W250-16R T30M 1.44 7§
C32-16R-300-1T 32 32 80 300 P3201-D32 MO80OW250-16R T30M 1.77 ;E
i&f Suitable:f @ 71 /. E/R4%5 71/ DEREK Or WALTER Insert fj‘
/ Feature %i
WYIEG N REEENE, HHEIRYT, SEVEIFEE, A—R7NARERENEALEE, EEMNTIEITIRESIEFEEZIHRC60 %
WMIAR NGBk RS, 8. HFASNASE, NATEEE AN RAREMTIARATE T ;MRS F 8IS #
B Good cutting capability and precision, good capability for removing the metal chips and cutting . Steadily when high speed machining.
M One insert can be used in vast area.The sharp blade is easy to cutting steel, stainless steel, cast iron, aluminum etc. %5
7§
57
fire
s
e
7]
1EE
%3
7]

>< DEREK




300R/400R 300R/400R

300R/400R High S_p__eed‘ Indexable End Mill 300R/400R High Speed Indexable End Mill
300R/400R BT EImELT] 300R/400R E A SR mEL ]
| e - —
‘;' L1 e i : - c A
L
BRI
o 743 ) o B L

rﬂ,
| ¢
L
d0.2
d
o

, T
sewzpae BT

B/NT HNT  FENT FENT SHENT #WE WEnT

'\ o
_ _ L2
e ¥ ER 2l TNHIBST MERRF BE B@ Ejm L

Specification Teeth Fig D a Insert Insert screw  Wrench Weight NI BNI TOI EENL GNTAL #WE  HT0D
300R- C10-10-100-4T 1 A 10 10 9 25 - 100 APMTI135 MO25W050 Q08B  0.05 e
C10-10-1304T 1 A 10 10 9 25 - 130 APMTI135 MO25W050 Q08B  0.06 gl ke aliiee
C12421304T 1 A 12 12 9 30 - 130 APMT1135 MO25W050 Q08B  0.10 -
S 7# BER Ik TIHEEST HERIRF F=
cie-16-16021 2 A 16 169 50 - 160 APMT1ISS ~ MO25WOE0 Q08B  0.23 300R- C12-1313-T 1 A 13 12 9 25 130 APMTLI35 MO25WO060 Q08B 0.1l
C16-16180-2T 2 B 16 16 9 60 90 180 APMT1135 MO25W060 Q08B  0.26
C15-16-120-2T 2 A 16 15 9 40 120 APMTI135 MO25W060 Q08B  0.15
C16-162002T 2 B 16 16 9 60 100 200 APMT1135 MO25W060 Q08B  0.29
C15-16-160-2T 2 A 16 15 9 40 160 APMT1135 MO25W060 Q0SB  0.21
C20-201202T 2 A 20 20 9 50 - 120 APMTL135 MO25W060 Q08B  0.26
C15-16-180-2T 2 A 16 15 9 40 180 APMTI135 MO25W060 QOSB  0.24
C20-20-160-2T 2 A 20 20 9 60 - 160 APMTL135 MO25W060 Q08B  0.36
C15-16-200-2T 2 A 16 15 9 40 200 APMTII35 MO25W060 Q08B  0.26
C20202002T 2 B 20 20 9 70 100 200 APMT1135 MO25W060 Q08B  0.46
C156-16-160-2T 2 A 16 156 9 50 160 APMTI135 MO25W060 Q08B  0.22
4-)  400R- C25-25-160-2T 2 A 25 25 14 70 - 160 APMTI604 MO040S080-1 Q158  0.55
i C156-16-2002T 2 A 16 156 9 50 200 APMTI135 MO25W060 Q08B  0.28
C25-25-2002T 2 B 25 25 14 70 100 200 APMT1604 MO040S080-1 Q158  0.70
e C16-17-120-2T 2 A 17 16 9 50 120 APMT1135 MO25W060 Q08B 0.17
7 C25-25-250-2T 2 B 25 25 14 80 115 250 APMT1604 MO040S080-1 Q158  0.89
i C16-17-160-2T 2 A 17 16 9 50 160 APMTI135 MO25W060 Q0SB  0.24
C25-25-3002T 2 B 25 25 14 80 165 300 APMT1604 MO040S080-1 Q158  1.07
C16-17-180-2T 2 A 17 16 9 50 180 APMTI135 MO25W060 Q0SB  0.27
C25-30-160-2T 2 A 30 25 14 42 - 160 APMT1604 MO040S100-1 Q158  0.81
C16-17-200-2T 2 A 17 16 9 50 200 APMTI135 MO25W060 Q0SB  0.30 -
s C25-30-2002T 2 B 30 25 14 42 100 200 APMT1604 MO040S100-1 Q158  1.11 i1
5 C19-20-160-2T 2 A 20 19 9 50 160 APMT1135 MO25W060 Q08B  0.33 %1
Y C25-30-250-2T 2 B 30 25 14 42 115 250 APMT1604 MO040S100-1 Q158  1.42 3
G C19-20-200-2T 2 A 20 19 9 50 200 APMT1135 MO25W060 Q0SB  0.42 B
1 C32-32160-2T 2 A 32 32 14 48 - 160 APMTI604 MO40S100-1 Q158  0.86 5
s C20-21-160-2T 2 A 21 20 9 50 160 APMTI135 MO25W060 Q0SB  0.39 s
C32-32-2002T 2 B 32 32 14 48 100 200 APMTI604 MO040S100-1 Q158 1.16
Ca2-32-250-2T 2 B 32 32 14 48 115 250 APMT1604 M040S100-1 Q158  1.47 €20-21-200-2T 2 A 21 20 9 50 200 APMTL135 MO25W060 Q08B  0.47
= C32-32-3002T 2 B 32 32 14 48 165 300 APMT1604 M040S100-1 Q158 1.77 A EEEEIR———————————— o £
g C32-35-1602T 2 A 35 32 14 48 - 160 APMTL604 MO040S100-1 Q158  0.95 T e T Q15B 0'as %
\K C3235-2002T 2 A 35 32 14 48 - 200 APMT1604 MO040S100-1 Q158  1.20 €24-25-250-2T o0 10409080.1 Q15B 0o #
) Ca2-352502T 2 A 35 32 14 60 - 250 APMTI604 MO40S100-1 Q158  1.51 e ] A G S 200 APHT1E04 M0405080-1 leB 0.71 B
1 C32-35-3002T 2 A 35 32 14 60 - 300 APMTI604 MO40S100-1 Q158  1.83 026-26-200-21 A 250 AT1608 M040S080-1 Q15B 0.90 5
7 C32:35-1603T 3 A 35 32 14 60 - 160 APMT1604 MO040S100-1 Q158  0.94 __ C2-20250 2T 2 A 26 25 14 50 APMT1604 1 Q :
C32:35-2003T 3 A 35 32 14 60 - 200 APMT1604 MO040S100-1 Q158  1.20 &M Suitable: @527 /. =% 71/ DEREK Or MITSUBISHI Insert y
D C32-35-250-3T 3 A 35 32 14 60 - 250 APMT1604 MO040S100-1 Q158  1.51 o
il C32-35-300-3T 3 A 35 32 14 60 - 300 APMT1604 MO040S100-1 Q158  1.82 jid:
m C32-35-350-3T 3 A 35 32 14 60 - 350 APMTL604 MO040S100-1 Q158  2.13 m
7 C32-35-400-3T 3 A 35 32 14 60 - 400 APMTI604 MO040S100-1 Q158  2.46 7]
C32-35-450-3T 3 A 35 32 14 60 - 450 APMT1604 MO040S100-1 QI58  2.78
s C32-35-500-3T 3 A 35 32 14 60 - 500 APMT1604 MO040S100-1 Q158  3.07 8
( C3240-160-3T 3 A 40 32 14 60 - 160 APMT1604 MO040S100-1 Q158 1.10 5
C32-40-2003T 3 A 40 32 14 60 - 200 APMTI604 MO040S100-1 QI58  1.24
C32-40-250-3T 3 A 40 32 14 60 - 250 APMTI604 MO40S100-1 Q158  1.55
C32-40-3003T 3 A 40 32 14 60 - 300 APMT1604 MO040S100-1 Q158 1.8

i& A Suitable:fZ%= 71 5. =% 71 DEREK Or MITSUBISHI Insert

»< DEREK >< DEREK




AJU

AJU Cutter For Centering And Drilling

ATS/ASJ

ATS T-Slot Milling Cutter

AU T HOEEFE T ATS-T Bt uRstET]
&l
= = L
™) )
T AM@EHNI DM WENI  EENT
° - - - o A s - ; ©
3
L1 S A
L L | Lo |
| L2
| L
o ] o~ _ _ - 5
S ™ =
L BS T bibay TIRYZET  ERERF ==
L Specification Teeth D Insert Insert screw  Wrench  Weight

ATS- C25-25-11-110-2T 2 25 25 125 11 21 110 CCMT060204 MO025W060 Q08B 0.35
BS TRES THEST EREF B= C32-32-14-120-2T 2 32 32 16 14 30 120 CPMT080204 MO025W060 Q08B  0.55
Specification e Insert Insert screw  Wrench  Weight C32-40-18-130-4T 4 40 32 20 18 32 130 CCMT09T308 MO40S100-1 Q15B 0.70
AJU- C10-10-100-1T 1 A 10 10 30 - 100 CCMT060204 MO25W050 Q08B 0.05 C32-50-22-140-4T 4 50 32 26 22 39 140 CCMT120408 MO050Y110-1 Q20B 0.95
C12-12-130-2T 1 A 12 12 30 - 130 CPMT080204Z M025W060 Q08B 0.10 i& A Suitable:#&5 71 /. Bz 71/ DEREK Or HITACHI Insert
C16-16-160-2T 2 A 16 16 35 - 160 CCMT060204 Q08B 0.23
C16-16-2002T 2 B 16 16 40 100 200  CPMT080204z  MO025W060 Q08B 0.29
C20-20-160-2T 2 A 20 20 50 - 160 CCMT060204 M025W060 Q08B 0.36
C20-20-200-2T 2 B 20 20 60 100 200 CPMT090204Z  MO035R080-1 Q158 0.45
C25-25-160-2T 2 A 25 25 60 - 160 CPMT090308 Q158 0.54 i
3%2 C25-25-200-2T 2 B 25 25 70 100 200 CPMT1203087 M040R080-2 Q15B 0.70 ASJ Cutter For Dr||||ng And |\/|||||ng %%
5 €25-25-250-2T 2 B 25 25 80 115 250 Q158 0.88 ASJ &E&E3E FRISET] 6t d
e C32-32-200-2T 2 B 32 32 60 100 200 CPMT120408 Q208 1.12 e
C32:32-250-2T 2 B 32 32 70 115 250  cpiiieorpsy  MO50Y110-4 Q20B 141 N —
C32-32-300-2T 2 B 32 32 80 165 300 1604307 Q208 1.71 [:] m [q
%ﬁ% iE A Suitable:%ﬁﬂ}#\ H A_LJJH' DEREK Or HITACHI Insert BT SHMENT SMENT HEMT  EWE  WENT  SENT %1:%
IF 4% 7% 8 5 Special Size o] S - - A i
L1
3 = TIRES TIRI25T MEREF B8 | : | s
3 Specification e Insert Insert screw Wrench  Weight ? F DTP 5 S - fgz
%‘j;é AJU- C15-16-1602T 2 A 16 15 35 160 CCMT060204 o\ o Q08B 021 L @ © J : %
C15-16-200-2T 2 A 16 15 40 200 CPMT080204Z7 Q08B 0.26 HOL H10 L F
\’K C19-20-160-2T 2 A 20 19 35 160 CCMT060204 M025W060 Q08B 0.33
% C19-20-200-2T 2 A 20 19 40 200 CPMT090204Z MO035R080-1  Q15B 0.42 S #7 By EFR IR BIH TIRI25]  HERIETF e
%f C24-25-160-2T 2 A 25 24 35 160 CPMT090308 Q15B 0.51 Specification Cross Vertical  Fig Crossinsert  Verticalinsert  Insert screw Wrench %%
€24-25-200-2T 2 A 25 24 35 200 CPMT1203087 MO40R080-2 ~ Q158 0.65 ASJ- C20-20-160-4T 1 3 A 20 20 35 - 160 ADMT100308L ACMT100308R MO025W060 Q08B  0.35
C24-25-250-2T 2 A 25 24 40 250 Q158 0.83 C20-20-200-4T 1 3 B 20 20 35 100 200 ADMT100308L ACMT100308R M025W060 Q08B 0.45
R i& A Suitable:E= 71K . B3z 71 B DEREK Or HITACHI Insert C25-25-160-4T 1 3 A 25 25 40 - 160 ADMT12T308L APMT12T308R MO030Y070-2 QlOR (.55 s
i C25-25-200-4T 1 3 B 25 25 40 100200 ADMT12T308L APMT12T308R MO030Y070-2 Q1O0R 0.75 ]
EE C32-32-160-4T 1 3 A 32 32 50 - 160 APMT160408L APMT150408R MO040S080-1 Q15B 0.90 =
%% C32-32-200-4T 1 3 B 32 32 50 100200 APMT160408L APMT150408R M040S080-1 Q15B 1.25 B
i& A Suitable: H 3z 71 /i HITACHI Insert
k- L
o %2
7] 7]

>< DEREK >< DEREK




Double-edged Mil

FIHSM

He S SRR
Aluminum Face Mill

il

Indexable

SRR

B

7

SE:)

Chamfering Cutt

Indexable Face Mil,

SSERHa

S
Slot Mill

CH/TP60°/45°/30°

CH Indexable Cutter For Pocketing
CH 8222 L FL5ET]

o Lid
bird

T FEHT

M= 7 EHeE Vi
Specification Teeth For D) Insert

T Y247 wWFE BE
Insert screw  Wrench Weight

EMA45°/SSP45°

EM45° Internal And External Chamfering Cutter
EM45° K 5MeEl g 7]

S

b1 S =) S o1 ) 1 o R 22D [

D1

2

NSM

S 7] % Tk THEBE]  ERRF BB

Insert screw  Wrench  Weight
110 SPMW090304 MO040S100-1 Q15B 0.40

Specification Insert

EM45- Cc20-25-110-2T 2 25 38 20 35
C25-25-150-2T 2 25 38 25 35

CH- C25-14-M8-1T 1 M8 14 29 25 21 108 CCMT060204 M025W060 Q08B  0.32
C25-17.5-M10-2T 2 M10 175 5.3 25 26 115 CCMT060204 MO025W060 Q08B  0.34
C25-20-M12-2T 2 M12 20 7.8 25 30 120 CCMT060204 MO025W060 Q08B  0.35
C25-23-M14-2T 2 M14 23 10.8 25 34.5 126 CCMT060204 MO25W060 Q08B 0.40
C32-26-M16-2T 2 M16 26 85 32 39 132 CPMT090308 MO040R080-2 Q158  0.50
C32-29-M18-2T 2 M18 29 11.5 32 43.5 138 CPMT090308 MO40R080-2 Q15B 0.65
C32-32-M20-2T 2 M20 32 14.5 32 59 144 CPMT090308 MO040R080-2  Q15B  0.87

C25-30-150-2T 2 30 43 25 35

150 SPMW090304 M040S100-1

150 SPMW090304 M040S100-1 Q15B 0.55

Q158B 0.59

i& F Suitable:&E%= 71 /. =% J1 K DEREK Or MITSUBISHI Insert

/ Feature

1& A Suitable: &35 71 5. Hiz 714 DEREK Or HITACHI Insert
/ Feature

WIBESENEALENIMILEETF—&F, —XMIER, KIERSBLTLANMINE,
WFor drilling and counter-sink machining as a whole. The best choice for machining the head of socket screws.

TP60°,45°,30° Chamfering Cutter
TP60°,45°,30° EREY & 7]

] -

BT MNT FEMNI SSsNT

EHIER I F 5E
Umbrellaclamp Wrench  Weight

S DJE:S Tk

Specification Teeth D Insert

TP60- C25-40-120-2T 37.7 158 25 120 60 TPMN1603 MO60HO80-TP  LO4D 0.55
TP45- C20-20-120-1T 20.4 4 20 120 45 TPMN1603 MO60HO80-TP  L0O4D 0.27
C20-32-120-2T 30.2 12 20 120 45 TPMNI1603 MO60H080-TP  L04D 0.32

C25-50-160-3T

TP30- C25-40-120-2T
C32-55-160-3T

i& A Suitable: &

49 24 25 160 45 TPMN2204 MO80H120-TP  LO5D 0.65
39 26 25 120 30 TPMN1603 MO60H080-TP  L04D 0.53
545 36 32 160 30 TPMN2204 MO80H120-TP  LO5D 0.98

Rk =% 71 DEREK Or MITSUBISHI Insert

WIN[WIN — N

/ Feature

IZISJJ_I3OE,45E'E,6OF’£)J¢JIJ DIINGEEDz: ]S
WEE MR, ZEEUIHRIFOHL

WFor chamfering different angles 30°,45°and 60°.
MFor general milling machine and machine center.

>< DEREK

WSRIEET, E&AUIHEL

WATYIE, ﬁ']ﬁ?]ﬂl FHEHH WFor highfeed cutting with a high rigidity.

W ERIRAESR, EARTEAMER, F25F, HFor slot cutting,chamfering and face milling.
W For inserts with four cutting edges.

SSP45° Cutter For Centering And Chamfering
SSP45° EALEf 7]

O

AT e #ENnT

45°

£

= 7%

ﬁﬂﬁ,alil 7]):';

TIRYEET ERRF BE=
Teeth D D1 d a Li: L Chamferingrange Insert

Insert screw Wrench Weight

Specification

SSP-C20-20-130-1T 1 20 0 20 11.3 20 130 0-20 TCMX16T308 MO40R090 Q15B 0.28

i& F Suitable:f252 J1 i DEREK Insert

/ Feature

WARSETIRTASEYIHEI, JRATgEI R, VIEYIEI, FTHOEMERER,
WE&5—MHEAR, CNCHER, CNCEK, shikEIf.

W Milling with an angle of 45°,chamfering,V-slot cutting and centering.

W For milling machine, CNC milling machine, CNC turning machine and drilling machine.

>< DEREK

N S FAFS

IR

Double-edged Mill

Aluminum Face Mill

Indexable Mill




AJX/SKS

AJX High-feed Face Mill
AIX K28 EHETI Sk

A EEEE

HEINI  FENI EMEMNI HFENI EDE 2ENT

Lillis i

Bs 1% Tk TRYEET TR EWREEET HERERTF B2

Specification ~ Teeth D a Insert Insert screw Clamp  ClampScrew  Wrench Weight
AJX 12-50-22-4T 4 2 50 JDMW120420 MO40R100-2 M040S100-1 Q15B  0.40
12-63-22-4T 4 63 22 2 50 JDMW120420 MO040R100-2 YD-13 MO040S100-1 Q158 0.75
14-63-22-4T 4 63 22 2 50 JDMW140520 MO050Y120-2 YD-16 MO050Y110-2 Q20B  0.75
14-80-27-5T 5 80 27 2 50 JDMW140520 MO050Y120-2 YD-16 MO050Y110-2 Q20B 1.00

iEF Suitable: {71 . =% 71 5 DEREK Or MITSUBISHI Insert =

nE

s

713

t*

SKS High-feed Face Mill

SKS KBt 8EHE 7] o2

7!

Z]F(

S¥TH i *

T  F@EHNT EHMEMNT HENT AR 2ENT -

i

fas

%

7]

¥

s

il

s

LE

i3

fir g

|

e

7]

e

" - %3

S T Nk TIRY2ET  JEtR ERERET ERRTF EE 7
Specification Teeth D d Insert Insert screw Clamp ClampScrew Wrench Weight
SKS 08-50-22-4T 4 50 22 2 50 VV\\’I%';\/'/I\’TV(?SS(S)SZZ&ZQE M045Y110 YD-16 MO045Y110 Q20B 0.40
08-63-22-4T 4 63 22 2 50  wpHw080520zTR M045Y110 YD-16 M045Y110 Q20B 0.65
10-63-22-4T 4 63 22 2.5 50 WDMWI10X620ZTR M045Y110 YD-16 M045Y110 Q20B 0.65
10-80-27-4T 4 80 27 2.5 50 WDMT1O0X620ZER M045Y110 YD-16 M045Y110 Q20B 1.00

i& A Suitable: = 71 /. B J1F DEREK Or DIJET Insert

>< DEREK




EMRW TRS

EMRW Face Milling Cutter TRS Face Milling Cutter
EMRW [& 7] 7] F m$t 7] Sk TRS E 71 7) Fm$k 7]
T PENI EMEHNT DK EEHNT T FEHNIT AMENI  AEDE  2ENT
D D

) Ik A TIRBET AR EHURS MMIRT EE BE I NE e EA EWIRST  MRET B8

Specification Teeth D Insert  Insert screw Clamp Clamp Screw Wrench Weight Specification Teeth D DS H Insert Insertscrew Clamp ClampScrew  Wrench Weight
EMRW- 5R50-22-4T 4 50 40 22 50 RPMW1003 MO040S100-1 YS-43 MO040S120 Q15B 0.35 TRS- 5R50-22-4T 4 50 40 22 50 RDMTIOT3 MO40R090 YS43  M040S120 Q15B  0.35
5R63-22-4T 4 63 53 22 50 RPMW1003 MO040S100-1 YS-43 M040S120 Q15B 0.55 5R63-22-5T 5 63 53 22 50 RDMT10T3 MO40R090 YS43  M040S120 Q15B  0.55
5R63-22-5T 5 63 53 22 50 RPMW1003 MO040S100-1 YS-43 M040S120 Q15B 0.55 6R50-22-4T 4 50 38 22 50 RDMT1204 MO40R100-2 YS43 M040S120 Q15B  0.35
0z 6R50-22-4T 4 50 38 22 50 RPMW1204 MO040S100-1 YS-43 MO040S120 Q15B 0.50 6R63-22-4T 4 63 51 22 50 RDMT1204 MO40R100-2 YS43 MO040S120 Q15B  0.50 0z
é}e%’ 6R63-22-4T 4 63 51 22 50 RPMW1204 MO040S100-1 YS-43 MO040S120 Q158 0.75 6R63-22-5T 5 63 51 22 50 RDMT1204 MO040R100-2 YS43 M040S120 Q15B  0.50 g%%
78 6R63-22-5T 5 63 51 22 50 RPMW1204 MO040S100-1 YS-43 MO040S120 Q158 0.75 6R80-27-6T 6 80 68 27 50 RDMT1204 MO40R100-2 YS43 M040S120 QI5B  0.90 WE
t 6R80-27-6T 6 80 68 27 50 RPMW1204 MO040S100-1 YS-43 MO040S120 Q15B 0.75 6R100-32-6T 6 100 88 32 50 RDMT1204 MO40R100-2 YS43 M040S120 Q15B  1.20 "
6R100-32-6T 6 100 88 32 50 RPMW1204 MO040S100-1 YS-43 M040S120 Q15B 1.25 8R63-22-4T 4 63 47 22 50 RDMX1604 MO50Y110-1 YS-52 MO050Y110-2  Q20B  0.50
e i& A Suitable: % 71 /. =% 71 DEREK Or MITSUBISHI Insert 8R80-27-5T 5 80 64 27 50 RDMX1604 MO50Y110-1 YS-52 MO50Y110-2  Q20B  0.85 i
ﬁcl 8R100-32-5T 5 100 84 32 50 RDMX1604 MO50Y110-1 YS-52 MO50Y110-2  Q20B  1.25 EJR
%EE i A Suitable: #5271 /. Haz 71/ DEREK Or HITACHI Insert %;E
firs fis
# %
ﬂﬁ #
g s
B B
E 715
LE LE
s e
fir's fir e
mS S
BEE 7%
7] 7]
B B
#3 3
7] 7]

»< DEREK 53 DEREK




400R

400R Square Face Mill
A400R F R TFmE$ETIk

FP45°/FP75°

FP45° Face Mill Head
FPAS° w1k

sdEa

BT AMT  FEMT Iﬁbﬂl SHEMNI A\l WEHnT

Al

Cliiis

4@ .

MHT FEMNI AKENT

. ‘ I
|:| |
G22 018 _ \ | [

S T# BEE
Teeth D di  H Weight

BE DIE: G
Specification Teeth D d di H Weight

Specification

FP45- 80-25.4-5T 5 80 25.4 - 50 FP45- 80-27-5T 5 80 27 - 50 2.05

100-31.75-5T 5 100 31.75 - 50 2.40 100-32-5T 5 100 32 - 50 2.55

=] IES TIE8ET  EWRIRFE =B 125-38.1-6T 6 125 38.1 - 63 5.50 125-40-6T 6 12540 - 63 5.70
Specification Teeth D Insert Insert screw  Wrench Weight 160-50.8-8T 8 160 50.8 - 63 7.30 160-40-8T 8 160 40 63 7.50

»< DEREK

Q 127 E’@Qﬁ: 15,875&&%2

SPKN1203

FC2550-SE1203-45

EO50U160 FCc255056150445  MLO816  SV-128170-1545 TO4G SPKN1504

FREEMT] R EE, R —NFP#LE 71 Sk "] {& FASPKN1203,SPKN1504 = # 7] F ERERTR
Notice: For both inserts SPKN1203 and SPKN1504 by only changing suitable insert holder. ~ Suitable: DEREK Insert

>< DEREK

400R- 50-22-4T 4 50 22 16 50 APMT1604 MO040S100-1 Q15B 0.40 200-47.625-10T 10 200 47.625101.6 63 11.45 200-60-10T 10 200 60 101.6 63 11.70
50-25.4-4T 4 50 25.4 16 50 APMT1604 MO040S100-1 Q158  0.40 250-47.625-12T 12 250 47.625101.6 63 18.15 250-60-12T 12 250 60 101.6 63 18.35
63-22-4T 4 63 22 16 50 APMT1604 MO040S100-1 Q158  0.65 300-47.625-14T 14 300 47.625101.6 63 22.10 300-60-14T 14 300 60 101.6 63 22.40
63-22-5T 5 63 22 16 50 APMT1604 MO040S100-1 Q15B 0.65 I T4 Accessories 71 E #1#% Insert specification
63-25.4-4T 4 63 25.4 16 50 APMT1604 MO040S100-1  Q15B 0.65 akakdis e I A i 2
63-25.4-5T 5 63 25.4 16 50 APMT1604 MO040S100-1 Q15B 0.65 ‘@ /? ‘W % ’_\E\
80-25.4-6T 6 80 25.4 16 50 APMT1604  MO040S100-1 Q15B 1.00 \'Q} Q __»ffo }Bi f*” R
80-27-6T 6 80 27 16 50 APMT1604  MO040S100-1 Q158  1.00 s s ~ 27175 T 47
100-31.75-6T 6 100 31.75 16 50 APMT1604  M040S100-1 Q15B 1.25 EO50U160 FC2550SE150445  MLO816  SV-128170-1545 T04G SEKN1203 SEKN1504
R= 100-32-6T 6 100 32 16 50 APMT1604 M040S100-1 Q158  1.25 nE
7 38 1 i e s UEE T B, F—ANFPHUE 71 Sk AT 8 A SEKN1203, SEKN1504 = Fh T1 A . EREETA 2%
% 125-38.1 8T 8 125 38.1 16 63  APMT1604  M040S100-1 Q158 3.10 Notice: For both inserts SEKN1203 and SEKN1504 by only changing suitable insert hold Suitable: DEREK Insert s
e 125-40-8T 8 125 40 16 63 APMT1604 M040S100-1 Q158  3.10 otice: TOr ot Inserts @ . : Pk
160-40-8T 8 160 40 16 63 APMT1604 MO040S100-1 QIl5B 5.10
160-50.80-8T 8 160 50.8 16 63 APMT1604 MO040S100-1 Q15B  4.80 FP75° Face Mill Head
= 3. - - 4da = N ol =
# J& A Suitable: 4838 71 . =% 7 DEREK Or MITSUBISHI Insert FP75° FHE%HE 7]k L5
e Re
e D e
sk d %
a8 [
gg NI FENT AMENT ;{[;z
fi fir &
# %
7] 7]
\’K #
e 8z
e e
7 RS T S e T £ 7S
5 Specification Teeth D di H Weight Specification Teeth D d di  H Weight 5
D FP75- 80-25.4-4T 4 80 254 - 50 1.90 FP75- 80-27-4T 4 80 27 - 50 2.05
3 100-31.75-6T 6 100 31.75 - 50 2.40 100-32-6T 6 100 32 - 50 255 ik
e 125-38.1-8T 8 125 381 - 63 550 125-40-8T 8 12540 - 63 5.70 fii s
4t 160-50.8-10T 10 160 50.8 - 63 7.30 160-40-10T 10 160 40 63 7.50 B
J 200-47.625-12T 12 200 47.625101.6 63 11.45 200-6012T 12 200 60101.6 63 11.70 7]
250-47.625-14T 14 250 47.625101.6 63 18.15 250-60-14T 14 250 60101.6 63 18.35
e 300-47.625-16T 16 30047.625101.6 63 22.10 300-60-16T 16 300 60101.6 63 22.40 .
i 2 . o %3
5 **?5&5'514: Accessorles £/ 71 1 #1& Insert specification 7
& // O




Double-edged Mil

=N RS

eSS
Aluminum Face Mill

Indexable Mi,

SRR

SEE
\g Cutt

U Er/é

Chamfering

SN ]|
Indexable Face Mil

S S
Slot Mill

SE45°

SE45° High-speed Face Mill
SE4A5° SR mEE Tk

=E50000

T MBI SM@ENT HRHNT  #Dw  WEhT 2ET

S 1% Tk TIH25T MERRF B8

Specification Insert Insert screw  Wrench Weight

SE45- 50-22-4T 4 50 22 50 SEKT1204 MO50Y110-2 Q20B 0.50
63-22-5T 5 63 22 50 SEKT1204 MO50Y110-2 Q20B 0.75
63-25.4-5T 5 63 25.4 50 SEKT1204 MO50Y110-2 Q20B 0.75
80-27-6T 6 80 27 50 SEKT1204 M050Y110-2 Q20B 1.15
80-25.4-6T 6 80 25.4 50 SEKT1204 MO50Y110-2 Q20B 1.15
100-31.75-6T 6 100 31.75 50 SEKT1204 M050Y110-2 Q20B 1.75
100-32-6T 6 100 32 50 SEKT1204 MO50Y110-2 Q20B 1.75
125-38.1-8T 8 125 38.1 63 SEKT1204 MO50Y110-2 Q20B 3.75
125-40-8T 8 125 40 63 SEKT1204 MO50Y110-2 Q20B 3.15
160-40-10T 10 160 40 63 SEKT1204 MO50Y110-2 Q20B 5.10
160-50.8-10T 10 160 50.8 63 SEKT1204 MO50Y110-2 Q20B 5.10

i& A Suitable: &5 71 i DEREK Insert

»< DEREK

TDG/TDCW

TDC Slot Milling Cutter
TDC # %t 7]

S DAL
Specification Teeth D)

7]
Insert

7] 4857
Insert screw

ERIRF 58
Wrench Weight

TDC- C25-32-150-3T 3 32 25 50 150 M040S100-1 Q15B 0.80
C32-40-150-3T 3 40 32 50 150 M040S100-1 Q15B 0.90
i& A Suitable: &%= 71 /5 DEREK Insert
TDCW Slot Milling Cutter
TDCW &5t 7]
D
0

= T T R 25T HERRF BE
Specification Teeth D) Insert Insert screw Wrench Weight
TDCW- 50-22-6T 6 50 22 50 TD16 M040S100-1 Q15B 0.30
63-22-8T 8 63 22 50 TD16 M040S100-1 Q15B 0.50
80-27-10T 10 80 27 50 D16 M040S100-1 Q20B 1.10

i& A Suitable: &5 71 /i DEREK Insert

iE:TDC / TDCWHITIIR SY1ZEESE WU T 7] | RAIGEHE
Notice: TDC / TDCW cutting depthand width as per below insert data.

BS

NE#ER  EfF

Specification S B Composition  Stock

TD16-100 1.00 2.30 0.1 CP5220 A

TD16-110 1.10 2.30 0.1 CP5220 A

TD16-130 1.30 2.10 0.1 CP5220 A

TD16-150 1.50 2.50 0.1 CP5220 A

TD16-160 1.60 2.50 0.1 CP5220 A

TD16-185 1.85 2.50 0.1 CP5220 A

TD16-200 2.00 2.50 0.1 CP5220 A

TD16-215 2.15 2.70 0.2 CP5220 A

N\ TD16-250 250 250 0.2 CP5220 A

‘ TD16-265 2.65 2.70 0.2 CP5220 2

TD16-300 3.00 2.80 0.2 CP5220 A

TD16-315 3.15 3.00 0.2 CP5220 A

TD16-320 3.20 3.00 0.2 CP5220 A
= AEBER AE =it R O#af‘u BAgFE
Notice: A Excellent (Instock) AGood (Instock) OOn Request

>< DEREK

Double-edged Mill

S S SE RN R RSP
Aluminum F Mill

Indexable Mill

FI R




GDG SDG

GDC Indexable Side Cutter For Slotting SDC Indexable Side Cutter For Slotting
GDC &5t T] SDC &AMk

di

d2

]

ﬁ —
i

d |

=11
di

- Tmax

Tmax

i b

s T 7] THI2ET HERRF == 15 T TR THEEET KBERERF HE=E
Specification Teeth D b L Tmax Insert Insert screw  Wrench  Weight Specification Teeth D b L Tmax Insert Insert screw  Wrench Weight
GDC- 80-04B-22 10 80 22 45 28 4 40 16.5 SNFH1125 MO030D035-90 Q08B 0.50 SDC- 63-04B-22 8 63 22 34 4 8 12 SNFH1125 MO030D035-90 Q08B 0.27
80-05B-22 10 80 22 45 28 5 40 16.5 SNFH1135 MO30D043-90 QO8B 0.50 63-05B-22 8 63 22 34 5 8 12 SNFH1135 MO030D043-90 QO8B 0.28
80-06B-22 8 80 22 45 28 6 40 16.5 SNFH1235 M040D050-90 Q15B 0.55 63-06B-22 6 63 22 34 6 8 12 SNFH1235 MO040D050-90 Q15B 0.28
80-07B-22 9 80 22 45 28 7 40 16.5 SNFH1235 MO040D050-90 Q15B 0.57 80-04B-22 10 80 22 34 4 8 19 SNFH1125 MO030D035-90 Q08B 0.31
80-08B-22 9 80 22 45 28 8 40 16.5 SNFH1235 M040D050-90 Q15B 0.70 80-05B-22 10 80 22 34 5 8 19 SNFH1135 MO030D043-90 QO8B 0.44
e 80-09B-22 8 80 22 45 28 9 40 16.5 SNFH1255 MO040D082-90 Q15B 0.60 80-06B-22 8 80 22 34 6 8 19 SNFH1235 M040D050-90 Q15B 0.35 =
7% 80-10B-22 8 80 22 45 28 10 40 16.5 SNFH1255 M040D082-90 Q158  0.62 100-04B-27 12 100 27 41 4 12 25 SNFH1125 MO030D035-90 Q08B  0.38 7%
”%j 80-12B-22 8 80 22 45 28 12 40 16.5 SNFH1275 MO040D110-90 Q15B 0.66 100-05B-27 12 100 27 41 5 12 25 SNFH1135 MO030D043-90 Q08B 0.44 %j
& 80-14B-22 9 80 22 45 28 14 40 16.5 SNFH1275 MO040D110-90 Q158  0.70 100-06B-27 10 100 27 41 6 12 25 SNFH1235 MO040D050-90 Q15B  0.46 *
100-04B-27 12 100 27 50 34 4 40 24 SNFH1125 MO30D035-90 Q08B 0.67 100-08B-27 9 100 27 41 8 12 25 SNFH1235 MO040D050-90 QI15B 0.54
N 100-05B-27 12 100 27 50 34 5 40 24 SNFH1135 MO030D043-90 QO8B 0.70 100-10B-27 10 100 27 41 10 12 25 SNFH1255 MO040D082-90 QIl5B 0.65 B
%“f 100-06B-27 10 100 27 50 34 6 40 24 SNFH1235 MO040D050-90 Q15B 0.73 100-12B-27 10 100 27 41 12 12 25 SNFH1275 M040D110-90 Q15B 0.75 %ﬂf
R 100-07B-27 9 100 27 50 34 7 40 24 SNFH1235 MO040D050-90 Q15B  0.76 125-06B-32 12 125 32 47 6 12 35 SNFH1235 MO040D050-90 Q15B  0.69 e
%5 100-08B-27 9 100 27 50 34 8 40 24 SNFH1235 MO040D050-90 Q15B 0.80 125-08B-32 12 125 32 47 8 12 35 SNFH1235 MO040D050-90 QIl5B 0.81 %E
% 100-09B-27 10 100 27 50 34 9 40 24 SNFH1255 MO040D082-90 Q15B  0.84 125-10B-32 12 125 32 47 10 12 35 SNFH1255 MO040D082-90 Q15B  0.94 S
\ 100-10B-27 10 100 27 50 34 10 40 24 SNFH1255 MO040D082-90 Q15B  0.88 125-12B-32 12 125 32 47 12 12 35 SNFH1275 MO040D110-90 Q15B  1.05 -
a: 100-12B-27 10 100 27 50 34 12 40 24 SNFH1275 MO040D110-90 Q15B  0.92 125-14B-32 12 125 32 47 14 12 35 SNFH1275 MO040D110-90 Q15B  1.20 ik
&3 100-14B-27 9 100 27 50 34 14 40 24 SNFH1275 MO040D110-90 Q15B 0.98 160-06B-40 16 160 40 55 6 12 49 SNFH1235 MO040D050-90 QI15B 1.04 %Itf
i 125-04B-32 14 125 32 70 43 4 45 26.5 SNFH1125 MO30D035-90 QOS8B 1.30 160-08B-40 15 160 40 55 8 12 49 SNFH1235 MO040D050-90 Q15B  1.28 7
\’K 125-05B-32 14 125 32 70 43 5 45 26.5 SNFH1135 MO030D043-90 QOS8B 1.40 160-10B-40 16 160 40 55 10 12 49 SNFH1255 MO040D082-90 Q15B  1.50 "
o 125-06B-32 12 125 32 70 43 6 45 26.5 SNFH1235 MO040D050-90 Q15B 1.45 160-12B-40 16 160 40 55 12 12 49 SNFH1275 MO040D110-90 Q15B  1.70 -
%3 125-07B-32 12 125 32 70 43 7 45 26.5 SNFH1235 MO040D050-90 Q15B 1.50 160-14B-40 15 160 40 55 14 12 49 SNFH1275 MO040D110-90 Q15B  1.90 s
7 125-08B-32 12 125 32 70 43 8 45 26.5 SNFH1235 MO040D050-90 Q15B 1.55 i& F Suitable: &% 71 & DEREK Insert 7
© 125-09B-32 12 125 32 70 43 9 45 26.5 SNFH1255 MO040D082-90 Q15B 1.60 5
125-10B-32 12 125 32 70 43 10 45 26.5 SNFH1255 MO040D082-90 Q15B 1.65
gé 125-12B-32 12 125 32 70 43 12 45 26.5 SNFH1275 MO040D110-90 Q15B 1.75 gf
firs 125-14B-32 12 125 32 70 43 14 45 26.5 SNFH1275 MO040D110-90 Q15B 1.85 {z;
EE 160-06B-40 16 160 40 80 52 6 50 39 SNFH1235 MO040D050-90 Q15B 2.60 g{g
% 160-07B-40 15 160 40 80 52 7 50 39 SNFH1235 MO040D050-90 Q15B 2.80 7]
160-08B-40 15 160 40 80 52 8 50 39 SNFH1235 MO040D050-90 Q15B 3.00
e 160-09B-40 16 160 40 80 52 9 50 39 SNFH1255 M040D082-90 Q15B 3.20 s
] 160-10B-40 16 160 40 80 52 10 50 39 SNFH1255 MO040D082-90 Q15B 3.40 Bt3
7 160-12B-40 16 160 40 80 52 12 50 39 SNFH1275 MO040D110-90 Q15B 3.60 7
160-14B-40 15 160 40 80 52 14 50 39 SNFH1275 MO040D110-90 Q15B 3.80
i& A Suitable:#&3z 71 /iy DEREK Insert

»< DEREK »< DEREK




CDG WDG

CDC Indexable Side Cutter For Slotting WDC Indexable Side Cutter For Slotting
CDC &5 MEET] WDC &5t 7]
=] L
\_ =]
A \
D = el S
g () S
= ==
il = Cluild s
b -

BS ¥ Tk THEBE]  ERERTF BB 8BS JI% Tk TR 24T ERRF =S8

Specification  Teeth D d b Tmax Insert Insert screw ~ Wrench ~ Weight Specification Teeth D b Insert Insert screw Wrench  Weight

CDC- 80-06B-22 8 80 22 45 18 6 40 16.5 SPMT050204 M020W050 QO6R 0.68 WDC- 80-06B-22 8 80 22 34 6 12 19 SPMT050204 MO20WO050 QO6R 0.29

80-07B-22 8 80 22 45 18 7 40 16.5 SPMT050204 MO020W050 QO6R 0.70 80-07B-22 8 80 22 34 7 12 19 SPMT050204 MO020W050 QO6R 0.30

80-08B-22 8 80 22 45 18 8 40 16.5 SPMT060204 M022W050 QO06R 0.73 80-08B-22 8 80 22 34 8 12 19 SPMT060204 MO022W050 QO6R 0.32

80-09B-22 8 80 22 45 18 9 40 16.5 SPMT060204 M022W050 QO6R 0.75 80-09B-22 8 80 22 34 9 12 19 SPMT060204 M022W050 QO6R 0.35

80-10B-22 8 80 22 45 18 10 40 16.5 SPMT060204 M022W050 QO06R 0.80 80-10B-22 8 80 22 34 10 12 19 SPMT060204 MO022W050 QO6R 0.38
e 80-11B-22 8 80 22 45 18 11 40 16.5 SPMT07T308 MO025W060 QO6R 0.85 80-11B-22 8 80 22 34 11 12 19 SPMTO7T308 M025W060 Q08B 0.39 =
7% 80-12B-22 8 80 22 45 18 12 40 16.5 SPMT07T308 M025W060 QO06R 0.90 80-12B-22 8 80 22 34 12 12 19 SPMT07T308 MO025W060 Q08B 0.42 7%
”%j 100-06B-27 10 100 27 50 19 6 40 24 SPMT050204 MO020W050 QO6R 0.90 100-06B-27 10 100 27 41 6 12 25 SPMT050204 M020WO050 QO6R 0.50 %j
3 100-07B-27 10 100 27 50 19 7 40 24 SPMT050204 MO20W050 QO06R 0.93 100-07B-27 10 100 27 41 7 12 25 SPMT050204 MO020W050 QO6R 0.52 *

100-08B-27 10 100 27 50 19 8 40 24 SPMT060204 M022W050 QO6R 0.96 100-08B-27 10 100 27 41 8 12 25 SPMT060204 M022WO050 QO6R 0.54
X 100-09B-27 10 100 27 50 19 9 40 24 SPMT060204 MO22W050 QO06R 1.00 100-09B-27 10 100 27 41 9 12 25 SPMT060204 MO022W050 QO6R 0.60 .
%}5 100-10B-27 10 100 27 50 19 10 40 24 SPMT060204 M022W050 QO6R 1.03 100-10B-27 10 100 27 41 10 12 25 SPMT060204 M025W060 Q08B 0.65 %F
e 100-11B-27 10 100 27 50 19 11 40 24 SPMT07T308 M025W060 Q08B 1.05 100-11B-27 10 100 27 41 11 12 25 SPMTO7T308 MO025W060 Q08B 0.70 e
%5 100-12B-27 10 100 27 50 19 12 40 24 SPMTO7T308 MO025W060 Q08B 1.10 100-12B-27 10 100 27 41 12 12 25 SPMTO7T308 MO025W060 Q08B 0.75 %E
* 100-14B-27 10 100 27 50 19 14 40 24 SPMT090408 M035W090 Q158 1.30 100-14B-27 10 100 27 41 14 16 25 SPMT090408 MO035W090 Q158 0.85 *
N 100-16B-27 10 100 27 50 19 16 40 24 SPMT090408 MO035W090 Q15B 1.50 100-16B-27 10 100 27 41 16 16 25 SPMT090408 MO035W090 Q15B 0.88 B
a: 125-06B-32 12 125 32 70 43 6 45 26.5 SPMT050204 MO20W050 QO6R 1.50 125-06B-32 12 125 32 47 6 12 35 SPMT050204 MO020W050 QO6R 0.70 s
firs 125-07B-32 12 125 32 70 43 7 45 26.5 SPMT050204 M020W050 QO6R 1.55 125-07B-32 12 125 32 47 7 12 35 SPMT050204 MO020W050 QO6R 0.75 fir &
L 125-08B-32 12 125 32 70 43 8 45 26.5 SPMT060204 MO022W050 QO6R 1.60 125-08B-32 12 125 32 47 8 12 35 SPMT060204  MO022WO050 QO6R 0.80 %
\’K 125-10B-32 12 125 32 70 43 10 45 26.5 SPMT060204 M022W050 QO6R 1.70 125-10B-32 12 125 32 47 10 12 35 SPMT060204 MO022W050 QO6R 0.88 7
o 125-11B-32 12 125 32 70 43 11 45 26.5 SPMT07T308 M025W060 Q08B 1.70 125-11B-32 12 125 32 47 11 12 35 SPMT07T308 MO025W060 Q08B 0.93 -
S 125-12B-32 12 125 32 70 43 12 45 26.5 SPMTO7T308 M025W060 Q08B 1.70 125-12B-32 12 125 32 47 12 12 35 SPMTO07T308 MO025W060 Q08B 0.98 a3
7 125-14B-32 12 125 32 70 43 14 45 26.5 SPMT090408 MO35W090 Q158 1.75 125-14B-32 12 125 32 47 14 16 35 SPMT090408 MO035W090 Q158 1.00 7T
° 125-16B-32 12 125 32 70 43 16 45 26.5 SPMT090408 MO035W090 Q15B 1.80 125-16B-32 12 125 32 47 16 16 35 SPMT090408 MO035W090 Q15B 1.18 5

125-18B-32 10 125 32 70 43 18 45 26.5 SPMT110408 MO040W090 Q158 1.85 125-18B-32 10 125 32 47 18 20 35 SPMT110408 MO040W090 Q158 1.30
gé 125-20B-32 10 125 32 70 43 20 45 26.5 SPMT110408 MO040WO090 Q15B 2.00 125-20B-32 10 125 32 47 20 20 35 SPMT110408 M040W090 Q15B 1.45 ,;f
fir 125-25B-32 10 125 32 70 43 25 45 26.5 SPMT140512 MO50Y110-1  Q20B 2.50 125-25B-32 10 125 32 47 25 25 35 SPMT140512 MO50Y110-1 Q20B 1.70 firs
EE 160-11B-40 16 160 40 80 52 11 50 39 SPMTO7T308 MO025W060 Q08B 2.60 160-11B-40 16 160 40 55 11 12 49 SPMT07T308 M025W060 Q08B 1.65 ?7{3
J] 160-12B-40 16 160 40 80 52 12 50 39 SPMTO7T308 MO25W060 Q08B 2.70 160-12B-40 16 160 40 55 12 12 49 SPMTO7T308 MO025WO060 Q08B 1.70 7]

160-14B-40 16 160 40 80 52 14 50 39 SPMT090408 MO35W090 Q15B 2.80 160-14B-40 16 160 40 55 14 16 49 SPMT090408 MO035W090 Q15B 1.85
s 160-16B-40 16 160 40 80 52 16 50 39 SPMT090408 MO35W090 Q158 2.90 160-16B-40 16 160 40 55 16 16 49 SPMT090408 MO035W090 Q158B 2.10 s
%3 160-18B-40 12 160 40 80 52 18 50 39 SPMT110408 MO040W090 Q15B 2.90 160-18B-40 12 160 40 55 18 20 49 SPMT110408 MO040W090 Q158B 2.50 %3
7 160-20B-40 12 160 40 80 52 20 50 39 SPMT110408 MO040W090 Q15B 3.20 160-20B-40 12 160 40 55 20 20 49 SPMT110408 MO040W090 Q158B 2.80 7

160-25B-40 12 160 40 80 52 25 50 39 SPMT140512 MO50Y110-1  Q20B 3.50 160-25B-40 12 160 40 55 25 25 49 SPMT140512 MO050Y110-1 Q208 3.00

200-14B-40 18 200 40 90 52 14 50 54 SPMT090408 MO035W090 Q15B 4.20 200-14B-40 18 200 40 55 14 16 69 SPMT090408 MO035W090 Q15B 3.00

200-16B-40 18 200 40 90 52 16 50 54 SPMT090408 MO035W090 Q15B 4.50 200-16B-40 18 200 40 55 16 16 69 SPMT090408 MO035W090 Q15B 3.20

200-18B-40 14 200 40 90 52 18 50 54 SPMT110408 MO040W090 Q15B 4.90 200-18B-40 14 200 40 55 18 20 69 SPMT110408 MO040W090 Q15B 3.60

200-20B-40 14 200 40 90 52 20 50 54 SPMT110408 MO040W090 Q15B 5.20 200-20B-40 14 200 40 55 20 20 69 SPMT110408 M040W090 Q15B 4.10

200-25B-40 14 200 40 90 52 25 50 54 SPMT140512 MO50Y110-1 Q20B 5.50 200-25B-40 14 200 40 55 25 25 69 SPMT140512 MO50Y110-1 Q20B 4.60

i& A Suitable:{&5 71 i DEREK Insert i& A Suitable: &5z 71 5 DEREK Insert

>< DEREK »< DEREK




Type M

MCLNR/L

s il T F iR 22 JEHR JEHRIE 22
Specification H F Insert Shim Center screw ~ Clamp  Clamp screw
MCLNR/L 1616H12 16 16 CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
2020K12 20 20 125 25 CN..1204.. MC1204 CTmM617 HL1814 ML0O625 L025,L03
2525M12 25 25 150 32 CN..1204.. MC1204 CTM617 HL1814 ML0O625 L025,L03
3232P12 32 32 170 40 CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
i& A Suitable:f£% 71 /i DEREK Insert

MCBNR/L

oS

External turning tool

SR
Internal turning tool

S

Threading tool

Grooving tool

SRS

s R TIE R iR 22 JEHR JER R 22 wF
Specification F Insert Shim Centerscrew  Clamp  Clamp screw  Wrench

MCBNR/L 2020K12 20 20 125 17 CN..1204.. MC1204 CTMel17 HL1814 MLO625 L025,L03
2525M12 25 25 150 22 CN..1204.. MC1204 CTM617 HL1814 MLO625 L025,L03
3232P12 32 32 170 27 CN..1204.. MC1204 CTM617 HL1814 MLO625 L025,L03
3232P16 32 32 170 27 CN..1606.. MC1604 CTM822 HL2217 MLO830  L03,L04
3232P19 32 32 170 27 CN..1906.. MC1904 CTM1022 HL2217 MLO830 LO4

i& F Suitable: &35 71 /i DEREK Insert

»< DEREK




Type M Type M

MCKNR/L MCSNR/L

I Zmia

Bs

Z=ia

BS Tk E - quhiEzZ ER O EWEEZ lRF

Specification F Insert Shim Centerscrew ~ Clamp  Clamp screw  Wrench

=5 Nk
Specification F Insert
MCSNR/L 2525M12 25 25 150 32 CN..1204..

I8
Shim

MC1204

[ VRY: -2
Center screw

CTM617

EHR
Clamp

HL1814

[ERiE L

"F

Clamp screw  Wrench

ML0625

L025,L03

MCKNR/L 2020K12 20 20 125 25 . .. MC1204 CTM617 HL1814 MLO625 L025,L03
2525M12 25 25 150 32 CN..1204.. MC1204 CTMe17 HL1814 ML0625 L025,L03
3232P12 32 32 170 40 CN..1204.. MC1204 CTMe17 HL1814 ML0O625 L025,L03
3232P16 32 32 170 40 CN..1606.. MC1604 CTMmM822 HL2217 MLO830 L03,L04
3232P19 32 32 170 40 CN..1906.. MC1904 CTM1022 HL2217 MLO830 LO4

i& F Suitable: &35 71 & DEREK Insert

i& F Suitable:f&52 71 i DEREK Insert

MCGNR/L MCMNN

SHES

External turning tool

SRS

Internal turning tool

)91" L

S

Threading tool

zZia

s iba TE allny: 34 JEHR R R F
Specification Insert Shim Centerscrew ~ Clamp  Clamp screw ~ Wrench

Grooving tool

SIS PR S

SHES

External turning tool

SRS

Internal turning tool

S S

Threading tool

Grooving tool

SIS R B S

L= A DIk g 22 JER JEtRiE 22 RF

MCGNR/L 2020K12 20 20 125 25 CN..1204.. MC1204 CTM617 HL1814 MLO625 L025,L03 Specification H F Insert Shim Center screw ~ Clamp  Clamp screw  Wrench
2525M12 25 25 150 32 CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 MCMNN 2020K12 20 20 125 10 CN..1204.. MC1204 CTMe17 HL1814 ML0625 L025,L03

i _3232P1,i 32 32 170 40 CN..1204.. MC1204 CTM617 HL1814 MLO625 L025,L03 2525M12 25 25 150 12.5 CN..1204.. MC1204 CTMel7 HL1814 ML0625 L025,L03
i& F Suitable: #5271 /5 DEREK Insert 3232P12 32 32 170 16 CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
2525M16 25 25 150 12.5 CN..1606.. MC1604 CTM822 HL2217 MLO830 LO3,L04

3232P19 32 32 170 16 CN..1906.. MC1904 CTM1022 HL2217 ML0O830 LO4

i& A Suitable:f& 5 71 i DEREK Insert

»< DEREK F3 DEREK




Type M Type M

MCMNN-100 MDPNN

Zzie

I ==ia

s bibay DaE: iR 22 [EHR JEHRiR 2 wF
Specification H F Insert Shim  Centerscrew  Clamp  Clamp screw ~ Wrench mME B kS 842 TER JEAR S 22 WEF
MCMNN 2020K12-100 20 20 125 10 CN..1204.. MC1204 CTM617 HL1814  ML0625 L025,L03 Specification F Insert Shim  Centerscrew  Clamp  Clamp screw  Wrench
2525M12-100 25 25 150 12.5 CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 MDPNN 1616H11 16 16 100 8 DN..1104.. MD1103 CTM513 HL2114 MLO625 L02,L03
i& A Suitable:{&52 71 DEREK Insert 2020K11 20 20 125 10 DN..1104.. MD1103 CTM513 HL2114 MLO625 L02,L03

2525M11 25 25 150 12.5 DN..1104.. MD1103 CTM513 HL2114 ML0625 02,003
2020K15 20 20 125 10 DN..1504.. MD1506 CTM619 HL2114 MLO625 L025,L03
2595M15 25 25 150 12.5 CTM619  HL2114  ML0625 L025,L03
3232P15 32 32 170 16 DN..1506.. MD1504  (cTME19  HL2114 ML0625 L025,L03

i& A Suitable:#&52 71/ DEREK Insert

MDJNR/L MDONR/L
58
72 + 73
o 17.5° © ‘ L
- 2 ® /S :
(@) B L -

23 93° L 23
nE -6°? J 7 E

& -

\ IS g & =

e i \ Y O
;% s Nk Pk 822 JEtR JETR I8 22 wF %

FiI =] TE TIE thil g4 ER FiRE s IRE Specification H Insert Shim Centerscrew  Clamp  Clamp screw  Wrench

Specification H F Insert Shim  Centerscrew ~ Clamp  Clamp screw  Wrench MDQNR/L 1616H11 16 16 100 20 DN..1104.. MD1103 CTM513  HL1814  ML0625  L02,L03

MDJNR/L 1616H11 16 16 100 20 DN..1104.. MD1103 CTM513  HL2114  ML0625  L02,L03 2020K11 20 20 125 25 DN..1104.. MD1103 CTM513  HL1814  ML0625  L02,L03

2020K11 20 20 125 25 DN..1104.. MD1103 CTM513  HL2114  ML0625  L02,L03 2505M11 25 25 150 32 DN..1104.. MD1103 CTM513  HL1814  ML0625  L02,L03

2525M11 25 25 150 32 DN..1104.. MD1103 CTM513  HL2114  ML0625  L02,L03 202015 20 20 125 25 [N 1504,  MD150s  CIM619  HL2114  ML0625 L025,L03

2020K15 20 20 125 25 pN._1504. MD1506 CTM619  HL2114  ML0625 L025,L03 2525M15 25 25 150 32 CTM619  HL2114  ML0625 025,03

2525M15 25 25 150 32 CTM619  HL2114  ML0625 L025,L03 3232P15 32 32 170 40 DN..1506.. MD1504  CTM619  HL2114  ML0625 L0O25,L03

3232P15 32 32 170 40 DN..1506.. MD1504  (Tme19  HL2114  ML0625 L025,L03 i& fA Suitable: &% 71 B DEREK Insert

i& i Suitable:f&=752 71 i DEREK Insert

>< DEREK »< DEREK




S ES

External turning tool

SHEH

Internal turning tool

SIS

Threading tool

SIS PR S

ooving tool

Gre

Type M

MSBNR/L

Type M

MSKNR/L

BS R Dk iR 22 JEHR JER R 22 IwF
i E=] Wik g2 EH JEHRIEZ RE Specification H F Insert Shim  Centerscrew ~ Clamp  Clamp screw  Wrench
Specification H F Insert Shim  Centerscrew ~ Clamp  Clamp screw ~ Wrench MSKNR/L 2020K12 20 20 125 25 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03
MSBNR/L 2020K12 22 22 125 17 SN..1204.. MS1204 CTM617 HL1814  ML0625 L025,.03 2525M12 25 25 150 32 SN..1204.. MS1204 CTM617 HL1814  ML0625 L025,L03
2525M12 25 25 150 22 SN..1204.. MS1204 CTM617 HL1814 ML0625 LO025,L03 3232P12 32 32 170 40 SN..1204.. MS1204 CTM617 HL1814  ML0625 L025,L03
3232P12 32 32 170 27 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03 2525M15 25 25 150 32 SN..1506.. MS1504 CTM822 HL2217 MLO830 L03,L04
2505M15 25 25 150 22 SN..1506.. MS1504 CTM822 HL2217 MLO830 LO3,L04 3232P19 32 32 170 40 SN..1906.. MS1904 CTM1022 HL2217  ML0830 L04
3232P15 32 32 170 27 SN..1506.. MS1504 CTM822 HL2217 ML0830 L03,L04 i& A Suitable: &5 71 i DEREK Insert
3232P19 32 32 170 27 SN..1906.. MS1904 CTM1022 HL2217  MLO830 L04
4040R19 40 40 200 35 SN..1906.. MS1904 CTM1022 HL2217  ML0830 L04

i& F Suitable: #8352 71 /i DEREK Insert

MSDNN

MSSNR/L

SHES

External turning tool

SRS

Internal turning tool

S

Threading tool

SIS R B S

as A nE Bz iR ERBZ O RTF BS TE qubigz F ERIEZ RTF
Specification H F Insert Shim  Centerscrew ~ Clamp  Clamp screw  Wrench Specification H Insert Shim  Centerscrew  Clamp  Clamp screw  Wrench
MSDNN 1616H12 16 16 100 8 SN..1204. MS1204 CTM6l/  HL1814  ML0625 L025,L03 MSSNR/L 1616H12 16 16 100 20 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03
2020k12 20 20 125 10 SN..1204.. MS1204 CTM6l7  HL1814  MLO625 L025,L03 2020K12 20 20 125 25 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03
2525M12 25 25 150 12.5 SN..1204.. MS1204 CTMel7  HL1814  MLO625 L025,L03 2525M12 25 25 150 32 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03
3232P12 32 32 170 16 SN..1204.. MS1204 CTM822 HL2217  ML0625 L025,.03 3232P12 32 32 170 40 SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,03
2525M15 25 25 150 12.5 SN..1506.. MS1504 CTM822  HL2217 MLO830 LO3,L04 2525M15 25 25 150 32 SN..1506.. MS1504 CTM822 HL2217 ML0830 L03,L04

3232P15 32 32 170 16 SN..1506.. MS1504 CTM1022 HL2217 MLO830 L03,L04 3232P19 32 32 170 40 SN..1906.. MS1904 CTM1022 HL2217 MLOS830 LO4

3232P19 32 32 170 16 SN..1906.. MS1904 CTM1022 HL2217  MLO0830 L04

Grooving tool

i& i Suitable:f&52 J1 iy DEREK Insert

i& A Suitable:f&5E 71 i DEREK Insert

»< DEREK »< DEREK




Type M Type M

MTENN MTFNR/L

_\30°
““¢ o w o1 o
N/30°
L - L -
Al A '100% AllA -6%
capall - : asia : .
Y
Y
S Nk Dk [ VRY: 2 JEHR JEiRig 22 WF BS il iR 22 ER JEHRIE 22 RF
Specification H F Insert Shim Centerscrew  Clamp  Clamp screw  Wrench Specification H Insert Center screw  Clamp  Clamp screw  Wrench
MTENN 2020K16 20 20 125 10 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03 MTFNR/L 1616H16 16 16 100 20 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03
2525M16 25 25 150 12.5 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03 2020K16 20 20 125 25 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03
3232P16 32 32 170 16 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03 2525M16 25 25 150 32 TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03
2525M22 25 25 150 12.5 TN..2204.. MT2204 CTM617 HL1917 MLO830 L025,L04 i& i Suitable:#E355 J1 | DEREK Insert
3232P22 32 32 170 16 TN..2204.. MT2204 CTM617 HL1917 MLO830 L025,L04
i& A Suitable: &3 71 i DEREK Insert
MTGNR/L
MTJNR/L
e 53
Bl = =
EE £t
Ilg A Ilg
3 W :O) - &
h Y _
o ' A M
e 4/‘ o e
L . 67
923 @ = :ﬁ T 983
$§ -6° Y ig
TE p TE
oo falll - -
Y Y
g s il kS 222 JER JEHR R 22 IF e
¢ Specification H Insert Shim Center screw  Clamp  Clamp screw  Wrench ¢
*E e ! MTGNR/L 1616H16 16 16 100 20 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03 *E
7 < %1? : lﬂﬁ g?]ﬂ CEF'L‘!‘%% Cili*fi Cllﬂﬁﬂt%’%% V\fﬁﬂ 2020K16 20 20 125 25 TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 7
pecification F nsert im  Centerscrew  Clamp  Clamp screw  Wrenc 2525M16 25 25 150 32 TN..1604. MT1603 CTM513 HL1814 ML0625  L02,L03

MTJNR/L 1616K16 16 16 100 20 TN..1604.. MT1603 CTM513 HL1814  ML0625  L02,L03 & F Suitable: &% 71 B DEREK Insert
2020K16 20 20 125 25 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03
2525M16 25 25 150 32 TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03
3232P16 32 32 170 40 TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03
2525M22 25 25 150 32 TN..2204.. MT2204 CTMel17 HL1917 MLO830 L025,L04
3232P22 32 32 170 40 TN..2204.. MT2204 CTM617 HL1917 MLO830 L025,L04
i& F Suitable:# &5 71 /5 DEREK Insert

»< DEREK »< DEREK




Type M Type M

MTQNR/L MVONR/L

105°

05° L

aala

S Tk kel B2 EiR EREZ . RTF

Specification H Insert Shim Centerscrew  Clamp  Clamp screw ~ Wrench

e TR N Bz FiE EEEZ ET
2525M16 25 25 150 32 TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 Specification s Shim _ Center screw  Clamp  Clamp screw  Wrench
3232P16 32 32 170 40 TN..1604.. MT1603 CTM513 HL1814 MLO625 L02,L03 MVQNR/L 2020K16 20 20 125 25 VN..1604.. MV1603 CTM513 HL2114  ML0625 L02,L03

2525M22 25 25 150 32 TN..2204.. MT2204 CMT617 HL1917 MLO830 L025,L04 2525M16 25 25 150 32 WVN..1604.. Mv1603 CTM513 HL2114  MLO625  L02,L03
3232P22 32 32 170 40 TN..2204.. MT2204 CMT617 HL1917 MLO830 L025,L04 i& A Suitable: &5 71 i DEREK Insert

i& F Suitable:# 5 71 /i DEREK Insert

MTQONR/L 2020K16 20 20 125 25 TN..1604.. MT1603 CTM513 HL1814  ML0625 L02,L03

MVJINR/L
MVUNR/L
58 EE
B B
f:‘ L O m $r<—3° %
2 ] - ©
%é L1 %é
£ -10° L 2
g & .

7z i '
gz 5° 5 @
E S iy T8 allRY: 37 JEHR JEtRIE 22 I F e
e Specification H F Insert Shim Centerscrew ~ Clamp  Clamp screw ~ Wrench iz
w° MVJNR/L 1616K16 16 16 100 20 VN..1604.. MV1603 CTM513 HL2414  ML0625  L02,L04 - %‘? 0] 7R dulge R ERBZ RTF "
5 2020K16 20 20 125 25 VN.1604. MV1603 CTM513 HL2414  ML0O625  L02,L04 pecification e Sl Cenirseren Gemy Gk seiy i 7

2525M16 25 25 150 32 VN..1604.. MV1603 CTM513 HL2414 ML0625 L02,L04 MVUNR/L 2020K16 20 20 125 100 31 VN..1604.. MV1603 CTM513 HL1814 ML0625 L0O2,L03

3232P16 32 32 170 40 VN..1604.. MV1603 CTM513 HL2414 ML0625 L02,L04 2525M16 25 25 150 120 36 VN..1604.. MV1603 CTM513 HL1814 ML0625 L02,L03

i& i Suitable:f&=52 71 i DEREK Insert i& F Suitable:# &5 71 /5 DEREK Insert

»< DEREK 53 DEREK




Type M Type W

MVVNN WTJINR/L

-=ia

s TR E duhiEZ FR O EWEZ lRF

satelc] -+ Emm—

s Tk NE iz ER O EiREEZ2 CEIR IRTF

Specification H F Insert Shim Center screw ~ Clamp  Clamp screw  Wrench
MVVNN 2020K16 20 20 125 10 VN..1604.. MV1603 CTM513  HL2414  ML0625 L02,L04 Specification H F Insert Shim  Centerscrew Clamp Clamp screw CRing Wrench

fgjgm‘ %g gg %?8 11265 m}ggj m%ggg gmgg :tgﬁj Mtgggg tggtgj WTJNR/L 1616K16 16 16 100 20 TN..1604.. MT16-S CTM5-S WT16  WTCW  KH540 L025.04
i& F Suitable:#&3 71 & DEREK Insert . ’ 2020K16 20 20 125 25 TN..1604.. MT16-S CTM5-S WT16  WTCW  KH540 L025.104
1= 255M16 25 25 150 32 TN..1604.. MT16-S CTM5-S  WTL6  WTCW  KH540 L025.04
3232P16 32 32 170 40 TN..1604.. MT16-S CTM5-S WTL6  WTCW  KH540 L025104
i& A Suitable: {23 71 i DEREK Insert

MWLNR/L

WTQNR/L

SHES

External turning tool

SHES

External turning tool

S
F
©
B
S

Internal turning tool

Internal turning tool

S
Threading tool
S

Threading tool

2ate

I sajeic I

Grooving tool
Grooving tool

1] 1]
B B
7 GilE= TIE NE® dupigZ FE O EWEZ KT 7
%j Specification F Insert Shim  Centerscrew  Clamp  Clamp screw  Wrench . g%% , lﬂH‘ SJE]E EFIL‘.\E?;% Cllﬂii Clliff}iﬂ?;ﬁ %%2% Wabi¥h %f
MWLNR/L 1616H06 16 16 100 20 WN..0604.. MW0603 CTM513 HL1814 ML0625  L02,L03 pecification H F nsert im enter screw amp Clamp screw ing renc
2020K06 20 20 125 25 WN..0604.. MWO0603 CTM513 HL1814 MLO625  L02,L03 WTQNR/L 2020K16 20 20 125 25 TN..1604.. MT16-S CTM5-S  WT16 WTCW  KH540 L025,L04
2525M06 25 25 150 32 WN..0604.. MWO0603 CTM513 HL1814 ML0625  L02,L03 2525M16 25 25 150 32 TN..1604.. MT16-S  CTM5-S WT16  WTCW  KH540 L025,L04
1616H08 16 16 100 20 WN..0804.. MWO0804 CTM617 HL1814 MLO625 L025,L03 i& F Suitable: &35z 71 5 DEREK Insert

2020k08 20 20 125 25 WN..0804.. MWO0804 CTMm617 HL1814 MLO625 L025,L03

2525M08 25 25 150 32 WN..0804.. MWO0804 CTM617 HL1814 MLO625 L025,L03

3232P08 32 32 170 40 WN..0804.. MWO0804 CTM617 HL1814 ML0625 L025,L03

4040R08 40 40 200 50 WN..0804.. MWO0804 CTM617 HL1814 MLO625 L025,L03
i& A Suitable:f&5 71 i DEREK Insert

>< DEREK 53 DEREK




SRS S ES
Internal turning tool External turning tool

S

Threading tool

Grooving tool

SIS R ER S

Type W

WTENN

mt(@w | m
sajeicl ¢ I

S TR DAk 22 R EREEZ  CRUER  IRF

Specification H F Insert Shim Center screw Clamp Clamp screw  CRing  Wrench
WTENN 2020K16 20 20 125 10 TN..1604.. MT16-S CTM5-S  WTI16 WTCW KH540 L025,L04
2525M16 25 25 150 12.5 TN..1604.. MT16-S CTM5-S WT16 WTCW KH540 L025,L04

i& A Suitable: #2352 71 /i DEREK Insert

WWLNR/L

saielcl

S TR E - duhBZ2 EiR EiREZ2 CER RTF

Specification H F Insert Shim  Center screw Clamp Clamp screw CRing  Wrench

WWLNR/L 2020K08 20 20 125 25 WN..0804.. WWO0S8 CTM6-S  YWO0S8 WTCW KH540 LO03,L04
2525M08 25 25 150 32 WN..0804.. WWO08 CTM6-S  YWO08 WTCW KH540 LO03,L04
3232P08 32 32 170 40 WN..0804.. WWO08 CTM6-S  YWO08 WTCW KH540 LO03,L04

i& F Suitable: &%z 71 i DEREK Insert

>< DEREK

Type S

SCACR/L

S Nk
Specification Insert Wrench

SCACR/L 1010H06 10 10 70 10 CC..0602.. Q08
1212H06 12 12 80 12 CC..0602.. M2.5*6 Q08
1212H09 12 12 80 12 CC..09T3.. M3.5*9 Q15

i& F Suitable: #3571 /i DEREK Insert

SCBCR/L

SHES

External turning tool

SRS

Internal turning tool

S

Threading tool

Grooving tool

SIS R B S

BS 7]
Specification Insert Wrench
SCBCR/L 1212F09 12 12 100 10 CC..09T3.. M3.5*9 Q15
1616F09 16 16 100 13 CC..09T3.. M3.5*9 Q15
2020K09 20 20 125 17 CC..09T3.. M3.5*9 Q15
2525M09 25 25 150 22 CC..09T3.. M3.5*9 Q15
2020K12 20 20 125 17 CC..1204.. M5*12 020
2525M12 25 25 150 22 CC..1204.. M5*12 020

i& F Suitable: &5 71 5 DEREK Insert

»< DEREK




Type S

SCFCR/L

Type S

SCLCR/L

917

gl— =
RS IF Speciﬁ?ation S Wrench

Specification Insert Wrench

SCLCR/L 1212H09 12 12 80 16 CC..09T3.. M3.5*9 Q15

SCFCR/L 1212F09 1212 80 - Q15 1616H09 16 16 100 20 CC..09T3.. M3.5%9 Q15
1616H09 16 16 100 20 CC..09T73.. M3.5*9 Q15 2020K09 20 20 125 25 CC..09T3.. M3.5*9 015

2020K09 20 20 125 25 CC..09T3.. M3.5*9 Q15 2595M09 5 5 150 32 CC..09T3.. M3.5*9 015

2525M09 25 25 150 32 CC..09T3.. M3.5*9 Q15 1616H12 16 16 100 20 CC..1204.. M5*12 020

2525M12 25 25 150 32 CC..1204.. M5*12 Q20 2020K12 20 20 125 25 CC..1204.. M5*12 020

i& A Suitable:fE5 71 i DEREK Insert 2525M12 25 25 150 32 CC..1204.. M5*12 Q20
3232P12 32 32 170 40 CC..1204.. M5*12 Q20

i& A Suitable:f& 5 J1 /i DEREK Insert

SCKCR/L
SCMCN
58 EIE]
w B 2
xE £E
Ts Ilg
me °E
e fle
%5 £
E Nz
428 LE3]
g ]
3 £ |
712 7E
E CE
2 ) B e
2 iR Specification F Insert Wrench 2
3 Specification . 3

SCMCN 1010F06 10 10 70 5 CC..0602.. M2.5*6 Q08

SCKCR/L 2020K09 20 20 125 25 CC..09T3.. M3.5*9 Q15 1212F06 12 12 80 6 CC..0602.. M2.5*6 Q08

2525M09 25 25 150 32 CC..09T3.. M3.5*9 Q15 1212F09 12 12 80 6 CC..09T3.. M3.5*9 Q15

2020K12 20 20 125 25 CC..1204.. M5*12 020 1616H09 16 16 100 8 CC..09T3.. M3.5*9 Q15

2525M12 25 25 150 32 CC..1204.. M5*12 020 2020K09 20 20 125 10 CC..09T3.. M3.5*9 Q15

i& f Suitable:f&5 J1 i DEREK Insert 2525M09 25 25 150 12.5 CC..09T3.. M3.5*9 Q15

i& A Suitable:f8% 71 i DEREK Insert
»>< DEREK »< DEREK




Type S Type S

SCMCN-100 SDFCR/L

e 715 B B e
Specification F (EIE Specification Insert Wrench
SCMCN 1010F06-100 10 10 70 5 CC..0602.. M2.5°6 Q08 SDFCR/L 1212F07 1> 12 80 16 DC. 0702, M2B*8 008
1212F06-100 12 12 80 6 CC..0602.. M2.5*6 Q08 1616H11 T o SRR I 015
1212F09-100 12 12 80 6 CC..09T3.. M3.5°9 015 2020KA1 50 20 125 25 DC..11T3.. M3.5°9 015
1616H09-100 16 16 100 8 CC..09T3.. M3.5*9 Q15 SE Sl s U D L St :
2020K09-100 20 20 125 10 CC..09T3.. M3.5%9 Q15 =i SIEID IS L 15E
2525M09-100 25 25 150 12.5 CC..09T3.. M3.5*9 Q15

i& A Suitable:f&5E 71 /i DEREK Insert

SDJCR/L
SDACR/L
E] g
B = B
e E
Tz ng
2 R
fle fle
£ EE
Ts 7]:%
[- 3] 028
3 3
TE A
Bs Tk RF
e Specification Insert Wrench e
5 RS T 2 0F SDJCR/L 1212F07 12 12 80 16 DC..0702.. M2.5*8 Q08 £
u Specification Insert Wrench 1616H07 16 16 100 20 DC..0702.. M2.5°8 008 #
7 SDACR/L 1010F07 10 10 70 10 DC..0702.. M2.5*8 Q08 1212F11 12 12 80 16 DC..11T3.. M3.5*9 Q15 7
1212F07 12 12 80 12 DC..0702.. M2.5*8 Q08 1616H11 16 16 100 20 DC..11T3.. M3.5%9 Q15
1212H11 12 12 80 12 DC..11T3.. M3.5*9 015 2020K11 20 20 125 25 DC..11T3.. M3.5*9 Q15
1616H11 16 16 100 16 DC..11T3.. M3.5*9 Q15 2525M11 25 25 150 32 DC..11T3.. M3.5*9 Q15
2020K11 20 20 125 20 DC..11T3.. M3.5*9 Q15 3232P11 32 32 170 40 DC..11T3.. M3.5*9 015
2525M11 25 25 150 25 DC..11T3.. M3.5*9 Q15 i& A Suitable: &5 71 /i DEREK Insert

i& A Suitable:f&5E 71 i DEREK Insert

F3 DEREK 53 DEREK




Type S Type S

SDNCN SRACR/L

S i IwF
- Specification Insert Wrench
SRACR/L 1212F06 12 12 80 12 12.4 ..0602.. Q08
1616H06 16 16 100 12 16.4 RC..0602.. M2.5*8 Q08
2020K06 20 20 125 12 20.4 RC..0602.. M2.5*8 Q08
BS Nk 182 IRF 2
i Wrench 2525M06 25 25 150 12 25.4 RC..0602.. M2.5*8 Q08
Specification L e Sy (1 1616H08 16 16 100 16 165  RC..0803.. M3*8 008
SDNCN 0808F07 8 8 60 4 DC..0702.. M2.5*8 Q08 2020K08 20 20 125 16 20.5 RC..0803.. M3*8 Q08
1010F07 10 10 70 5 DC..0702.. M2.5°8 Q08 2525M08 25 25 150 16 25.5 RC..0803.. M3*8 Q08
1212F07 12 12 80 6 DC..0702.. M2.5"8 Q08 2020K10 20 20 125 20.3 20.4 RC..1003.. M3.5%9 Q15
21201 e D mg-g:g 8}2 2525M10 25 25 150 20.3 25.4  RC..1003.. M3.5%9 Q15
.. . . & H 4dE
2020K11 20 20 125 10 DC..11T3.. M3.5*9 Q15 & H Suitable:#% 71 /y DEREK Insert
2525M11 25 25 150 12.5 DC..11T3.. M3.5*9 Q15
i& A Suitable: #3271 i DEREK Insert
SDQCR/L SRDCN

SHES

External turning tool

S B
External turning tool

SHEF

Internal turning tool

SRS

Internal turning tool

=

S

Threading tool

SHHESE

Threading tool

Specification
. SRDCN 2020K06 20 20 125 12 10 RC..0602.. M2.5*8 Q08
o 2525M06 25 25 150 12 12.5 RC..0602.. M2.5*8 Q08 -
T 1616H08 16 16 100 16 8 RC..0803.. M3*8 Q08 e
s 2020K08 20 20 125 16 10 RC..0803.. M3*8 Q08 25
£ - 2525M08 25 25 150 16 12.5 RC..0803.. M3*8 Q08 %
7 Spe%‘;ﬁon In”sgjt R V\#%ih 1616H10 16 16 100 203 8 RC..1003.. M3.5*9 015 ¥
2020K10 20 20 125 20.3 10 RC..1003.. M3.5*9 Q15
SDQCR/L 1212F07 12 12 80 16 DC..0702.. M2.5*8 Q08 2525M10 25 25 150 20.3 12.5 RC..1003.. M3.5*9 015
1212F11 12 12 80 16 DC..11T3.. M3.5*9 Q15 i& A Suitable: &35 71 B DEREK Insert
1616H11 16 16 100 20 DC..11T3.. M3.5*9 Q15
2020K11 20 20 125 25 DC..11T3.. M3.5*9 Q15
2525M11 25 25 150 32 DC..11T3.. M3.5*9 Q15

i& F Suitable: #2352 71 /i DEREK Insert

>< DEREK >< DEREK




TypeS Type S

STECR/L STGCR/L

s 7] wF
Specification Insert Wrench =

STECR/L 2020K11 20 20 125 14.5 TC..1102.. M2.5*7 008 Specification
2525M11 25 25 150 19.5 TC..1102.. M2.5*7 Q08 STGCR/L 1010F09 10 10 80 12 TC..0902.. M2.2*6 Q06
2020K16 20 20 125 12 TC..16T3.. M3.5*9 Q15 1616H11 16 16 100 20 TC..1102.. M2.5*8 Q08
2525M16 25 25 150 17 TC..16T3.. M3.5*9 015 2020K16 20 20 125 25 TC..16T3.. M3.5*9 015

i& F Suitable:# &5 71 /i DEREK Insert 2525M16 25 25 150 32 TC..16T3.. M3.5*9 Q15

i& i Suitable:# &5 71 /i DEREK Insert
STFCR/L

STWCR/L

SHES

External turning tool

SHEE

External turning tool

Mg nE
fle fle
S S
Ts Tls
423 423
gz g
] %3
T E TIE

Grooving tool
Grooving tool

1] 1]
5 B T 224 R = - 5
%f Specification Wrench Spe%ﬁ;tion Insgt V\I*r}%?ch %

STFCR/L 1212F09 1212 80 16 1€..0902.. M2.27°6 Q06 STWCR/L 1212F11 12 12 80 153  TC.1102. M2.5*8 Q08

1212F11 1212 80 16 TC..1102.. M2.5"8 Qo8 1616H11 16 16 100 19.3 7C..1102.. M2.5*8 Q08

1616H11 1616 100 20 1C..1102.. M2.5°8 Qo8 2020K11 20 20 125 23.3  TC.1102.. M2.5°8 Q08

1616H16 16 16 100 20 TC..1673.. M3.5%9 Q15 S616H15 R SRR e 015

i& A Suitable:#852 7] i DEREK Insert i A Suitable:#&% 71 & DEREK Insert

>< DEREK >< DEREK




Type S Type S

SSBCR/L SSKCR/L

RS Nk RF e
Specification Insert Wrench 8BS 7] |F
Specification Insert Wrench
SSBCR/L 1212F09 12 12 80 9.5 SC..09T3.. M3.5*9 Q15 "
1616H09 16 16 100 13 SC..09T3.. M3.5*9 Q15 SSKCR/L 1212F09 12 12 80 16 SC..09T3.. M3.5*9 Q15
2020K09 20 20 125 17 SC..09T3.. M3.5*9 Q15 a0 ;g ;g igg gg SC..09T3.. M3.5*9 Q15
g : i 2020K09 SC..09T3.. M3.5%9 Q15
1& A Suitable:#&32 71 /v DEREK Insert 2525M12 25 25 150 32 SC..1204.. M5*12 020
i& A Suitable: &5 71 i DEREK Insert
SSSCR/L
SSDCN /

SHES

External turning tool

SHEE

External turning tool

WE meE
fle [ FLe
7]:% 77?)
2 | <7757 L b L 2
23 }0° i
¥
eiL 'l I §r
a2 a2
B RS K IRF )
# Specification Insert Wrench e K HF #
? SSDCN 1212F09 12 12 80 6 5C..09T3.. M3.5°9 Q15 Specification il 2

1616H09 16 16 100 8 SC..09T3.. M3.5*9 Q15 SSSCR/L 1616H09 16 16 100 20 SC..09T3.. M3.5*9 Q15

2020K09 20 20 125 10 SC..09T3.. M3.5*9 Q15 2020K09 20 20 125 25 SC..09T3.. M3.5*9 Q15

2525M09 25 25 150 12.5 SC..09T3.. M3.5*9 Q15 2525M09 25 25 150 32 SC..09T3.. M3.5*9 Q15

1616H12 16 16 100 8 SC..1204.. M5*12 Q20 2525M12 25 25 150 32 SC..1204.. M5*12 Q20

2020K12 20 20 125 10 SC..1204.. M5*12 Q20 i& A Suitable:f&% 71 B DEREK Insert

2525M12 25 25 150 12.5 SC..1204.. M5*12 Q20

i& F Suitable: &35 71 i DEREK Insert

>< DEREK >< DEREK




Type S Type S

SVJ*R/L SVU*R/L
~ ]
DN o/ e ' . &
] T L T
‘ L
{ Y0°
T A I/
S
Specification
SVJBR/L 1212F11 12 12 80 16 VB..1103.. M2.5*8 Q08 pilg= 3 wF

1616H11 16 16 100 20 VB..1103.. M2.5*8 Q08 Specification Insert Wrench

2020K11 20 20 125 25 VB..1103.. M2.5"8 Q08 SVUBR/L 1616H11 16 16 100 20 VB..1103.. M2.5"8 Q08

2525M11 25 25 150 32 VB..1103.. M2.578 Q08 2020K16 20 20 125 30 VB..1604.. M3.5%9 Q15

1616H16 16 16 100 20 VB..1604.. M3.5"9 Q15 2525M16 25 25 150 32 VB..1604.. M3.5*9 015

20201616 cORSZORSI 25025 VB..1604.. M3.579 Q15 1616H11 16 16 100 20 VC..1103.. M2.5%8 Q08

il gg gg i?g ig xg--iggj-- mg-g:g 812 SVUCR/L 2020K16 20 20 125 30 VC..1604.. M3.5"9 Q15
SVJCR/L 1212F11 12 12 80 16 VC..1103.. M2.5°8 Q08 i'ﬁmSuitaﬁzs'??:’eﬁﬂ}#ngRéiIn;(g?t = ¥C..1002.. M3.579 ol

1616H11 16 16 100 20 VC..1103.. M2.5*8 Q08 —

2020K11 20 20 125 25 VC..1103.. M2.5*8 Q08

2525M11 25 25 150 32 VC..1103.. M2.5*8 Q08

1616H16 16 16 100 20 VC..1604.. M3.5%9 Q15

2020K16 20 20 125 25 VC..1604.. M3.5*9 Q15 SW*N

2525M16 25 25 150 32 VC..1604.. M3.5%9 Q15

3232P16 32 32 170 40 VC..1604.. M3.5%9 Q15

i& F Suitable: #3527 i DEREK Insert

a2y SVQ'R/L s
B = B
% %S
Ilg 77;
] N o Pl
h © _
B mE
= oz o =
n% 7t
E 2 P e 5T 2
o | . : - Specification Insert Wrench .
£ ‘ SVVBN 1212F11 12 12 80 6 VB..1103.. M2.5*8 Q08 £
7 1616H11 16 16 100 8 VB..1103.. M2.5*8 Q08 7

e TR R 2020K11 20 20 125 10 VB..1103.. M2.5*8 Q08
93 Specification Insert Wrench 2525M11 25 25 150 125 VB..1103.. M2.5*8 Q08 3
£ SVQBR/L 1616H11 16 16 100 20 VB..1103.. M2.5°8 Q08 1616H16 16 16 100 8 VB..1604.. M3.5°9 Q15 £
7 BT 50 20 125 25 EREETT WAEEE 008 2020K16 20 20 125 10 VB..1604.. M3.5*9 Q15 i
% 1616H16 e oo VB 1600 M3.579 015 2525M16 25 25 150 12.5 VB..1604.. M3.5*9 Q15 b

3232P16 32 32 170 40 VB..1604.. M3.5*9 015 roron 0 50 198 11 xgﬁgi Mo e Qgg

SVQCR/L 1616H11 16 16 100 20 VC..1103.. M2.5*8 Q08 2020K11 > - 1103.. = Q

1616H15 6 16 100 20 Ve Teon M3 570 015 1616H16 16 16 100 8 VC..1604.. M3.5%9 Q15

2020K16 TR R M3 E%0 NE 2020K16 20 20 125 10 VC..1604.. M3.5*9 Q15

D525 55 25 150 35 Ve leoa. M3.5°9 015 2525M16 25 25 150 12.5 VC..1604.. M3.5*9 Q15

3232P16 32 32 170 40 VC..1604.. M3.5*9 015 AT 22 L 1B e B0 15970 LY

i% A Suitable: &% 71 F DEREK Insert i& B Suitable:# &5 71 /5 DEREK Insert

>< DEREK 53 DEREK




Type M Type M

MCKNR/L MCLNR/L

5o

smis

S s Tk DRk ER EREZ IRF Ok S e Tk & duhiEzZ  FR OEWREZ IRF MK

Specification Mindia d Insert Shim  Centerscrew Clamp Clamp screw  Wrench Water hole

Specification Mindia d F L a Insert Shim  centerscrew  Clamp  Clamp screw  Wrench Water hole

S20Q-MCKNR/L12 26 20 14 180 34 18 15° CN..1204.. - CTM613  HL1812 ML0622 L025 S$20Q-MCLNR/L12 25 20 13 180 34 18 15° CN..1204.. - CTM613  HL1812  ML0O622 L025
S25R-MCKNR/L12 32 25 16.5 200 43 23 12° CN..1204.. . CTM613  HL1814 ML0625 L025,L03 - S25R-MCLNR/L12 32 25 16.5 200 43 23 12° CN..1204.. : CTM613  HL1814 ML0O625 L025,L03
S32S-MCKNR/L12 40 32 22.5 250 54 30 17° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 - S32S-MCLNR/L12 40 32 22.5250 54 30 17° CN..1204.. MC1204 CTM617 HL1814 ML0O625 L0O25,L03
S40T-MCKNR/L12 50 40 26 300 68 37 15° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 - S40T-MCLNR/L12 50 40 26 300 68 37 15° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
S50U-MCKNR/L12 60 50 33 350 85 47 12° CN..1204.. MC1204 CTM617  HL1814 ML0625 L025,L03 - S50U-MCLNR/L12 60 50 31 350 85 47 12° CN..1204.. MC1204 CTM617 HL1814 ML0O625 L025,L03
S60V-MCKNR/L12 70 60 36 400 102 56 10° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 - S60V-MCLNR/L12 70 60 36 400 102 56 10° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
H20Q-MCKNR/L12 26 20 14 180 34 18 15° CN..1204.. - CTM613  HL1812 ML0622 L025 - S50U-MCLNR/L19 60 50 31 350 85 47 12° CN..1906.. MC1904 CTM1022 HL2217  MLO830 LO4
H25R-MCKNR/L12 32 25 16.5 200 43 23 12° CN..1204.. - CTM613  HL1814 ML0625 L025,L03 - H20Q-MCLNR/L12 25 20 13 180 34 18 15° CN..1204.. : CTM613  HL1812  ML0622 L025
A20Q-MCKNR/L12 26 20 14 180 34 18 15° CN..1204.. - CTM613  HL1812 ML0622 L025 J H25R-MCLNR/L12 32 25 16.5 200 43 23 12° CN..1204.. - CTM613  HL1814  MLO625 L025,L03
A25R-MCKNR/L12 32 25 16.5 200 43 23 12° CN..1204.. : CTM613  HL1814 ML0625 L025,L03 H32S-MCLNR/L12 40 32 22.5250 54 30 17° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
A32S-MCKNR/L12 40 32 22.5 250 54 30 17° CN..1204.. MC1204 CTM617  HL1814 ML0625 L025,L03 A20Q-MCLNR/L12 25 20 13 180 34 18 15° CN..1204.. - CTM613  HL1812  ML0O622 L025
A40T-MCKNR/L12 50 40 26 300 68 37 15° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 A25R-MCLNR/L12 32 25 16.5200 43 23 12° CN..1204.. - CTM613  HL1814 MLO625 L025,L03
A50U-MCKNR/L19 60 50 32.5 350 85 47 12° CN..1906.. MC1904 CTM1022 HL2217 ML0830 LO4 J A32S-MCLNR/L12 40 32 22.5250 54 30 17° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03

SHES

External turning tool

7]

=
o

A50U-MCLNR/L12 60 50 31 350 85 47 12° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03
A50U-MCLNR/L19 60 50 31 350 85 47 12° CN..1906.. MC1904 CTM1022 HL2217  ML0830 LO4

v
V
v
i M Suitable:{=% 71 & DEREK Insert AOT-MCLNR/L12 50 40 26 300 68 37 15° CN..1204.. MC1204 CTM617 HL1814 ML0625 L025,L03 v
V
V

i& F Suitable:# &5 71 /& DEREK Insert

2 mE
e e
=5 ZEE
s Te
W23 124
£ kS
T 7]

Grooving tool
Grooving tool

SIS R B S
SIS R ER S

>< DEREK >< DEREK




Type M Type M

MDQNR/L MDWNR/L

L1

] .
H “y {52 Ve y N
\ \
| |
\ ]
" D <> 0%
me JIE % gz B OEREZ ET WAL * ‘
Specification Mindia d H a Insert Shim  Center screw Clamp Clamp screw  Wrench Water hole
S25R-MDQNR/L15 32 25 17 200 43 23 12° DN..1504.. - CTM613  HL2114 ML0625 L025,L03 - - -
$328-MDQNR/L15 42 32 22,5250 54 30 17° DN..1504.. MD1504 CTM6l7 HL2114 MLO625 L025,L03 - o MILE P Tk 7E qubigs [EiR EREEZ O IRF HKEL
S40T-MDQNR/L15 50 40 26 300 68 37 15° DN..1504.. MD1504 CTM617 HL2114 MLO625 L025,L03 - pecimcation Vin dia Insert Shim  Centerscrew Clamp Clampscrew ~ Wrench — Water hole
S50U-MDQNR/L15 63 50 33 350 85 47 12° DN..1504.. MD1504 CTM617 HL2114 MLO625 L025,L03 - S25R-MDWNR/L15 28 25 24.5 200 23 12° DN..1504.. - CTM613 HL2114 ML0625 L025,L03 -
H25R-MDQNR/L15 32 25 17 200 43 23 12° DN..1504.. - CTM613  HL2114 MLO625 L025,L03 - $32S-MDWNR/L15 45 32 28.0 250 30 15° DN..1506.. MD1504 CTM619 HL2114 ML0625 L025,L03
H32S-MDQNR/L15 42 32 225250 54 30 17° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 - S40T-MDWNR/L15 53 40 32.0 300 37 13° DN..1506.. MD1504 CTM619 HL2114 ML0625 L025,L03 -
A25R-MDQNR/L15 32 25 17 200 43 23 12° DN..1504.. - CTM613  HL2114 MLO625 L025,L03 A25R-MDWNR/L15 38 25 24.5 200 23 12° DN..1504.. - CTM613 HL2114 ML0625 L025,L03 v
A32S-MDQNR/L15 42 32 22.5250 54 30 17° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 A32S-MDWNR/L15 45 32 28.0 250 30 15° DN..1506.. MD1504 CTM619 HL2114 ML0625 L025,L03 v
A40T-MDQNR/L15 50 40 26 300 68 37 15° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 iE F Suitable: &% 77 - DEREK Insert
i& F Suitable: &3z 71 i DEREK Insert
MDUNR/L MSKNR/L

SHES

External turning tool

SRS

External turning tool

i 03
7]? 77?
3 'z
nE S e Nk 718 duhigEZ R ERIEZ IRF O HKEL b
U= N TIE TR g2 FEWROEREZ ORFE KT Specification Mindia d a Insert Shim  centerscrew Clamp  Clamp screw  Wrench Water hole
Specification  Mindia d a Insert  Shim centerscrew Clamp Clampscrew Wrench Water hole S20Q-MSKNR/L12 25 20 13 180 34 18 15° SN..1204. - CTM613 HL1812 ML0622 L025

%; S25R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. : CTM613 HL2114 ML0625 L025,L03 - S25R-MSKNR/L12 32 25 17 200 43 23 12° SN..1204.. - CTM613 HL1814 ML0625 L025,L03 %“
25 S$32S-MDUNR/L15 40 32 21 250 54 30 17° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 - S32S-MSKNR/L12 40 32 22 250 54 30 17° SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03 Pt
3 S40T-MDUNR/L15 50 40 26 300 68 37 15° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 - S40T-MSKNR/L12 50 40 27 300 68 37 15° SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03 £
S50U-MDUNR/L15 60 50 32 350 85 47 12° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 - H20Q-MSKNR/L12 25 20 13 180 34 18 15° SN..1204.. - CTM613 HL1812 ML0622  L0O25
H25R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. - CTM613  HL2114 ML0625 L025,L03 - H25R-MSKNR/L12 32 25 17 200 43 23 12° SN..1204.. - CTM613 HL1814 ML0625 L025,L03 -
H32S-MDUNR/L15 40 32 21 250 54 30 17° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 - A20Q-MSKNR/L12 25 20 13 180 34 18 15° SN..1204.. - CTM613 HL1812 ML0622  L0O25 J
A25R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. - CTM613 HL2114 ML0O625 L025,L03 v A25R-MSKNR/L12 32 25 17 200 43 23 12° SN..1204.. - CTM613 HL1814 ML0625 L025,L03
A32S-MDUNR/L15 40 32 21 250 54 30 17° DN..1504.. MD1504 CTM617 HL2114 ML0625 L025,L03 A32S-MSKNR/L12 40 32 22 250 54 30 17° SN..1204.. MS1204 CTM617 HL1814 ML0625 L025,L03
i& F Suitable: &5 71 /7 DEREK Insert i& A Suitable: #2752 71 i DEREK Insert

>< DEREK >< DEREK




Type M Type M

MTFNR/L MTUNR/L

me TE NE kB4 B OEREZ RFE ke
Specification Mindia d a Insert Shim  Centerscrew Clamp Clamp screw Wrench Water hole

$20Q-MTFNR/L16 25 20 13 180 34 18 15° TN..1604.. . CTM510  HL1812 ML0622 L02,L025

S25R-MTFNR/L16 32 25 16.5 200 43 23 12° TN..1604.. ! CTM510  HL1814 MLO625 LO02,L03

S328-MTFNR/L16 41 32 22,5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - = TE T thih B EHL O EREZ O RE OHATL
S40T-MTFNR/L16 50 40 26.5 300 68 37 15° TN..1604.. MT1603 CTM513 HL1814 ML0625 L0O2,L03 - Speciﬁcation Mindia d a Insert Shim  Center screw CIamp Clamp screw  \Wrench Water hole
S50U-MTFNR/L16 60 50 31 350 85 47 12° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,|_03 S20Q-MTUNR/L16 25 20 12.5180 34 18 15° TN..1604.. _ CTM510 HL1812 ML0622 |_02,|_025
S40T-MTFNR/L22 50 40 26 300 68 37 15° TN..2204.. MT2204 CTMe6l7 HL1917 ML0O830 L025,L04 - S25R-MTUNR/L16 32 25 16 200 43 23 12° TN..1604.. : CTM510 HL1814 ML0O625 L02,L03
H20Q-MTFNR/L16 25 20 13 180 34 18 15° TN..1604. - CTM510  HL1812 ~ ML0622 LO2,L025 - S32S-MTUNR/L16 41 32 22,5250 54 30 17° TN..1604. MT1603 CTM513 HL1814 MLO625 L02,L03
H25R-MTFNR/L16 32 25 16.5200 43 23 12° TN..1604. - CTM510  HL1814 ~ ML0625 L02,L03 - S40T-MTUNR/L16 50 40 26.5300 68 37 15° TN..1604. MT1603 CTM513 HL1814 MLO625 L02,L03
H32S-MTFNR/L16 41 32 22.5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - S50U-MTUNR/L16 60 50 31 350 85 47 12° TN.1604. MT1603 CTM513 HL1814 MLO625 LO2.L03
A20Q-MTFNR/L16 25 20 13 180 34 18 15° TN.1604. - CTM510  HL1812  ML0622 LO2,L025 v S40T-MTUNR/L22 50 40 26.5300 68 37 15° TN..2204. MT2204 CTM617 HL1814 MLO830 L025,L04
A25R-MTFNR/L16 32 25 16.5 200 43 23 12° TN..1604.. - CTM510 ~ HL1814 MLO625 LO2,L03 S50U-MTUNR/L22 60 50 31 350 85 47 12° TN..2204.. MT2204 CTM617 HL1814 ML0830 L025,L04
A32S-MTFNR/L16 41 32 22.5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L0O2,L03 v H20Q-MTUNR/L16 25 20 12.5 180 34 18 15° TN..1604.. _ CTM510 HL1812 ML0622 L02,L025

i& A Suitable: #8352 71 /iy DEREK Insert H25R-MTUNR/L16 32 25 16 200 43 23 12° TN..1604.. - CTM510 HL1814 ML0625 L02,L03
H32S-MTUNR/L16 41 32 22,5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 -
A20Q-MTUNR/L16 25 20 12.5180 34 18 15° TN..1604.. . CTM510 HL1812 ML0622 L02,L025
MTQNR/L A25R-MTUNR/L16 32 25 16 200 43 23 12° TN..1604.. . CTM510 HL1814 ML0625 L02,L03
A32S-MTUNR/L16 41 32 22.5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03
i& A Suitable:#&52 71/ DEREK Insert

SHES

MTWNR/L 52
M8 Mg
e e
%5 ES
ﬂg 7]?
£ H £
823 © 823
g " 79 G5
} (o A
J1E 60% L1 ‘ J1E
L
s ) Nk 718 duhEZ R ERIEZ O IRF O HokEL
3 Specification a Insert Shim  centerscrew Clamp  Clamp screw  Wrench Water hole o \ s
% S20Q-MTQNR/L16 25 20 12.5180 34 18 15° TN..1604.. - CTM510 HL1812 ML0622 L02,L025 . | %
# S25R-MTQNR/L16 32 25 16 200 43 23 12° TN..1604.. : CTM510 HL1814 ML0625 L02,L03 - 7
7 $32S-MTQNR/L16 41 32 22.5 250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - = Nk 718 duhEZ Rl ERIEZ O IRF OHKEL 7
S40T-MTQNR/L16 50 40 26.5 300 68 37 15° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - Specification  Mindia d a Insert Shim  centerscrew  Clamp ~ Clamp screw Wrench Water hole
S50U-MTQNR/L16 60 50 31 350 85 47 12° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - S20Q-MTWNR/L16 27 20 14 180 34 18 15° TN..1604.. - CTM510 HL1812 ML0622 L02,L03
H20Q-MTQNR/L16 25 20 12.5180 34 18 15° TN..1604.. - CTM510 HL1812 ML0622 L02,L025 - S25R-MTWNR/L16 32 25 16.5 200 43 23 12° TN..1604.. - CTM510 HL1814 ML0625 L02,L03
H25R-MTQNR/L16 32 25 16 200 43 23 12° TN..1604.. - CTM510 HL1814 ML0625 L02,L03 - S32S-MTWNR/L16 39 32 20 250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L0O2,L03
H32S-MTQNR/L16 41 32 225250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 - S40T-MTWNR/L16 50 40 24 300 68 37 15° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03
A20Q-MTQNR/L16 25 20 12.5180 34 18 15° TN..1604.. ; CTM510 HL1812 ML0622 L02,L025 H20Q-MTWNR/L16 27 20 14 180 34 18 15° TN..1604.. - CTM510 HL1812 ML0622 L02,L025
A25R-MTQNR/L16 32 25 16 200 43 23 12° TN..1604.. 2 CTM510 HL1814 ML0625 L0O2,L03 v H25R-MTWNR/L16 32 25 16.5 200 43 23 12° TN..1604.. o CTM510 HL1814 ML0625 L02,L03
A32S-MTQNR/L16 41 32 22.5250 54 30 17° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 v A20Q-MTWNR/L16 27 20 14 180 34 18 15° TN..1604.. - CTM510 HL1812 MLO622 LO2,L03 v
A40T-MTQNR/L16 50 40 26.5 300 68 37 15° TN..1604.. MT1603 CTM513 HL1814 ML0625 L02,L03 A25R-MTWNR/L16 32 25 16.5 200 43 23 12° TN..1604.. s CTM510 HL1814 ML0625 L02,L03 v
i& A Suitable: &5 71 /i DEREK Insert i& F Suitable:f&32 71 i DEREK Insert

>< DEREK 53 DEREK




SHES

External turning tool

SRS

SHSE
Internal turning tool

Threading tool

Grooving tool

SIS R TR S

TypeM

MVQNR/L

S
Specification
S25R-MVQNR/L16
$32S-MVQNR/L16
S40T-MVQNR/L16
H25R-MVQNR/L16
A20Q-MVQNR/L16
A25R-MVQNR/L16

e
Min dia
32
42
50
32
25
32

-=ia

d

25
32
40
25
20
25

F

17
23
27
17
13
17

L

200
250
300
200
180
200

43
54
68
43
34
43

23
30
37
23
18
23

12°
17°
15°
12°
15°
12°

7]
Insert

VN..
VN..
VN.
VN..
VN..
VN..

1604..
1604..
.1604..
1604..
1604..
1604..

J1 8
Shim

MV1603
MV1603

il g2
Center screw
CTM510
CTM513
CTM513
CTM510
CTM510
CTM510

EfR EREBEZ RF HKTL
Clamp  Clamp screw Wrench Water hole
HL2114 ML0625 L02,L03
HL2114 ML0625 L02,L03
HL2114 ML0625 L02,L03
HL2114 ML0625 LO2,L03
HL2114 ML0625 L02,L025
HL2114 ML0625 L02,L03

i& F Suitable: &3 71 /i DEREK Insert

MVUNR/L

S
Specification

S25R-MVUNR/L16
$32S-MVUNR/L16
S40T-MVUNR/L16

H25R-MVUNR/L16
H32S-MVUNR/L16
A25R-MVUNR/L16
A32S-MVUNR/L16

Min dia
32
42
50
32
42
32
42

d

25
32
40
25
32
25
32

17
23
27
17
23
17
23

200
250
300
200
250
200
250

43
54
68
43
54
43
54

23
30
37
23
30
23
30

a
12°
17°
15°
12°
17°
12°
17°

Iy
Insert

VN..
VN..
VN..
VN..
VN..
VN..
VN..

1604..
1604..
1604..
1604..
1604..
1604..
1604..

T8
Shim

MV1603
MV1603

MV1603

MV1603

Fubig2z R EREEZ
CIamp Clamp screw

Center screw

CTM510
CTM513
CTM513
CTM510
CTM513
CTM510
CTM513

HL2114
HL2114
HL2114
HL2114
HL2114
HL2114
HL2114

MLO625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

WF HAKFL
Wrench Water hole
L02,L03
L02,L03
L02,L03
L02,L03
L02,L03 -
L02,L03 v
L02,L03 N

i& F Suitable: #3527 i DEREK Insert

>< DEREK

Type M

MVWNR/L

I8
Shim

LRy 322

Center screw

ER  EREZ IRF KT
Clamp  Clamp screw Wrench Water hole

— =\
BS s

2 7]
Specification Mindia d F L L1 H a Insert

S25R-MVWNR/L16 40 25 26 200 43 23 12° VN..1604.. CTM510 HL1814 ML0622 LO2,L03
S$32S-MVWNR/L16 48 32 30 250 54 30 17° VN..1604.. MV1603 CTM513 HL1814 ML0625 LO2,L03
H25R-MVWNR/L16 40 25 26 200 43 23 12° VN..1604.. CTM510 HL1814 ML0622 LO2,L03

i& A Suitable: &35 71 /i DEREK Insert

MVXNR/L

7]

=
S

SRS
Internal turning tool

SHHSSE

Threading tool

Grooving tool

8BS o il
Specification H a Insert

NE gz ER EREZ RF HKEL

Shim  Center screw Clamp Clamp screw Wrench Water hole

SRS

$20Q-MVXNR/L16 27 20 14 180 34 18 15° VN..1604.. CTM510 HL2412 ML0622 L0O2,L03
S25R-MVXNR/L16 32 25 17 200 43 23 12° VN..1604.. - CTM510 HL2414 ML0625 L02,L03
S$32S-MVXNR/L16 42 32 23 250 54 30 17° VN..1604.. MV1603 CTM513 HL2414 MLO625 LO2,L03
H20Q-MVXNR/L16 27 20 14 180 34 18 15° VN..1604.. - CTM510 HL2412 ML0622 L02,L03
H25R-MVXNR/L16 32 25 17 200 43 23 12° VN..1604.. CTM510 HL2412 ML0622 LO2,L03 -
A20Q-MVXNR/L16 27 20 14 180 34 18 15° VN..1604.. CTM510 HL2412 ML0622 L02,L03 J
A25R-MVXNR/L16 32 25 17 200 43 23 12° VN..1604.. CTM510 HL2412 ML0622 L02,L03 v

i& A Suitable:f&Z5 J1 5 DEREK Insert

>< DEREK




Type M

MWLNR/L

BS
Specification

=2
mI&

Mndia d F L H

a

b

Insert

18
Shim

LlIRY 322

Center screw

R EiRiEL

Clamp

WF HKFL

Clamp screw Wrench Water hole

S20Q-MWLNR/LO6 25 20 13 180 34 18 15° WN..0604.. CTM510 HL1511 ML0519 L025,L02
S25R-MWLNR/LO6 32 25 16.5 200 43 23 12° WN..0604.. CTM510 HL1814 ML0625 L025,L02
S20Q-MWLNR/LO8 25 20 13 180 34 18 15° WN..0804.. CTM613 HL1812 ML0622 L025
S25R-MWLNR/LO8 32 25 16.5200 43 23 12° WN..0804. -  CTM613 HL1812 ML0622 L025,L03
S32S-MWLNR/LO8 41 32 22 250 54 30 17° WN..0804.. MW0804 CTM617 HL1814 ML0625 L025,L03
S40T-MWLNR/LO8 50 40 26 300 68 37 15° WN..0804.. MW0804 CTM617 HL1814 ML0625 L025,L03
S50U-MWLNR/LO8 60 50 31 350 85 47 12° WN..0804.. MW0804 CTM617 HL1814 ML0625 L025,L03
H20Q-MWLNR/LO6 25 20 13 180 34 18 15° WN.0604. -  CTM510 HL1511 MLO519 L02,L025
H25R-MWLNR/LO6 32 25 16.5 200 43 23 12° WN..0604.. CTM510 HL1814 ML0625 L02,L025
H20Q-MWLNR/LO8 25 20 13 180 34 18 15° WN..0804.. CTM613 HL1812 ML0622 L025

n H25R-MWLNR/LO8 32 25 16.5200 43 23 12° WN..0804. -  CTM613 HL1812 ML0622 L025,L03

F H32S-MWLNR/LO8 41 32 22 250 54 30 17° WN..0804. MWO0804 CTM617 HL1814 ML0625 L025,L03 -

7 A20Q-MWLNR/LO6 25 20 13 180 34 18 15° WN..0604. -  CTM510 HL1511 MLO519 L025,L02

A25R-MWLNR/LO6 32 25 16.5 200 43 23 12° WN..0604.. CTM510 HL1814 ML0625 L025,L02
A20Q-MWLNR/LO8 25 20 13 180 34 18 15° WN..0804.. CTM613 HL1812 ML0622 L025

w3 A25R-MWLNR/LO8 32 25 16.5200 43 23 12° WN..0804. -  CTM613 HL1812 ML0622 L025,L03

it A32S-MWLNR/LO8 41 32 22 250 54 30 17° WN..0804. MW0804 CTM617 HL1814 ML0625 L025,L03 v

7t i& A Suitable:{®32 77/ DEREK Insert

23

ae

Grooving tool

SIS R B S

>< DEREK

Type S

SCK*R/L

1= Nk L3717 IF HkFL
Specification Insert Screw Wrench Water hole
S08K-SCKCR/L06 10 8 5.5 125 14 7 13° CC..0602.. M2.5*5 Q08
S10K-SCKCR/L06 13 10 6 125 17 9 12° CC..0602.. M2.5*6 Q08
S$12M-SCKCR/L06 16 12 7 150 20 11 10° CC..0602.. M2.5%6 Q08
S12M-SCKCR/L09 16 12 8 150 20 11 12° CC..09T3.. M3.5*9 Q15
S16Q-SCKCR/L09 20 16 9.5 160 27 15 10° CC..09T3.. M3.5*9 Q15
S20Q-SCKCR/L09 24 20 11.5 180 34 18 8° (CC..09T3.. M3.5%9 Q15
S25R-SCKCR/L09 31 25 14 200 43 23 8° CC..09T3.. M3.5*9 Q15
HO8K-SCKCR/L06 10 8 5.5 125 16 7 13° CC..0602.. M2.5*5 Q08
H10K-SCKCR/L06 13 10 6 125 20 9 12° CC..0602.. M2.5%5 Q08
H12M-SCKCR/L06 16 12 7 150 24 11 10° CC..0602.. M2.5%6 Q08
H12M-SCKCR/L09 16 12 8 150 24 11 12° CC..09T3.. M3.5*8 Q15
H16N-SCKCR/L09 20 16 9.5 160 32 15 10° CC..09T3.. M3.5*8 Q15
CO08K-SCKCR/L06 10 8 5,5 125 14 7 13° CC..0602.. M2.5*5 Q08
C10M-SCKCR/L06 13 10 6 150 17 9 12° CC..0602.. M2.5*6 Q08
C12Q-SCKCR/L06 16 12 7 180 20 11 10° CC..0602.. M2.5%6 Q08
C12Q-SCKCR/L09 16 12 8 180 20 11 12° CC..09T3.. M3.5*9 Q15
C16R-SCKCR/L09 20 16 9.5 200 27 15 10° CC..09T3.. M3.5*9 Q15
C20S-SCKCR/L09 24 20 11.5 250 34 18 8° (CC..09T3.. M3.5*9 Q15
S08K-SCKPR/L06 10 8 55 125 14 7 10° CP..0602.. M2.5%5 Q08
S10K-SCKPR/L06 13 10 6 125 17 9 8° CP..0602.. M2.5%5 Q08
S$12M-SCKPR/L06 16 12 7 150 20 11 6° CP..0602.. M2.5%6 Q08
S10K-SCKPR/L08 13 10 7 125 17 9 10° CP..0802.. M3*6 Q08
S12M-SCKPR/L08 16 12 7.5 150 20 11 8° CP..0802.. M3*6 Q08
S$16Q-SCKPR/L08 20 16 9.5 160 27 15 6° CP..0802.. M3*6 Q08
S12M-SCKPR/L09 16 12 8 150 20 11 8° CP..0903.. M3.5%7 Q15
S16Q-SCKPR/L09 20 16 9.5 160 27 15 6° CP..0903.. M3.5*8 Q15
S$20Q-SCKPR/L09 24 20 11.5 180 34 18 4°  CP..0903.. M3.5*8 Q15
S25R-SCKPR/L09 31 25 14 200 43 23 4° CP..0903.. M3.5*8 Q15
BTR

95—

See next page

>< DEREK

SHES

External turning tool

SRS

Internal turning tool

SHHSSE

Threading tool

Grooving tool

SIS TR S




TypeS Type S

SCK*R/L SCL*R/L

H
]
o
w} 75\e NI
L1
L
) |
0 Y

s rh Nk 1222 wF HkFL
Specification Min dia Insert Screw Wrench  Water hole

N ¥4 RF HkFL

Specification Insert Screw Wrench Water hole

. SO7K-SCLCR/LO6-A6 9 16 4.5 125 15 15 15° CC..0602.. M2.5%5 08
HOSBK-SCKPR/LO6 10 8 55 125 16 7 10° CP.0602. M2.5%5 08 oK. SCLORILoR s S e I, LML S 808
H10K'SCKPR/L06 13 ].O 6 125 20 9 80 CP.-O602-. M2-5*5 QO8 SOSK'SCLCR/LOG 10 8 5 125 14 7 130 CC..0602.. M2.5*5 Q08
e T e o D Iy ehn M|v2|é§65 882 SO8K-SCLCR/LO6-A16 12 16 5 125 21 15 13° CC..0602.. M2.5°5 Q08
: O : S10K-SCLCR/L0G-A16 13 16 6 125 26 15 12° CC..0602.. M2.5%5 Q08
H12M-SCKPR/LOS 16 12 7.5 150 24 11 8 CP.0802.  M3*6 Q08 S 10K.SCLORLO LM L, L4 e L 008
HIGN-SCKPRILOS 20 16 9.5 160 32 15 6 CP.0802.  M3'6 008 oo SCLOR/LOG T T T VT I 008
H12M-SCKPR/LO9 16 12 8 150 24 11  8° CP.0903. M3.5%7 015 . , i
) . $16Q-SCLCR/L06 20 16 9 160 27 15 8° CC..0602.. M2.5%6 Q08
H16N-SCKPR/LOO 20 16 95 160 32 15 6° CP.0903. M3.5*7 015 S1aM-SCLOR/LOS e 150 o0 Il CC 09T W35S o18
‘é‘:g';ss%'f(';'z/'f& }g 180 565 }gg i;‘ ; 18(1 gg"gggg" mggg Qgg S12M-SCLCR/L09-A16 16 16 9 150 31 15 12° CC..09T3.. M3.5%9 Q15
O i Qos $16Q-SCLCR/L09 20 16 95 160 27 15 10° CC..09T3.. M3.5%9 015
e - 0002, =N Q $20Q-SCLCR/L09 25 20 11.5 180 34 18 8° CC..09T3.. M3.5%9 Q15 43
e C12Q0-SCKPR/LO9 16 12 8 180 20 11 8 CP.0903.. M3.5%7 015 . . \
e ) ) S25R-SCLCR/L09 31 25 14 200 34 23 6° CC..09T3.. M3.5%9 Q15 0t
3 C203-SCKPR/L09 24 20 115 250 34 18 4° CP0903 M35*7 015 - S40T'SCLCR/L09 50 40 21 300 68 37 OO CC 09T3 M3 5*9 Q15 e
AOBK-SCKCR/LO6 10 8 55 125 14 7 13° CC..0602.. M2.5°5 008 y 200 Se s S P e T i
: AMOK-SCKCR/LO6 13 10 6 125 17 9 12° CC..0602.. M2.5%6 008 y A - 3
ne . S25R-SCLCR/L12 32 25 145 200 43 23 8 CC..1204.. M5*12 020 s
iz A12M-SCKCR/LO6 16 12 7 150 20 11 10° CC..0602. M2.5%6 008 y . i i
=5 ’ $32S-SCLCR/L12 39 32 18 250 54 30 6° CC..1204. M5*12 020 %5
A12M-SCKCR/L09 16 12 8 150 20 11 12° CC..09T3.. M3.5%9 015 y . -
£ ) S40T-SCLCR/L12 50 40 22 300 68 37 4° CC.1204. M5*12 020 :
A16N-SCKCRILO9 20 16 9.5 160 27 15 10° CC.09T3.  M3.5%9 Q15 / HOBK-SCLCR/L06 10 8 5 125 16 7 13° CC..0602.. M25°5 Q08
7 A200-SCKCR/ILO9 24 20 11.5 180 34 18 8 (CC.09T3. M3.5*9 015 y oK SOLORILOG 13 10 & 1 20 9 1 ccosnz “Moces 008 ]
=z A25R-SCKCR/LO9 31 25 14 200 43 23 8 (CC.09T3.. M3.5*9 Q15 y o o &z
o L b 8 8 2 —<C.091 o > : H12M-SCLCR/L06 16 12 7 150 24 11 10° CC..0602.. M2.5*6 Q08 o
nE ﬁ:gﬁi‘éﬁ;{/‘i_ﬁ noh s 158 L 10 hos0s Mave Qog ) H12M-SCLCR/L09 16 12 9 150 24 11 12° CC..09T3.. M3.5°8 Q15 ne
- - 8 ~0802.. . Q H16N-SCLCR/L09 20 16 9.5 160 32 15 10° CC..09T3.. M3.5*8 015
AI6N-SCKPR/LO8 20 16 9.5 160 27 15 6° CP.0802.  M3*6 008 y 08K SOLOR/LO 0 8 5 125 11 7 13 CC 0602 Moo 208 ’
3 A12M-SCKPR/LO9 16 12 8 150 20 11 8 CP.0903. M3.5°7 015 y , oL 0602 = CH
e : . C10M-SCLCR/L06 13 10 6 150 17 9 12° CC..0602.. M2.5%6 Q08 g =
5 SIS BH R T R U R RNl N N S i Ry Q15 / C12Q-SCLCR/L06 16 12 7 180 20 11 10° CC..0602. M2.5'6 Q08 A
2 A20Q-SCKPR/LO3 24 20 11.5 180 34 18  4° CP.0903. M3.5*7 015 y 120.SOLOR/LOS T 8 b L oo, o i #
7 i& [ Suitable:f&% 7] & DEREK Insert _.09T3.. . :
35 C16R-SCLCR/L09 20 16 9.5 200 27 15 10° CC..09T3.. M3.5%9 015
C20S-SCLCR/L09 25 20 11.5 250 34 18 8° CC..09T3.. M3.5%9 015
C20S-SCLCR/L12 25 20 12 250 34 18 10° CC..1204. M5°10 020

®BTR 9.—
See next page =

»< DEREK >< DEREK




Type S Type S

SCL*R/L SCLCR/L*H

8BS s TR B4 ]RF  HAKFL
Specification Mindia  d Insert Screw Wrench  Water hole
= - SO8K-SCLCR/LOGHO9 9 8 425 125 14 7 13° CC..0602.. M2.5%5 Q08
2 we TR IR BEFE kA S10K-SCLCRALOGH11 11 10 525 125 17 9 12° CC.0602. M2.5°6 Q08
Specification AR LU B L T e S12M-SCLCR/LOGH13 13 12 6.25 150 20 11 10° CC..0602.. M2.5*6 Q08
S08K-SCLPR/LOG 10 8 5 125 14 7 10° CP.0602. M2.5°5 Q08 : S16N-SCLCR/LOSH17 17 16 85 160 27 15 10° CC..09T3.. M3.5°8 Q15 :
S10K-SCLPR/L06 13 10 6 125 17 9 8 (CP.0602. M2.5%5 Q08 . AOSK-SCLCR/LOBHO 9 8 4.25 125 14 7 13° CC..0602.. M2.5°5 Q08 y
$12M-SCLPR/LOG 16 12 7 150 20 11 6° CP.0602.. M2.5°6 Q08 - A1OK-SCLCR/LOBH11 11 10 525 125 17 9 12° CC.0602.. M2.5"6 Q08 y
S10K-SCLPR/L08 1310 6 125 17 9 8 CP.0802.  M3%6 Q08 : A12M-SCLCR/LOGH13 13 12 625 150 20 11 10° CC..0602.. M2.5*6 Q08 y
glgg-ssgt:://tgg ;8 ié ; %28 2(7) %é 20 gg--gggg-- mg:g 882 ° A16N-SCLCR/LO9H17 17 16 85 160 27 15 10° CC..09T3.. M3.5°8 Q15 y
S20Q-SCLPRALOS 25 20 11 180 34 18 2° CP.0802. M3°6 Q08 : CLESTIERLE . L ARSI
$12M-SCLPR/L09 16 12 9 150 20 11 10° CP.0903.. M3.5°9 Q15
$16Q-SCLPR/L09 20 16 9.5 160 27 15 8° CP.0903.. M3.5*9 Q15
$20Q-SCLPR/L09 25 20 115 180 34 18 6° CP.0903.. M3.5*9 Q15
S25R-SCLPR/L09 31 25 14 200 43 23 4° CP.0903. M3.5*9 Q15
$325-SCLPR/L09 39 32 175 250 54 30 4° CP.0903.. M3.5*9 Q15 -
X AO7K-SCLCR/L06 9 8 45 125 12 7 15° CC..0602.. M2.5°5 Q08 V %
A08K-SCLCR/L06 10 8 5 125 14 7 13° CC..0602.. M2.5%5 Q08 y
. A10K-SCLCR/L06 13 10 6 125 17 9 12° CC..0602.. M2.5%6 Q08 ! y
) A12M-SCLCR/L06 16 12 7 150 20 11 10° CC..0602.. M2.5%6 Q08 ! )
0 A16N-SCLCR/L06 20 16 9 160 27 15 8° CC..0602.. M2.5%6 Q08 ! s
5 A12M-SCLCR/L09 16 12 9 150 20 11 12° CC..09T3.. M3.5*9 Q15 ] 5s
A16N-SCLCR/L09 20 16 9.5 160 27 15 10° CC..09T3.. M3.5*9 Q15 y
A20Q-SCLCR/L09 25 20 11.5 180 34 18 8° CC..09T3.. M3.5%9 Q15 y
o A25R-SCLCR/L09 31 25 14 200 43 23 6° CC.09T3.. M3.5*9 Q15 Y o
gz A20Q-SCLCR/L12 25 20 12 180 34 18 10° CC..1204. M5*12 Q20 y -
7 A25R-SCLCR/L12 32 25 145 200 43 23 8° CC..1204. M5*12 Q20 ! e
A08K-SCLPR/L06 10 8 5 125 14 7 10° CP.0602. M2.5%5 Q08 y
o A10K-SCLPR/L06 13 10 6 125 17 9 8 CP.0602. M2.5°5 Q08 y -
L A12M-SCLPR/L06 16 12 7 150 20 11 6° CP.0602.. M2.5*5 Q08 v L
s A10K-SCLPR/L08 13 10 6 125 17 9 8 CP.0802. M3'6 Q08 J s
- A12M-SCLPR/L08 16 12 7 150 20 11 6° CP.0802. M3*6 Q08 y i
A16N-SCLPR/L08 20 16 9 160 27 15 4° CP.0802. M3"6 Qo8 y
A20Q-SCLPR/L08 25 20 11 180 34 18 2° CP.0802. M3*6 Qo8 J
A12M-SCLPR/L09 16 12 9 150 20 11 10° CP.0903.. M3.5*9 Q15 J
A16N-SCLPR/L09 20 16 9.5 160 27 15 8° CP.0903.. M3.5*9 Q15 y
A20Q-SCLPR/L09 25 20 115 180 34 18 6° CP.0903.. M3.5*9 Q15 y

i& F Suitable: &35z 71 /5 DEREK Insert

>< DEREK 53 DEREK




Type S Type S

SCZCR/L SDLCR/L

NI

L1

S iy L3744 wF HAkFL
Specification Insert Screw Wrench Water hole

S e Tk ¥ |"F HkFL

Specification Mindia d Insert Screw Wrench Water hole

S08K-SCZCR/L06 12 8 6.5 125 14 7 13° CC..0602.. M2.5*5 Q08 - S10K-SDLCR/L07 15 10 8 125 17 9 10° DC..0702.. M2.5*6 Q08

S10K-SCZCR/L06 14 10 7.5 125 17 9 12° CC..0602.. M2.5%5 Q08 - S12M-SDLCR/L07 17 12 9 150 20 11 8° DC..0702.. M2.5%6 Q08

S12M-SCZCR/L06 16 12 85 150 20 11 10° CC..0602.. M2.5*6 Q08 - S16Q-SDLCR/L07 22 16 11 160 27 15 6° DC..0702.. M2.5*7 Q08

S16Q-SCZCR/L06 20 16 10.5 160 27 15 8° (CC..0602.. M2.5*6 Q08 - S20Q-SDLCR/L11 25 20 13 180 34 18 6° DC..11T3.. M3.5*9 Q15

S$16Q-SCZCR/L09 21 16 11.5 160 27 15 10° CC..09T3.. M3.5*9 Q15 - S25R-SDLCR/L11 32 25 16 200 43 23 4° DC..11T3.. M3.5*9 Q15

S$20Q-SCZCR/L09 25 20 135 180 34 18 8° (CC..09T3.. M3.5*9 Q15 - S$32S-SDLCR/L11 39 32 20 250 54 30 4° DC..11T3.. M3.5%9 Q15

S25R-SCZCR/L09 32 25 16 200 43 23 6° CC..09T3.. M3.5*9 Q15 - H10K-SDLCR/L07 15 10 8 125 20 9 10° DC..0702.. M2.5*6 Q08

HO8K-SCZCR/L06 12 8 6.5 125 16 7 13° CC..0602.. M2.5*5 Q08 - H12M-SDLCR/LO7 17 12 9 150 24 11 8° DC..0702.. M2.5*6 Q08

H10K-SCZCR/L06 14 10 7.5 125 20 9 12° CC..0602.. M2.5*6 Q08 - H16N-SDLCR/L07 22 16 11 160 32 15 6° DC..0702.. M2.5*7 Q08

H12M-SCZCR/L06 16 12 85 150 24 11 10° CC..0602.. M2.5*6 Q08 - C10K-SDLCR/L07 15 10 8 125 17 9 10° DC..0702.. M2.5*6 Q08

H16N-SCZCR/L06 20 16 10.5 160 32 15 8° (C..0602.. M2.5*7 Q08 - C12M-SDLCR/LO7 17 12 9 150 20 11 8° DC..0702.. M2.5*6 Q08

H16N-SCZCR/L09 21 16 11.5 160 32 15 10° CC..09T3.. M3.5*9 Q15 - C16N-SDLCR/L07 22 16 11 160 27 15 6° DC..0702.. M2.5%7 Q08

A08BK-SCZCR/L06 12 8 6.5 125 14 7 13° CC..0602.. M2.5*5 Q08 J C20Q-SDLCR/L11 25 20 13 180 34 18 6° DC..11T3.. M3.5*9 Q15 -
3 A10K-SCZCR/L06 14 10 7.5 125 17 9 12° CC..0602.. M2.5*6 Q08 v A10K-SDLCR/L07 15 10 8 125 17 9 10° DC..0702.. M2.5%6 Q08 J e
:“ A12M-SCZCR/L06 16 12 85 150 20 11 10° CC..0602.. M2.5*6 Q08 v A12M-SDLCR/L07 17 12 9 150 20 11 8° DC..0702.. M2.5*6 Q08 v :°
7% A16N-SCZCR/L09 21 16 11.5 160 27 15 10° CC..09T3.. M3.5*9 Q15 J A16N-SDLCR/L07 22 16 11 160 24 15 6° DC..0702.. M2.5%7 Q08 V 712

5 A20Q-SCZCR/L09 25 20 135 180 34 18 8° CC..09T3.. M3.5*9 Q15 J A20Q-SDLCR/L11 25 20 13 180 34 18 6° DC..11T3.. M3.5*9 Q15 V 5

A25R-SCZCR/L09 32 25 16 200 43 23 6° CC..09T3.. M3.5*9 Q15 J A25R-SDLCR/L11 32 25 16 200 43 23 4° DC..11T3.. M3.5*9 Q15 J
-] i& A Suitable: &3 71 & DEREK Insert i& A Suitable:{#&5 71 i DEREK Insert wE
W23 128
g g
18 918
s e
i i
7 7

>< DEREK >< DEREK




Type S Type S

SDQCR/L SDUCR/L

H

17.5° ‘ ‘ “ \ \ ]
J @l N ) ~
N 17.5° L
2° L1 L L
| \ |
= ? F OQ%HT—M | I

S s TR B2 wF  HkFL

E= % Tk 2 wF kL

Specification  Windia Insert Screw Wrench ~ Water hole Specification Mindia d Insert Screw  Wrench  Water hole
S16Q-SDQCR/LO7 20 16 10.5 160 27 15 6° DC..0702.. M2.5%6 Q08 : S14N-SDucRLo7 19 16 10 160 24 13 6" DC.0702. M2.5'6 Q08
H16N-SDQCR/LO7 20 16 10.5 160 27 15 6° DC..0702.. M2.5°7 Q08 : $328-SDUCR/L11 39 32 20 250 54 30 47 DC.11T3. M3.5°9  QI5
43 C16N-SDQCR/LO7 20 16 105 200 27 15 6° DC..0702. M2.5%6 Qo8 : Hiizhn=S XCHGE 07 VA S S VS P - 60y R 108 2
C200-SDQCR/L1T 25 20 13 250 34 19 6° DC..11T3.. M3.5'9 Q15 : H16N-SDUCR/LO7 22 16 11 160 32 15 6°' DC.0702. M2.5°7 Q08
73 AMOK-SDQCRLO7 13 10 7 125 17 9 10° DC.0702. M25°6 Q08 i L0 DUGH, O o N N N N /A N 0 i 00707172 0 7
MOM.SDQCRILO? 16 12 9 150 20 11 8 DG 0702 Mm2se Q08 ; C12M-SDUCRALO7 17 12 9 150 20 11 8 DC.0702.. M25'6 Q08
A16N-SDQCR/LO7 20 16 105 160 27 15 6° DC..0702.. M3.5*9 Qo8 / SISl 16 __LJ__Io0__21__J3__5 _ Dl 175 (5 ___0ll¢
ne A200-SDQCR/L11 25 20 13 180 34 18 6° DC..11T3. M3.5%9 Q15 J C200-SDUCRLIT 25 20 13 180 34 19 6 DC.11T3.. M3.579 Q15 : P
14;% A25R-SDQCR/L11 32 25 16 200 43 23 40 DC..11T73.. M3.5*9 Q15 N A10K-SDUCR/LO7 15 10 8 125 17 9 10 DC..0702.. M2.5*6 Q08 v ZE%
g i& A Suitable: {5 71 i DEREK Insert A12M-SDUCR/L07 17 12 9 150 20 11 8° DC..0702.. M2.5%6 Q08 v Ng
) — A14N-SDUCR/LO7 19 16 10 160 24 13 6° DC..0702.. M2.5%6 Q08 I p
A16N-SDUCR/LO7 22 16 11 160 27 15 6° DC.0702. M2.5'6 Q08 J
3 A20Q-SDUCR/LO7 25 20 13 180 34 18 6° DC.0702. M3.5'9 Q08 / #3
i A16N-SDUCR/LTT 22 16 11 160 27 15 8° DC.11T3. M3.5°9 Q15 J =
F A20Q-SDUCR/LIY 25 20 13 180 34 18 6° DC.1I1T3. M3.5*9  Ql5 J )
A25R-SDUCR/L11 32 25 16 200 43 23 4° DC.11T3. M3.5*9 Q15 /
g2 i A Suitable: {358 71 A DEREK Insert o3
i &
x x
7] 7]

>< DEREK F3 DEREK




TypeS Type S

SDWCR/L SDZCR/L

- yé;ﬁ v 2.5%
) N
Lo L1

-§f -

/
dl .

93°
W L1

8BS e iy L3744 wF HkFL S e Nk L F HkFL
Specification Min dia Screw Wrench Water hole Specification Min dia Insert Screw Wrench Water hole
S$12M-SDWCR/L07 19 10.5 .. - S10K-SDZCR/LO7 15 10 8.5 . .
$16Q-SDWCR/L07 23 16 125 160 27 15 8° DC..0702.. M2.5*6 Q08 - S12M-SDZCR/L07 18 12 9.5 150 20 11 10° DC..0702.. M2.5*5 Q08
$20Q-SDWCR/L07 27 20 145 180 34 18 6° DC..0702.. M2.5*6 Q08 - S$16Q-SDZCR/L07 24 16 11.5 160 27 15 8° DC..0702.. M2.5*8 Q08
S$20Q-SDWCR/L11 25 20 145 180 34 18 6° DC..11T3.. M3.5*9 Q15 - S$20Q-SDZCR/L11 28 20 145 180 34 18 8° DC..11T3.. M3.5*9 Q15
S25R-SDWCR/L11 32 25 17 200 43 23 4° DC..11T3.. M3.5*9 Q15 - S25R-SDZCR/L11 34 25 17 200 43 23 6° DC..11T3.. M3.5%9 Q15
$§32S-SDWCR/L11 40 32 20 250 54 30 2° DC..11T3.. M3.5*9 Q15 - $32S-SDZCR/L11 38 32 20.5 250 54 30 4° DC..11T3.. M3.5*9 Q15
H12M-SDWCR/LO7 19 12 10.5 150 20 11 10° DC..0702.. M2.5%7 Q08 - H10Q-SDZCR/L07 15 10 85 1256 17 9 12° DC..0702.. M2.5%6 Q08
H16N-SDWCR/L07 23 16 12,5 160 27 15 8° DC..0702.. M2.5%7 Q08 - H12M-SDZCR/L07 18 12 9.5 150 20 11 10° DC..0702.. M2.5*7 Q08
A12M-SDWCR/LO7 19 12 10.5 150 20 11 10° DC..0702.. M2.5*7 Q08 y H16N-SDZCR/L07 24 16 11.5 160 27 15 8° DC..0702.. M2.5%7 Q08
A16N-SDWCR/LO7 23 16 125 160 27 15 8° DC..0702.. M2.5%7 Q08 J A10K-SDZCR/L07 15 10 8.5 125 17 9 12° DC..0702.. M2.5*6 Q08 v
A20Q-SDWCR/L07 27 20 145 180 34 18 6° DC..0702.. M2.5%7 Q08 J A12M-SDZCR/L0O7 18 12 9.5 150 20 11 10° DC..0702.. M2.5*6 Q08 J
e A20Q-SDWCR/L11 25 20 145 180 34 18 6° DC..11T3.. M3.5*9 Q15 J A16N-SDZCR/L07 24 16 11.5 160 27 15 8° DC..0702.. M2.5*6 Q08 J .
A25R-SDWCR/L11 32 25 17 200 43 23 4° DC.11T3. M3.5*9 Q15 v A20Q-SDZCR/LO7 26 20 13.5 180 20 18 8 DC..0702.. M3.5"9 Q08 !
%: A32S-SDWCR/L11 40 32 20 250 54 30 2° DC..11T3.. M3.5*9 Q15 V A25R-SDZCR/L07 32 25 16 200 27 23 8° DC..0702.. M2.5*7 Q08 v %:
3 i& A Suitable:f&3 71 & DEREK Insert A20Q-SDZCR/L11 28 20 145 180 34 18 8° DC..11T3.. M3.5*9 Q15 v 2
A25R-SDZCR/L11 34 25 17 200 43 23 6° DC..11T3.. M3.5*9 Q15 J
HE A32S-SDZCR/L11 38 32 20.5 250 54 30 4° DC..11T3.. M3.5*9 015 v mE
5 3 A Suitable: &3 7] A DEREK Insert i
w2 23
3 3
TE TE
PIE PE
i i
kS £
7] 7]

>< DEREK »< DEREK




TypeS Type S

SDXCR/L SSK*R/L

TR L322 |®F KT

A= e

i e Tk LF22 |WF HAKFL

Specification Min dia F Insert Screw Wrench ~ Water hole Specification Minda d Insert Screw Wrench ~ Water hole

S08K-SDXCR/L07-G5 10 8 5 125 14 7 12° DC..0702.. M2.5*5 Q08 - S12M-SSKCR/L09 16 8.5 . . Q15

S10K-SDXCR/L07-G5 13 10 6 125 17 9 10° DC..0702.. M2.5*5 Q08 > S$16Q-SSKCR/L09 20 16 10.5 160 27 15 10° SC..09T3.. M3.5*9 Q15

S12M-SDXCR/L07-G5 16 12 7 150 20 11 8 DC..0702.. M2.5%6 Q08 - $20Q-SSKCR/L09 24 20 12,5 180 34 18 8° SC..09T3.. M3.5*9 Q15

S16N-SDXCR/L07-G5 20 16 9 160 27 15 6° DC..0702.. M2.5*7 Q08 - S25R-SSKCR/L09 31 25 15 200 43 23 6° SC..09T3.. M3.5*9 015

S16N-SDXCR/L11-G5 20 16 9 160 27 15 8° DC..11T3.. M3.5*8 Q15 - H12M-SSKCR/L09 16 12 85 150 20 11 12° SC..09T3.. M3.5*8 Q15

$20Q-SDXCR/L11-G5 25 20 11.5 180 34 18 6° DC..11T3.. M3.5*9 Q15 - H16N-SSKCR/L09 20 16 105 160 27 15 10° SC..09T3.. M3.5*8 Q15

S25R-SDXCR/L11-G5 32 25 14 200 43 23 4° DC..11T3.. M3.5*9 Q15 - S12M-SSKPR/L09 16 12 85 150 20 11 8° SP.0903.. M3.5*8 Q15

HO8K-SDXCR/L07-G5 10 8 5 125 16 7 12° DC..0702.. M2.5*5 Q08 - S$16Q-SSKPR/L09 20 16 10.5 160 27 15 6° SP..0903.. M3.5*8 Q15

H10K-SDXCR/L07-G5 13 10 6 125 20 9 10° DC..0702.. M2.5*5 Q08 - H12M-SSKPR/L09 16 12 85 150 20 11 8° SP..0903.. M3.5*8 Q15

H12M-SDXCR/L07-G5 16 12 7 150 24 11 8° DC..0702.. M2.5*6 Q08 - H16N-SSKPR/L09 20 16 10.5 160 27 15 6° SP..0903.. M3.5*8 Q15 2

H16N-SDXCR/L07-G5 20 16 9 160 32 15 6° DC..0702.. M2.5*7 Q08 - A12M-SSKCR/L09 16 12 85 150 20 11 12° SC..09T3.. M3.5*8 Q15 J
N A08K-SDXCR/L07-G5 10 8 5 125 14 7 12° DC..0702.. M2.5*5 Q08 v A16N-SSKCR/L09 20 16 10.5 160 27 15 10° SC..09T3.. M3.5*8 Q15 J i
A10K-SDXCR/L07-G5 1310 6 125 17 9 10° DC..0702.. M2.5*5 Q08 v A20Q-SSKCR/L09 24 20 125 180 34 18 8° SC..09T3.. M3.5*9 Q15 v
L A12M-SDXCR/LO7-G5 16 12 7 150 20 11 8° DC..0702.. M2.5*6 Q08 v A25R-SSKCR/L09 31 25 15 200 43 23 6° SC..09T3.. M3.5*9 Q15 J e
A16N-SDXCR/L07-G5 20 16 9 160 27 15 6° DC..0702.. M2.5*7 Q08 v A12M-SSKPR/L09 16 12 85 150 20 11 8° SP..0903.. M3.5*8 Q15 J

A16N-SDXCR/L11-G5 20 16 9 160 27 15 8° DC..11T3.. M3.5*8 Q15 v A16N-SSKPR/L09 20 16 10.5 160 27 15 6° SP..0903.. M3.5*8 Q15 J
e A20Q-SDXCR/L11-G5 25 20 115 180 34 18 6° DC..11T3.. M3.5*9 Q15 J i& F Suitable: 4235 71 & DEREK Insert ne
i A25R-SDXCR/L11-G5 32 25 14 200 43 23 4° DC..11T3.. M3.5*9 Q15 ! it
25 i& A Suitable: &5 71 & DEREK Insert 7%
féw g
= %

>< DEREK >< DEREK




TypeS Type S

SSS*R/L STFCR/L

L 1N ]
NI

L1

Bs s ¥ |RF HKFL

=5 BE
Specification Min dia Insert Screw Wrench Water hole

25 WL 1222 WF HkFL
Specification Min dia a Insert Screw Wrench Water hole

S12M-SSSCR/L09 16 12 5 .. .. - S08K-STFCR/L09 7 .. ..
$16Q-SSSCR/L09 22 16 11.5 160 27 15 10° SC..09T3.. M3.5*9 Q15 - S10K-STFCR/LO9 13 10 6 17 125 9 13° TC..0902.. M2.2*5 Q06
S20Q-SSSCR/LO9 26 20 13.5 180 34 18 8° SC..09T3.. M3.5*9 015 - S12M-STFCR/L0O9 16 12 7 20 150 11 10° TC..0902.. M2.2*5 Q06
S25R-SSSCR/LO9 31 25 16 200 43 23 6° SC..09T3.. M3.5*9 Q15 - S10K-STFCR/L11 12 10 6 17 125 9 12° TC..1102.. M2.5%6 Qo8
$32S-SSSCR/L09 38 32 19.5 250 58 30 4° SC..09T3.. M3.5*9 Q15 - S12M-STFCR/L11 14 12 7 20 150 11 10° TC..1102.. M2.5*6 Qo8
H12M-SSSCR/LO9 16 12 85 150 20 11 12° SC..09T3.. M3.5*8 Q15 - $16Q-STFCR/L11 20 16 9 27 160 15 8: TC..1102.. M2.5*8 Q08
H16N-SSSCR/LO9 22 16 11.5 160 27 15 10° SC..09T3.. M3.5*9 Q15 - $20Q-STFCR/L11 25 20 11 34 180 18 6° TC..1102.  M2.5"8 Q08
S12M-SSSPR/L09 16 12 9 150 20 11 8° SP..0903.. M3.5*9 015 - S20Q-STFCR/L16 25 20 11.5 34 180 18 8: TC..16T3.. M3.5*9 Q15
S$16Q-SSSPR/L09 20 16 11 160 27 15 6° SP..0903.. M3.5*9 015 - S25R-STFCR/L16 31 25 14 43 200 23 6c> TC..16T3.. M3.5:9 Q15
S20Q-SSSPR/L09 24 20 13 180 34 18 4°  SP..0903.. M3.5*9 Q15 3 S32S-STFCR/L16 39 32 17.5 54 250 30 40 TC..16T3.. |V|3.5*9 Q15
325R_SSSPR/L09 32 25 17 200 43 23 20 SP0903 M35*9 Q15 - S40T‘STFCR/L16 50 40 215 68 300 37 2 5 TC16T3 M35 9 Q15
] . . . HO8K-STFCR/LO9 11 8 55 15 125 7 15° TC..0902.. M2.2*6 Q06
) $32S-SSSPR/LOS 40 32 22 250 58 30 0° SP.0903.. M3.5*9 Q15 . X )
e ° . ) H10K-STFCR/LO9 13 10 6 17 125 9 13° TC..0902.. M2.2*5 Q06 e
he H12M-SSSPR/LO 16 12 9 150 20 11  8° SP..0903.. M3.5*9 Q15 . .
s = oo = o - o * 7=
5 n H12M-STFCR/L11 14 12 7 20 150 11 10° TC..1102.. M2.5%6 Q08 :
A12M-SSSCR/LOS 16 12 85 150 20 11 12° SC..09T3.. M3.5*8 Q15 v ° .
o . H16N-STFCR/L11 20 16 9 27 160 15 8° TC..1102.. M2.5*7 Q08
A16N-SSSCR/LO9 22 16 11.5 160 27 15 10° SC..09T3.. M3.5*9 Q15 v : s .
A . CO8K-STFCR/LO9 11 8 55 15 125 7 15° TC..0902.. M2.2*5 Q06
p A20Q-SSSCRLO9 26 20 135 180 34 18 8° SC.09T3.  M3.5°9 Q15 v C1OMSTECR/ILOS 13 16 6 17 150 9  13° T0.0902.  M22°5 006 52
7’; A12M-SSSPR/L09 16 12 9 150 20 11 8% SP..0903.. M3.5*7 Q15 J C10M-STFCR/L11 13 10 6 17 150 9 12° TC..1102.. M2.5*6 Q08 g
) A16N-SSSPR/LO9 20 16 11 160 27 15 6° SP..0903.. mgg; Q15 v C12Q-STFCR/L11 14 12 7 20 180 11 10° TC..1102.. M2.5%6 Q08 p
A20Q-SSSPR/LO9 24 20 13 180 34 18 4° SP..0903.. 5" Q15 v C16R-STFCR/L11 20 16 9 27 200 15 8° TC..1102.. M2.5*8 Q08
s A25R-SSSPR/LO9 32 25 17 200 43 23 2° SP.0903.. M3.5%9 015 v C20S-STFCR/L11 25 20 11 34 250 19 8° TC..1102.. M2.5*8 Qo8 - 23
3 i& F Suitable: {35 71 i DEREK Insert AOBK-STFCR/LO9 11 8 55 15 125 7 15° TC..0902.. M2.2*6 Q06 J £
7 A1OK-STFCR/LO9 13 10 6 17 125 9 13° TC..0902.. M2.2*6 Q06 y 7
A12M-STFCR/L11 14 12 7 20 150 11 10° TC..1102.. M2.5%6 Qo8 I
b A16N-STFCR/L11 20 16 9 27 160 15 8° TC..1102.. M2.5*7 Q08 J F
g A20Q-STFCR/L16 25 20 11.5 34 180 18 8° TC..16T3..  M3.5*9 Q15 1 4
a° A25R-STFCR/L16 31 25 14 43 200 23 6° TC..16T3..  M3.5%9 Q15 I a°
7 i& A Suitable: 32 71 i DEREK Insert 7

>< DEREK >< DEREK




Type S Type S

STFPR/L STUCR/L

TR B wF HkFL

S s L322 RF HkFL

Specification F H Insert Screw Wrench Water hole Specification Mindia d F NG Wrench  Water hole
S10K-STFPR/L08 13 10 6 17 125 9 8° TP..0802.. M2*5 Q06 - S08K-STUCR/L09 11 8 5 . . Q06
S08K-STFPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*6 Q08 - S08K-STUCR/09-A16 11 16 5 20 125 15 10° TC..0902.. M2.5*5 Q06
S10K-STFPR/L09 13 10 6 17 125 9 8° TP..0902.. M2.5*6 Q08 - S10K-STUCR/L09 13 10 6 17 125 9 8° TC..0902.. M2.5*5 Q06
S10K-STFPR/L11 13 10 6 17 125 9 12° TP..1103.. M3*6 Q08 - S10K-STUCR/L09-A16 13 16 6 27 125 15 8° TC..0902.. M2.5*5 Q06
S12M-STFPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*8 Q08 - S10K-STUCR/L11 13 10 6 17 125 9 12° TC..1102.. M2.5*5 Q08
S$16Q-STFPR/L11 20 16 9 27 160 15 8° TP..1103.. M3*8 Q08 - S10K-STUCR/L11-A16 13 16 6 27 125 15 12° TC..1102.. M2.5*5 Q08
S20Q-STFPR/L11 24 20 11 34 180 18 6° TP..1103.. M3*8 Q08 - S12M-STUCR/L11 16 12 7 20 150 11 10° TC..1102.. M2.5*6 Q08
S20Q-STFPR/L16 24 20 115 34 180 18 6° TP..1603.. M3.5*9 Q15 - S12M-STUCR/L11-A16 16 16 7 34 150 15 10° TC..1102.. M2.5*6 Q08
S25R-STFPR/L16 31 25 14 43 200 23 4° TP..1603.. M3.5*9 Q15 - S$16Q-STUCR/L11 20 16 9 27 160 15 8° TC..1102.. M2.5*6 Q08
CO8K-STFPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*6 Q08 - S20Q-STUCR/L11 24 20 11 34 180 18 6° TC..1102.. M2.5*8 008
C10M-STFPR/L09 13 10 6 17 150 9 8° TP..0902.. M2.5*6 Q08 - S$20Q-STUCR/L16 25 20 115 34 180 18 8° TC..16T3.. M3.5*9 Q15
e C10M-STFPR/L11 13 10 6 17 150 9 12° TP..1103.. M3*6 Q08 - S25R-STUCR/L16 31 25 14 43 200 23 6° TC..16T3.. M3.5*9 Q15 i
] C12Q-STFPR/L11 16 12 7 20 180 11 10° TP..1103.. M3*6 Q08 - S§32S-STUCR/L16 39 32 17.5 54 250 30 4° TC..16T3.. M3.5*9 Q15 ;
%% C16R-STFPR/L11 20 16 9 27 200 15 8° TP..1103.. M3*8 Q08 - S40T-STUCR/L16 50 40 21.5 68 300 37 2° TC..16T3.. M3.5*9 Q15 %:
3 C20S-STFPR/L11 24 20 11 34 250 19 6° TP..1103.. M3*8 Q08 - HO8K-STUCR/L09 11 8 5 15 125 7 10° TC..0902.. M2.2*5 Q06 z
HO8K-STFPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*5 Q08 - H10K-STUCR/L09 13 10 6 17 150 9 8° TC..0902.. M2.2*5 Q06
HE H10K-STFPR/L09 13 10 6 17 125 9 8° TP..0902.. M2.5*6 Q08 - H10K-STUCR/L11 13 10 6 17 150 9 8° TC..1102.. M2.5*7 Q08 "3
%j’ H10K-STFPR/L11 13 10 6 17 125 9 12° TP..1103.. M3*6 Q08 - H12M-STUCR/L11 16 12 7 20 180 11 6° TC..1102 M2.5*6 Q08 %f
7’;%; H12M-STFPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*6 Q08 - H16R-STUCR/L11 20 16 9 27 200 15 4° TC..1102.. M2.5*7 Q08 - 7’?;“;
- H16N-STFPR/L11 20 16 9 27 160 15 8° TP..1103.. M3*7 008 : A08K-STUCR/L09 11 8 5 15 125 7 10° TC..0902.. M2.2*5 Q06 J )
A10K-STFPR/L08 13 10 6 17 125 9 8° TP..0802.. M2*5 Q06 v A10K-STUCR/L11 13 10 6 17 125 9 12° TC..1102.. M2.2*5 Q08 v
55; AO8K-STFPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*6 Q08 J A12M-STUCR/L11 16 12 7 20 150 11 10° TC..1102.. M2.5*6 008 v 5;
£ A10K-STFPR/LO9 13 10 6 17 125 9  8° TP..0902.. M2.5%6 Q08 v A16N-STUCR/L11 20 16 9 27 160 15 8° TC..1102.. M2.5%"6 Q08 v %3
B A12M-STFPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*6 Q08 J A20Q-STUCR/L11 24 20 11 34 180 18 6° TC..1102.. M2.5"6 Q08 v )
A16N-STFPR/L11 20 16 9 27 160 15 8° TP..1103.. M3*7 Q08 v i& A Suitable:#& % 71 & DEREK Insert
%;ﬁ A20Q-STFPR/L16 24 20 115 34 180 18 6° TP..1603.. M3.5*9 Q15 v g;ﬂ
=5 A25R-STFPR/L16 31 25 14 43 200 23 4° TP.1603.. M3.5%9 Q15 / £
i i& A Suitable: &5 71 i DEREK Insert #
7] 7]

>< DEREK >< DEREK




Type S

STUPR/L

Type S

STWCR/L

8BS
Specification

)]
MIE

Min dia

a

Tk

Insert

1222
Screw

wF
Wrench

HkFL

Water hole

e Nk 472 wF HkFL
Specification Mindia  d F H Insert Screw Wrench Water hole
S08K-STUPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*6 Q08
S10K-STUPR/L09 13 10 6 17 125 9 8° TP..0902.. M2.5*6 Q08
S10K-STUPR/L11 13 10 6 17 125 9 12° TP..1103.. M3*6 Q08
S12M-STUPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*6 Q08
S16Q-STUPR/L11 20 16 9 27 160 15 8° TP..1103.. M3*8 Q08
S20Q-STUPR/L11 24 20 11 34 180 18 6° TP..1103.. M3*8 Q08
S20Q-STUPR/L16 24 20 11.5 34 180 18 6° TP..1603.. M3.5*9 Q15
S25R-STUPR/L16 31 25 145 43 200 24 4°  TP..1603.. M3.5*9 Q15 s
A08K-STUPR/L09 11 8 5 15 125 7 10° TP..0902.. M2.5*5 Q08 v
A10K-STUPR/L11 13 10 6 17 125 9 12° TP..1103.. M3*6 Q08 v
A12M-STUPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*6 Q08 v
N A16N-STUPR/L11 20 16 9 27 160 15 8° TP..1103.. M3*6 Q08 v
;, A20Q-STUPR/L16 24 20 11.5 34 180 18 6° TP..1603.. M3.5*9 Q15 y
%: A25R-STUPR/L16 31 25 145 43 200 23 4°  TP..1603.. M3.5*9 Q15 J

i& F Suitable:f&352 71 i DEREK Insert

SRS

Internal turning tool

S

Threading tool

Grooving tool

SIS R TR S

>< DEREK

SO08K-STWCR/LO9 11 8 55 15 125 7 12° TC..0902.. M2.2*5 006
S10K-STWCR/L11 14 10 8 17 125 9 10° TC..1102.. M2.5*6 Q08
S12M-STWCR/L11 16 12 9 20 150 11 8° TC..1102.. M2.5*6 Q08
S16Q-STWCR/L11 20 16 11 27 160 15 6° TC..1102.. M2.5*8 Q08
S$20Q-STWCR/L11 25 20 13 34 180 18 4° TC..1102.. M2.5*8 Q08
S25R-STWCR/L11 31 25 15 43 200 23 2° TC..1102.. M2.5*8 Q08
S§328-STWCR/L11 39 32 19 54 250 30 0° TC..1102.. M2.5*8 008
S20Q-STWCR/L16 25 20 145 34 180 18 8° TC..16T3.. M3.5*9 015
S25R-STWCR/L16 32 25 17 43 200 23 6° TC..16T3.. M3.5*9 Q15
S32S-STWCR/L16 39 32 20 54 250 30 4° TC..16T3.. M3.5*9 015
S40T-STWCR/L16 50 40 24 68 300 37 0° TC..16T3.. M3.5*9 Q15
HO8K-STWCR/L09 11 8 5.5 15 125 7 12° TC..0902.. M2.2*5 Q06
H10K-STWCR/L11 14 10 8 17 125 9 10° TC..1102.. WM2.5*7 Q08
H12M-STWCR/L11 16 12 9 20 150 11 8° TC..1102.. M2.5*7 Q08
H16N-STWCR/L11 20 16 11 27 160 15 6° TC..1102.. M2.5*7 008
H20Q-STWCR/L11 25 20 13 34 180 18 4° TC..1102.. M2.5*7 Q08
AO8K-STWCR/L09 11 8 55 15 125 7 12° TC..0902.. M2.2*5 006 N
A10K-STWCR/L11 14 10 8 17 125 9 10° TC..1102.. M2.5*7 008 g
A12M-STWCR/L11 16 12 9 20 150 11 8° TC..1102.. M2.5*7 Q08 J
A16N-STWCR/L11 20 16 11 27 160 15 6° TC..1102.. M2.5*7 Q08 J
A20Q-STWCR/L11 25 20 13 34 180 18 4° TC..1102.. M2.5*7 008 N
A20Q-STWCR/L16 25 20 145 34 180 18 8° TC..16T3.. M3.5*9 015 J

i& F Suitable:f&=752 71 i DEREK Insert

>< DEREK

S ES
External turning tool

SRS

Internal turning tool

SHHSSE

Threading tool

Grooving tool

SIS TR S




TypeS Type S

SVQ*R/L SVU*R/L

BS ML by 1222 wF HkFL
Specification Min dia Insert Screw Wrench Water hole

s 1222 WF HkFL
Specification Screw Wrench Water hole

S12M-SVQBR/L11 17 12 10.5 B .. Q08 : S16Q-SVUBR/L11 22 16 125 27 160 15 10° VB..1103.. M2.5*8 Q08

S16Q-SVQBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*8 Q08 . $20Q-SVUBR/L11 27 20 14 34 180 18 8 VB..1103.. M2.5*8 Q08

S20Q-SVQBR/L11 27 20 14 34 180 18 8° VB..1103.. M2.5*8 Q08 : H16N-SVUBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*7 008

S16Q-SVQCR/L11 22 16 11.5 27 160 15 8° VC..1103.. M2.5°8 Q08 . S16Q-SVUCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*8 Q08

$20Q-SVQCR/L11 27 20 14 34 180 18 6° VC..1103.. M2.5*8 Q08 . S20Q-SVUCR/L11 27 20 14 34 180 18 8 VC..1103.. M2.5*8 Q08

S20Q-SVQBR/L16 27 20 14 34 180 18 10° VB..1604.. M3.5"9 Q15 : H16N-SVUCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*7 008

S25R-SVQBR/L16 32 25 165 43 200 23 8° VB..1604.. M3.5*9 Q15 - S$20Q-SVUBR/L16 31 20 19 34 180 18 8° VB..1604.. M3.5*9 Q15

$32S-SVQBR/L16 41 32 225 54 250 30 10° VB..1604.. M3.5*9 Q15 - S25R-SVUBR/L16 35 25 20 43 200 23 6° VB..1604.. M3.5*9 Q15

S40T-SVQBR/L16 50 40 27 68 300 37 8° VB..1604.. M3.5*9 015 - $32S-SVUBR/L16 42 32 225 54 250 30 8° VB..1604.. M3.5*9 Q15

S20Q-SVQCR/L16 27 20 14 34 180 18 8° VC..1604.. M3.5*9 Q15 - S40T-SVUBR/L16 51 40 27 68 300 37 8 VB..1604.. M3.5*9 Q15

S25R-SVQCR/L16 32 25 16.5 43 200 23 6° VC..1604.. M3.5*9 Q15 : S20Q-SVUCR/L16 31 20 19 34 180 18 8" VC..1604. M3.59 Q15
h S$325-SVQCR/L16 41 32 225 54 250 30 8° VC..1604. M3.5*9 Q15 - S25R-SVUCR/L1E 35 25 20 43 200 23 6° VC.1604. M3.59 Q15 .
S40T-SVQCR/L16 50 40 27 68 300 37 6° VC..1604.. M3.5*9 015 - S328-SVUCR/L16 42 32 225 54 250 30 8" VC.l604. M3.5"9 Q15
e A12M-SVQBR/L11 17 12 10 27 150 11 10° VB..1103.. M2.5*8 Q08 V S40T-SVUCR/L16 51 40 27 68 300 37 6° VC..1604.. M3.5"9 Q15 : i
MGN-SVQBRIL1T 22 16 115 27 160 15 10° VB 1103 M25°8 008 ) A16N-SVUBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*7 Q08 7

A20Q-SVOQBR/L11 27 20 14 34 180 18 8° VB..1103.. M2.5*8 Q08 J A20Q-SVUBR/L11 27 20 14 34 180 18 8° VB..1103.. M2.5*7 Q08 v
n MGN-SVQCRL1Y 22 16 115 27 160 15 8 VC.1103. M25+7 008 ) AGN-SVUCRAL11 22 16 115 27 160 15 10° VC.1103. M2.5°8 Q08 7 -
it A20Q-SVQCR/L1T 27 20 14 34 180 18 6° VC.1103. M2.o+7 008 ; A200-SVUCRL11 27 20 14 34 180 18 8 \VC.1103. M2.5°8 Q08 I if
7g A25R-SVGBRIL16 32 25 16.5 43 200 23 8° VB..1604. M3.5%9 015 ] A20Q-SVUBRALI6 31 20 19 34 180 18 8" VB.1604. WM3.5%9 Q15 ! 72
: A20Q-SVQCR/L16 27 20 14 34 180 18 8° VC..1604. M3.5%9 Q15 y i& /A Suitable:#&% 71 i DEREK Insert
) A25R-SVQCR/L16 32 25 165 43 200 23 6° VC..1604.. M3.5*9 Q15 v -
3 i& i Suitable: 4% 52 71 A DEREK Insert s
3 3

>< DEREK >< DEREK




TypeS Type S

SVZ*R/L SVW*R/L

= R 7] 1242 5 K7L B g TH g 42 RF
Specgi?ﬁZtion l\n/ﬂnl dia d Inséﬂlr-t Sc?irew Wj;ench V?/gte}? hole Specification ﬁinl(ﬂa o! Insert Center screw Wrench
S16Q-SVZBR/L11 22 16 115 27 160 15 10° VB..1103.. M2.5*8 Q08 i $20Q-SVWBR/L11 29 20 18 180 34 18 5° VB..1103.. M2.5°8 Q08
S20Q-SVZBR/L11 27 20 14 34 180 18 8 VB..1103.. M2.5*8 Q08 - S25R-SVWBR/L11 34 25 21 200 43 23 5° VB..1103.. M2.5"8 Q08
H16N-SVZBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*7 008 - S25R-SVWBR/L16 38 25 23 200 43 23 5° VB..1604.. M3.5*9 Q15
$16Q-SVZCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*8 Q08 - $32S-SVWBR/L16 45 32 26 250 54 30 5° VB..1604.. M3.5*9 Q15
$20Q-SVZCR/L11 27 20 14 34 180 18 8 VC..1103.. M2.5*8 Q08 - $20Q-SVWCR/L11 19 20 18 180 34 18 5° VC..1103.. M2.5*8 Q08
H16N-SVZCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*7 008 - S25R-SVWCR/L11 34 25 21 200 43 23 5° VC..1103.. M2.5%8 Q08
S25R-SVZBR/L16 34 25 195 43 200 23 8° VB..1604.. M3.5*9 Q15 i S25R-SVWCR/L16 38 25 23 200 43 23 5° VC..1604.. M3.5*9 Q15
$328-SVZBR/L16 42 32 235 54 250 30 6° VB..1604.. M3.5*9 Q15 - $32S-SVWCR/L16 45 32 26 250 54 30 5° VC..1604.. M3.5*9 Q15
S40T-SVZBR/L16 50 40 27 68 300 37 8° VB..1604.. M3.5*9 Q15 ) 1& F Suitable: &35 J1 5 DEREK Insert
S25R-SVZCR/L16 34 25 195 43 200 23 8° VC..1604.. M3.5*9 Q15 :
$328-SVZCR/L16 42 32 235 54 250 30 6° VC..1604.. M3.5*9 Q15
S40T-SVZCR/L16 50 40 27 68 300 37 8 VC..1604.. M3.5*9 Q15 .

) A16N-SVZBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*8 Q08 J i
A20Q-SVZBR/L11 27 20 14 34 180 18 8 VB..1103.. M2.5*8 Q08 J
% A16N-SVZCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*7 Q08 v £

A20Q-SVZCR/L11 27 20 14 34 180 18 8 VC..1103.. M2.5*7 Q08 J

A25R-SVZBR/L16 34 25 195 43 200 23 8 VB..1604.. M3.5%9 015 v
he i& A Suitable: &5 71 i DEREK Insert .
ﬂg Ts
23 e
E =
T= T=

Grooving tool
Grooving tool

SIS RS
SRS

»< DEREK >< DEREK




Type S Type S

SVX*R/L SWLCR/L

H
| — I
-l ] N !
N L ] N
o L
I N

Bs e pibay 1222 WF HkFL H14 H10 1

F
"8
[e]

L]
v

Specification Min dia Screw  Wrench Waterhole

S10K-SVXBR/L11 14 10 7.5 17 125 9 10° VB..1103.. M2.5"6 Q08 - . TR W8

S12M-SVXBR/L11 16 12 8.5 20 150 11 12° VB..1103.. M2.5*6 Q08 - Specification Insert Screw

S16Q-SVXBR/L11 22 16 11 27 160 15 10° VB..1103.. M2.5*8 Q08 -

$20Q-SVXBR/L11 27 20 135 34 180 18 8 VB.1103.. M2.5*8 Q08 - S08K-SWLCR/L04 10 8 5 14 125 7 13° WC.0402.. M2.5%5 Q08

H10K-SVXBR/L11 14 10 75 17 125 9 15° VB..1103.. M2.5*6 Q08 - S10K-SWLCR/L04 13 10 6.5 17 125 9 10° WC..0402.. M2.5%6 Q08

H12M-SVXBR/L11 16 12 85 20 150 11 12° VB..1103.. M2.5*7 Q08 ) S12M-SWLCR/L06 16 12 7.5 20 150 11 13° WC..06T3.. M3.5*9 Q15

H16N-SVXBR/L11 29 16 11 27 160 15 10° VB..1103.. M2.5*7 008 N S16Q-SWLCR/L06 20 16 95 27 160 15 10° WC..06T3.. M3.5*9 Q15

S10K-SVXCR/L11 14 10 7.5 17 125 9 12° VC..1103.. M2.5%6 Q08 _ S20Q-SWLCR/L06 25 20 11.5 34 180 18 8° WC..06T3.. M3.5*9 Q15

$12M-SVXCR/L11 16 12 85 20 150 11 10° VC..1103.. M2.5*6 Q08 - S25R-SWLCR/L06 31 25 14 43 200 23 6° WC..06T3.. M3.5*9 015

$16Q-SVXCR/L11 22 16 11 27 160 15 8 VC..1103.. M2.5*8 Q08 : HOBK-SWLCR/L04 10 8 5 16 125 7 13° WC..0402.. M2.5"5 Q08

$20Q-SVXCR/L11 27 20 135 34 180 18 6° VC..1103.. M2.5*8 Q08 - H10K-SWLCR/L04 13 10 6.5 20 125 9 10° WC..0402.. M2.5"6 Q08

H10K-SVXCR/L11 14 10 7.5 17 125 9 12° VC..1103.. M2.5*6 Q08 - H12M-SWLCR/L06 16 12 7.5 24 150 11 13° WC..06T3.. M3.5*8 Q15

H12M-SVXCR/L11 16 12 85 20 150 11 10° VC..1103.. M2.5*6 Q08 N H16N-SWLCR/L06 20 16 95 32 160 15 10° WC..06T3.. M3.5*8 Q15 -

H16N-SVXCR/L11 22 16 11 27 160 15 8° VC..1103.. M2.5*7 Q08 - A0BK-SWLCR/L04 10 8 5 14 125 7 13° WC..0402.. M2.5"5 Q08 !
. $16Q-SVXBR/L16 22 16 115 27 160 15 12° VB..1604.. M3.5*7 Q15 - A10K-SWLCR/L04 13 10 10 17 125 9 10° WC..0402.. M2.5*6 Q08 v i
B> S20Q-SVXBR/L16 27 20 135 34 180 18 10° VB..1604.. M3.5*9 Q15 B A12M-SWLCR/L06 16 12 6.5 20 150 11 13° WC..06T3.. M3.5*8 Q15 V B =
i1 S25R-SVXBR/L16 32 25 16 43 200 23 8 VB..1604. M3.5*9  QI5 : A16N-SWLCRAO6 20 16 7.5 27 160 15 10° WC..06T3.. M3.5*8 Q15 ! e
2 S$32S-SVXBR/L16 40 32 195 54 250 30 8° VB..1604.. M3.5*9 015 B} A20Q-SWLCR/L06 25 20 95 34 180 18 8° WC..06T3.. M3.5*8 Q15 V 2

S40T-SVXBR/L16 50 40 235 68 300 37 8 VB..1604.. M3.5*9 Q15 - i& A Suitable: {3 71 /iy DEREK Insert
E $16Q-SVXCR/L16 22 16 11.5 27 160 15 10° VC..1604.. M3.5*9 015 - e
3 $20Q-SVXCR/L16 27 20 135 34 180 18 8 VC.1604. M3.5*9 Q15 it
7 S25R-SVXCR/L16 32 25 16 43 200 23 6° VC..1604. M3.5*9 Q15 72
E S§32S-SVXCR/L16 40 32 195 54 250 30 8° VC..1604.. M3.5*9 Q15 p

S40T-SVXCR/L16 50 40 23.5 68 300 37 6° VC..1604.. M3.5*9 Q15 -
Eﬁ; H16N-SVXCR/L16 22 16 11.5 27 160 15 10° VC..1604.. M3.5*9 015 - Zﬁ;
% A10K-SVXBR/L11 14 10 75 17 125 9 15° VB..1103.. M25%6 Q08 y £

A12M-SVXBR/L11 16 12 8.5 20 150 11 12° VB..1103.. M2.5%6 Q08 J

A16N-SVXBR/L11 22 16 11 27 160 15 10° VB..1103.. M2.5*7 Q08 J
%; A20Q-SVXBR/L11 27 20 135 34 180 18 8° VB..1103.. WM2.5*7 Q08 N g;ﬂ
£ A10K-SVXCR/L11 14 10 75 17 125 9 12° VC..1103. M2.5*6 Q08 ! 52
*E A12M-SVXCR/L11 16 12 8.5 20 150 11 10° VC..1103.. M2.5*6 Q08 v E
7 A16N-SVXCR/L11 22 16 11 27 160 15 8° VC..1103.. M2.5*7 Q08 v 7

A20Q-SVXCR/L11 27 20 135 34 180 18 6° VC..1103.. M2.5*7 Q08 N

A16N-SVXBR/L16 22 16 115 27 160 15 12° VB..1604.. M3.5*9 Q15 V

A20Q-SVXBR/L16 27 20 135 34 180 18 10° VB..1604.. M3.5*9 Q15 J

A25R-SVXBR/L16 32 25 16 43 200 23 8° VB..1604.. M3.5*9 Q15 V

A16N-SVXCR/L16 22 16 11.5 27 160 15 10° VC..1604.. M3.5*7 Q15 N

A20Q-SVXCR/L16 27 20 13,5 34 180 18 8° VC..1604.. M3.5*9 Q15 J

A25R-SVXCR/L16 32 25 16 43 200 23 6° VC..1604.. M3.5*9 Q15 J

i& F Suitable: 752 71 i DEREK Insert

3 DEREK §3 DEREK




SHES

External turning tool

SRS

Internal turning tool

S

Threading tool

SIS R B S

Grooving tool

Type S Type S

SWUBR/L SER/L

Bs W B ol 4 R
Specification Min dia d Center screw Wrench

SO5H-SWUBR/L06-A08 6 8 3.1 100 WBGTO60104L-W11 R TR TIRiEE B RE
S05H-SWUBR/L06-A12 6 12 3.1 100 135 11 12° WBGT060104L-W11 M2*4 Q06 Specification H Insert i screw Sidescrew  Wrench
SO6H-SWUBR/LO6-A12 7 12 3.6 100 16.0 11 15° WBGTO60104LWIl  M2*4 Q06 SER/L 101011 10 10 100 10 12 11ER/L. : M2.5°8 : Q08
S07H-SWUBR/L06-A12 8 12 4.0 100 18.0 11 15° WBGT060104L-W11 M2*4 Q06 1212H16 12 12 100 12 16 16ER/L. . M2.5°8 . 015
HOSH-SWUBR/LOG-A08 6 8 3.1 100 17.5 7 12° WBGTO60104LWIl  M2*4 Q06 ioioH1e 16 16 100 16 20 16ER/. STMLG M3.5°12  M3'6N 015,010
HO5H-SWUBR/L06-A12 6 12 3.1 100 175 11 12° WBGT060104L-W11 M2*4 Q06 2020K16 20 20 125 20 25 16ER/L.. STM16 M3.5%12 M3*6N Q15,010
HO6H-SWUBR/L06-A12 7 12 3.6 100 21.0 11 15° WBGT060104L-W11 M2*4 Q06 2595M16 25 25 150 25 32 16ER/L.. STM16 M3.5*12 M3*6N 015,010
HO7H-SWUBR/L06-A12 8 12 4.0 100 245 11 15° WBGT060104L-W11 M2*4 Q06 3232P16 32 32 170 32 40 16ER/L.. STM16 M3.5%12 M3*6N 015,010
i& A Suitable: &5 71/ DEREK Insert 2525M22 25 25 150 25 32 22ER/L.. STM22 M4*16 M4*6N Q15,Q10

3232P22 32 32 170 32 40 22ER/L.. M4*16 M4 *6N Q15,010

2525M27 25 25 150 25 32 27ER/L.. . . Q20,Q10

3232P27 32 32 170 32 40 27ER/L.  SIM27 M5720  MATBN 020010

i& A Suitable: #2752 71 i DEREK Insert

§3 DEREK §< DEREK

SRS

External turning tool

SRS

Internal turning tool

SHHSSE

Threading tool

Grooving tool

SIS R B S




SHES

External turning tool

SRS

Internal turning tool

S

Threading tool

SIS R B S

Grooving tool

TypeS TypeM

SNR/L MGEVR/L

H1
B

il CEN Ik HF
] Specification IET Insert Wrench
MGEVR/L 2020-2 3.6 20 20 125 24 MGMN200-G M5* 12N LO4
2020-3 5.5 20 20 125 26 MGMN300-M M6 * 20N LO5
2020-4 5.5 20 20 125 26 MGMN400-M M6 * 20N LO5
= 8 44 ) ig 42 S i& M Suitable: &3 71 /v DEREK Insert
Specification [ Side screw  Wrench
SNR/L 0005K06-A12 6 12 4.3 125 13.5 11 06R/L.. - M2*4 - Q06
0006K06-A12 7.5 12 4.8 125 16 11 O06IR/L.. - M2*4 - Q06
0007K08 10 8 5.3 125 12 7 O08R/L.. - M2.2*6 - Q06 MGEHR/L
0007K08-A16 10 16 5.3 125 18.5 15 O08IR/L.. - M2.2*6 - Q06
0008K08 11 8 58 125 14 7 O08R/L.. - M2.2*5 Q06
0008K08-A16 11 16 5.8 125 21 15 O8R/L.. M2.2*5 Q06
0008K11 11 8 6.6 125 14 7 11R/L.. M2.5%7 - Q08 .
0010K11 12 10 7.4 125 17 9 11R/L.. M2.5*8 - Q08 _
0010K11-A16 12 16 7.4 125 26 15 11R/L.. M2.5*8 - Q08
0012K11 15 12 84 125 25 11 11R/L.. M2.5*8 Qo8
0013M16 16 16 10.2 150 32.5 15 16R/L.. M3.5*9 Q15
0016Q16 19 16 11.7 150 27 15 16R/L.. - M3.5*9 - Q15
0020Q16 24 2013.7 180 34 18 16R/L.. STM16 M3.5*12 M3*6N Q15,010 wLT © @ )
0025R16 29 2516.2 200 43 23 16R/L.. STM16 M3.5%12 M3*6N Q15,010
0032516 36 3219.7 250 54 30 16IR/L.. STM16 M3.5%12 M3*6N Q15,010 L £
0040T16 44 40 23.7 322 68 37 16R/L.. STM16 M3.5*12 M3*6N Q15,010
0050U16 54 50 28.7 350 85 47 16R/L.. STM16 M3.5%12 M3*6N  Q15,Q10
0020022 24 2015.6 180 34 18 22R/L.. - M4*12-S22 - Q15 BE =R -
0025R22 29 2518.1 200 43 23 22R/L.. STM22 M4*16 M4*6N  Q15,Q10 Specification YIRT it
0032522 38 3221.6 250 54 30 22R/L.. STM22 M4*16 M4*6N  Q15,Q10 MGEHR/L 1616-1.5 145 16 16 100 16.25 MGMN150-G M5* 12N LO4 N3
0040722 46 40 25.6 300 68 37 22R/L.. STM22 M4*16 M4*6N Q15,010 2020-1.5 145 20 20 125 20.25 MGMN150-G M5*12N LO4
0050U22 56 50 30.6 350 85 47 22R/L.. STM22 M4*16 M4*6N Q15,010 2525-1.5 145 25 25 150 25.25 MGMN150-G M5* 12N LO4
0032527 40 32226 250 54 30 27R/L.. STM27 M5* 20 M4*6N Q15,010 12122 145 12 12 100 12.25 M5*16N LO4 ez
0040727 48 40 26.6 300 68 37 27R/L.. STM27 M5+ 20 M4*6N Q15,010 1616-2 145 16 16 100 16.25  MGMNZ00G M5*16N LO4 g2
0050U27 58 50 31.6 350 85 47 27R/L.. STM27 M5 * 20 M4*6N Q15,010 2020-2 145 20 20 125 20.25  MGMN200-C10] M5*16N LO4 ne
i& A Suitable:f=% 77 B DEREK Insert 2525-2 14.5 25 25 150 25.25 M5*16N LO4
1616-2.5 165 16 16 100 16.3 MGMN250.G M5*16N LO4 s
2020-2.5 165 20 20 125 20.3 VMGMN250-M M5*16N LO4 nE
2525-2.5 16.5 25 25 150  25.3 M5* 16N LO4 B
1616-3 185 16 16 100 16.35 M6 * 20N LO5 5
2020-3 18 20 20 125 20.4 MGMN300-M M6* 20N LO5
2020-3-T10 10 20 20 125 20.4 MGMN300-C0OOM  M6*20N LO5
2525-3 18 25 25 150 25.4 MRMN300-M M6 * 20N LO5
2525-3-T10 10 25 25 150 25.4  MGMR300-C00IM M6* 20N LO5
3232-3 18 32 32 170 324 M6 * 20N LO5
3232-3-T10 10 32 32 170 32.4 M6 * 20N LO5

®BTn @.—
See next page =

>< DEREK 53 DEREK




Type M Type M

MGEHR/L MGIVR/L

Lt
@\
N
TN\

@@

Specification PIET Insert Screw Wrench EiJE=] 2N BX TIE W2y WE
MGEHR/L 2020-4 18 20 20 125 204 M6* 20N L05 Specification ST HIRT d Insert Screw LT
2020-4-T10 10 20 20 125 20.4 MGMN400-M M6 *20N LO5 MGIVR/L 2016-1.5 20 4 16 125  11.3 MGMN150-G M4 * 10N LO3
2525-4 18 25 25 150 25.4  MGMN400-JOOM M6 * 20N LO5 2500-1.5 25 4 20 150 13.1 MGMN150-G M4*12N LO3
2525-4-T10 10 25 25 150 25.4 MRMN400-M M6* 20N LO5 2925-1.5 29 4 25 200 16.2 MGMN150-G M4*12N LO3
3232-4 18 32 32 170  32.4 MGMR400-CJCIM M6* 20N LO5 2016-2 20 5 16 125 12.4 MGMN200-G M4*10N LO3
3232-4-T10 10 32 32 170 32.4 M6 * 20N L05 2520-2 25 5 20 150 14 MGMN200-M M4*12N L03
2020-5 23 20 20 150 20.5 M6* 20N LO5 2925-2 29 5 25 200 17.2 MRMN200-M M4*12N LO3
2020-5-T15 15 20 20 150 20.5 MGMN500-M M6 * 20N LO5 2016-2.5 20 6 16 125 125 MGMN250-G M4*10N L03
2525-5 23 25 25 150 25.5 MGMN500-C0OM  M6*20N LO5 2520-2.5 25 6 20 150 15.1 MGMN250.M M4*12N L03
2525-5-T15 15 25 25 150 25.5 MRMN500-M M6*20N LO5 2925-2.5 29 6 25 200 18.2 ) M4*12N L03
3232-5 23 32 32 170 32,5 MGMR500- M M6*20N LO5 2520-3 25 6 20 150 15.6 MGMN300-M/G M5*12N LO4
3232-5-T15 15 32 32 170 325 M6* 20N LO5 3125-3 31 6 25 200 18.9  MGGN300-CJM M5*12N LO4
2020-6 23 20 20 125 20.6 M6 * 20N LO5 3732-3 37 5 o 250 21.5 MRMN300-M M5* 12N L04
2020-6-T15 15 20 20 125 20.6 MGMNG00-M M6* 20N LO5 2520-4 25 6 20 150 15.6 MGMN400-M/G M5*12N L04
2525-6 23 25 25 150 25.6  MGGNGOO-CIOM  M6*20N LO5 3125-4 31 6 25 200 189  MGGN400-CI M M5*12N L04
» 2525-6-T15 15 25 25 150 256  MRMNGOO-M M6* 20N LO5 3732-4 37 6 32 250 215 MRMN400-M M5*12N L04 .
3232-6 23 32 32 170 326 M6*20N LO5 3125-5 31 8 25 200 19.4 MGNINSO0-M/G M5*12N LO4
N3 3232-6-T15 15 32 32 170  32.6 M6* 20N L05 3732-5 37 8 32 250 215 MRMN500-M M5* 12N L04 g
2525-8 28 25 25 150 26.1  MRMN8O0O-M M6* 20N LO5 3125-6 31 8 25 200 19.4 MGMNEOON/G M5*12N LO5 .
2525-5-T15 15 25 25 150 26.1  MRMN80O-M M6* 20N LO5 3732-6 37 8 32 250 215 MRMN600-M M5*12N LO5
3232-8 28 32 32 170 33.1  MRMN80O-M M6 * 20N LO5 i& f Suitable: &%= 77 & DEREK Insert ]
3232-8-T15 16 32 32 170 331  MRMN80O-M M6* 20N LO5 :

SR
Internal turning tool

Internal turning tool

i& A Suitable:#&5 71 /i DEREK Insert

S

Threading tool

SHHSSE

Threading tool

Grooving tool
Grooving tool

STl R B S
S SR B S

’3I DEREK »< DEREK




TypeQ Type Q

QE*DR/I_ QF*D**LL**

L1 | @Dmin

= @D max

L TIHERZEE

2l E—

S D B®A b #242 |WF

Specification minmax)  FPERT w Insert Screw  Wrench

U= 5k TR W24 WE QFFD 2525LL10-48H 48-66 10 25 25 150 26 3  ZTFD0303-MG  M6*20Q LO5

Specification PIRT Insert Screw Wrench 2525LL17-48H 48-66 17 25 25 150 26 3 ZTFD0303-MG M6*20Q  LO5

KEM** % % %% * 2525LL10-60H 60-80 10 25 25 150 26 3 ZTFD0303-MG  M6*20Q LO5

B L L A T 2525LL17-60H 60-80 17 25 25 150 26 3  ZIFDO303-MG  M6°20Q  L05

2020RM10 10 20 20 125 203 2.5 ZED******  M6*200 L05 2525LL10-74H 74110 10 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

2525R/10 10 25 25 150 253 2.5 Z°ED****-**  M6*200 L05 2525LL10-100H  100-150 10 25 25 150 26 3  ZTFDO303-MG M6*20Q  LO5

2525RM17 17 25 25 150 253 2.5 Z*ED******  M6*200 L05 2525LL17-100H  100-150 17 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

QEFD 1616RIL10 10 16 16 125 163 3 P07 M620Q o4 QFGD 2525LL13-52H 5272 13 25 25 150 26 4 ZTGD0404-MG M6°20Q  LO5

e —T 16 125 163 3 Z'FD*****  M620Q Lo4 2525L122-52H 5272 22 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5

2525R/10 10 25 25 150 253 3 Z°FD****  M6*200 L05 2525LL13-90H 90-140 13 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5
R osoBRIL1T 17 25 25 150 253 3 Z'FD**t*-t ME*20Q L05 2525L1.22-90H 90-140 22 25 25 150 26 4 ZTGD0O404-MG M6*20Q  LO5 .
QEGD 2020R/L13 13 20 20 125 205 4  Z°GD** ' M6°20Q L5 2525LL13-130H 130230 13 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5 '}
z 2595R/L13 13 o5 25 150 25 5 4 Z*GD****-**  M6*20Q L05 QFHD 2525L113-58H 58-96 13 25 25 150 26 5 ZTHDO504-MG  M6*20Q LO5 z

2525RM22 22 25 25 150 255 4 Z°GD******  M6*200 L05 2525L1.22-58H 5896 22 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5
. 3232R/L13 13 32 32 170 32.5 4 Z*GD******  M6*20Q L05 25251113-86H 86-140 13 25 25 150 26 5 ZTHDO504-MG  M6*20Q LO5 03
2} QEHMD 2525R/L1a 13 25 25 150 2565 5  Z°HD****-**  M6°200 L05 2525LL13-130H  130-200 13 25 25 150 26 5 ZTHDO504-MG M6*20Q  LO5 7
5 PSRN o5 25 150 255 5 Z*HD****-*  M6*20Q L05 2525L1.22-130H 130200 22 25 25 150 26 5 ZTHDO504-MG  M6*20Q  LO5 b

3232R11.13 13 3 32 170 325 5 ZHD***-t M6*200 LO5 2525LL13-185H 185400 13 25 25 150 26 5 ZTHDO504-MG M6*20Q  LO5
3 R 3 32 170 325 5 Z*HD****-*  ME*200 L05 252511.22-185H 185400 22 25 25 150 26 5 ZTHDO504-MG  M6*20Q  LO05 3
3 QEKD 252513 13 25 25 150 256 6 Z'KD******  M6°20Q L05 QFKD 2525LL13-60H 60-100 13 25 25 150 26 6 ZIKD0O608MG M6°20Q  LO5 3
TIE . TIE

2505RI22 22 25 25 150  25.6 6  Z*KD******  M6"200 L05 2525L1.22-60H 60-100 22 25 25 150 26 6 ZTKD0608MG M6°20Q  LO5

2R3 13 32 32 170 326 6 Z°KD***'r*  M6*200 L05 2525L113-88H 88180 13 25 25 150 26 6 ZTKDO608MG M6°20Q  LO5
a3 e 32 32 170 326 6 Z°KD****-*  M6*200 L05 2525L1.22-88H 88180 22 25 25 150 26 6 ZTKDO608&MG M6*20Q  LO5 H
%‘é i A Suitable: &% 71 & DEREK Insert 25251 L13-160H 160-400 13 25 25 150 26 6 ZTKD0608-MG M6*20Q LO5 {f_fié
£ e 2525L1.22-160H 160-400 22 25 25 150 26 6 ZTKD0608-MG  M6*200 LO5 E”

< i& A Suitable:{&52 71  DEREK Insert 7

>< DEREK 53 DEREK




Type Q TypeQ

QF*D_L QF*D**RR**

@Dm min
\ L 2D
- / - @Dmax @D max
ju
W [2a)] o w
=] ¥ FHEREGHE : FHEEEE
Wi L

e D BX K gy 4RF S D Tk g2ee  RF
Specification minma  PJERT  H w Insert Screw  Wrench Specification minmax)  RT w Insert Screw  Wrench

QFFD 2525R/L10-48L 48-66 10 25 25 150 26 3 ZTFDO303-MG M6*20Q  LO5 QFFD 2525RR10-48H 48-66 10 25 25 150 26 3 ZTFDO303-MG  M6720Q  LO5

2525R/L17-48L 4866 17 25 25 150 26 3 ZTFD0303-MG M6*20Q  LO05 2525RR17-48H 4866 17 25 25 150 26 3  ZTFDO303-MG ~ M6720Q  LO5

2525R/L10-60L 60-80 10 25 25 150 26 3  ZTFDO303-MG M6*20Q  L05 2525RR10-60H 60-80 10 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

2525R/L17-60L 60-80 17 25 25 150 26 3 ZTFD0O303-MG M6*20Q  LO05 2525RR17-60H 60-80 17 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

2525R/L10-74L 74-110 10 25 25 150 26 3  ZTFD0O303-MG M6*20Q  L05 2525RR10-74H 74-110 10 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

2525R/L17-74L 74110 17 25 25 150 26 3 ZTFDO303-MG M6*20Q  LO5 2525RR17-74H 74-110 17 25 25 150 26 3 ZTFDO303-MG  M6720Q  LO5

2525R/L10-100L 100-150 10 25 25 150 26 3  ZTFD0O303-MG M6*20Q  L05 2525RR10-100H 100-150 10 25 25 150 26 3 ZTFDO303-MG ~ M6*20Q  LOS

2525R/L17-100L 100-150 17 25 25 150 26 3 ZTFD0O303-MG M6*20Q  L05 2525RR17-100H 100-150 17 25 25 150 26 3  ZTFDO303-MG  M6*20Q  LO5

QFGD 2525R/L13-52L 52-72 13 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5 QFGD 2525RR13-52H 52-72 13 25 25 150 26 4 ZTGDO404-MG  M6720Q  LO5

2525R/L22-52L 52-72 22 25 25 150 26 4 ZTGDO404-MG M6*20Q  L05 2525RR22-52H 52.72 22 25 25 150 26 4 ZTGDO404-MG  M6*20Q  LO5

2525R/L13-64L 64-100 13 25 25 150 26 4 7TGDO404-MG M6*20Q  LO5 2525RR13-64H 64-100 13 25 25 150 26 4 ZTGD0O404-MG M6*20Q  L05

2525R/L22-64L 64-100 22 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5 2525RR22-64H 64-100 22 25 25 150 26 4 ZTGD0O404-MG  M6720Q  LO5

2525R/L13-90L 90-140 13 25 25 150 26 4 ZTGD0404-MG M6*20Q  L05 2525RR13-90H 90-140 13 25 25 150 26 4 7TGDO404-MG  M6*20Q  LO5

- 2525R/L22-90L 90-140 22 25 25 150 26 4 ZTGD0O404-MG M6*20Q  LO05 2525RR22-90H 90-140 22 25 25 150 26 4 ZTGD0404-MG  M6720Q  LO5
2525R/L13-130L 130-230 13 25 25 150 26 4 ZTGDO404-MG M6*20Q  LO5 2525RR13-130H 130-230 13 25 25 150 26 4 7TGDO404-MG ~ M6°20Q  LO5
L 2525R/L22-130L 130230 22 25 25 150 26 4  7TGDO404-MG M6*20Q  LO5 2525RR22-130H 130230 22 25 25 150 26 4 7ZTGDO404-MG  M6*20Q  LO5 1
QFHD 2525R/L13-58L 58-96 13 25 25 150 26 5 ZTHD0504-MG M6*20Q  L05 QFHD 2525RR13-58H 58-96 13 25 25 150 26 5 ZTHDO504-MG  M6*20Q  LO5

2525R/L22-58L 5896 22 25 25 150 26 5 ZTHDO504-MG M6*20Q  LO5 2525RR22-58H 5896 22 25 25 150 26 5 ZTHDO504-MG ~ M6*20Q  LO5
- 2525R/L13-86L 86-140 13 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5 2525RR13-86H 86-140 13 25 25 150 26 5 ZTHDO504-MG ~ M6*20Q  LO5 i
it 2525R/L22-86L 86-140 22 25 25 150 26 5 ZTHDO504-MG M6*20Q  LO5 2525RR22-86H 86-140 22 25 25 150 26 5 ZTHDO504-MG ~ M6*20Q  LO5 e
N 2525R/L13-130L 130-200 13 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5 2525RR13-130H 130200 13 25 25 150 26 5 ZTHDO504-MG ~ M6*20Q  LO5 n%
. 2525R/L22-130L 130-200 22 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5 2525RR22-130H 130-200 22 25 25 150 26 5 ZTHDO504-MG ~ M6720Q  LO5

2525R/L13-185L 185-400 13 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5 2525RR13-185H 185400 13 25 25 150 26 5 7ZTHD0504-MG  M6*20Q  LO5
3 2525R/L22-185L 185400 22 25 25 150 26 5 ZTHD0504-MG M6*20Q  LO5 2525RR22-185H 185400 22 25 25 150 26 5 ZTHDO504-MG  M6*20Q  LO5 3
3 QFKD 2525R/L13-60L 60-100 13 25 25 150 26 6 ZTKDO608-MG M6*20Q  L05 QFKD 2525RR13-60H 60-100 13 25 25 150 26 6 ZTKDO608-MG  M6*20Q  LO5 £
) 2525R/L22-60L 60-100 22 25 25 150 26 6 ZTKDO608-MG M6*20Q  LO5 2525RR22-60H 60-100 22 25 25 150 26 6 ZTKDO608-MG ~ M6+20Q  LO5 7

2525R/L13-88L 88180 13 25 25 150 26 6 ZTKDO608-MG M6*20Q  LO5 2525RR13-88H 88180 13 25 25 150 26 6 ZTKDO608-MG  M6*20Q  LO5
23 2595R/L.22-88L 88-180 29 25 25 150 26 6 ZTKDO608-MG M6*20Q LO5 2525RR22-88H 88-180 22 25 25 150 26 6 ZTKD0608-MG M6*20Q  LO5 s
£t 2525R/L13-160L 160400 13 25 25 150 26 6 ZTKD0608MG M6*20Q  LO5 2525RR13-160H 160-400 13 25 25 150 26 6 ZTKD0608-MG  M6*20Q  LO5 nE
3 2525R/L22-160L 160400 22 25 25 150 26 6 ZTKD0608-MG M6*200  LO5 2525RR22-160H 160400 22 25 25 150 26 6 ZTKDO608MG  M6720Q  LO5 "
7 i& A Suitable:#E5 71 i DEREK Insert i& A Suitable: &5 71 i DEREK Insert -

>< DEREK »< DEREK




TypeQ Type Q/S

ZQ Q*DR/L

H14 HI0 EillE=3 =N EBK Tk 182 IwF

Specification MIFE YIRT Insert Screw Wrench

] TIE i 44 e C20Q-QEDR/L05-27 27 5 20 180 152 25 cere. M4*12Q L04
Specification W Insert Screw Wrench C25R-QEDR/L07-33 33 7 25 200 20.3 2.5 %EEB M M5*12Q LO4
ZQ 1616R/L03 16 16 16 100 16.4 3  ZQMX3N11-1E M5*17Q LO4 C325-QEDR/L09-42 42 9 32 250 253 25 M5*12Q LO4
2020R/L03 20 20 20 125 204 3 ZQMX3N11-1E M6*20Q L04 C20Q-QFDR/L05-27 27 5 20 180 152 3 ... MATI20 LO4
2525R/L03 20 25 25 150 254 3  ZQMX3NIL-IE  M6*20Q LO5 C25R-QFDR/LO7-33 33 / 25 200 203 3 gpppesss. M57120Q L04
3232R/L03 25 32 32 170 254 3 ZQMX3N1I-1E M6*22Q L05 C32S-QFDR/09-42 42 9 32 250 253 3 M5*12Q LO4
1616R/L04 16 16 16 100 16.4 4 ZQMX4N11-1E M5*17Q LO4 C25R-QGDR/L08-35 35 8 25 200 21.5 4 7TGD***** M5°12Q LO4
2020R/L04 20 20 20 125 20.4 4 ZQMX4N11-1E M6 *20Q LO4 C32S-QGDR/L11-44 44 11 32 250 27.5 4 ZRGD***** M5*12Q LO4
2525R/L04 20 25 25 150 254 4  ZQMX4N11-1E M6*20Q LO5 C4OT-QGDR/L13-54 54 13 40 300 335 4 M5*12Q LO4
3282RI04 25 32 32 170 254 4  ZQMX4NIL-IE  M6*22Q L05 S2SREGHDRTIE:35 A - < S 4 [ mg:;gg e

s : s - - . P—

28 SRl 2ol DIER A T CAOTQHDR/LIZ54 54 13 40 300 335 5 P M6*20Q L05
C25R-QKDR/L08-35 35 8 25 200 215 6  oo.....  M6°20Q L05

C325-QKDR/11-44 44 11 32 250 275 6 pkDesees  M6720Q LO5

C40T-QKDR/L13-54 54 13 40 300 335 6 M6*20Q L05

i& F Suitable: &5z 71 /5 DEREK Insert

SHES
SHES

: SNGR/L §
7 e
z i
7] jj?
23 23
7] g 7]%

Gr

Grooving tool
Grooving tool

L1

S TSRS S
S SR SRS

S &/ Nk 422 "F
Specification mIfE W Insert Screw Wrench
SNGR/L 08H07 10 8 5.8 100 16 1.7 2 7GR200 M2.2*5 Q06
10K07 12 10 6.8 125 20 1.7 2 7GR200 M2.2*6 Q06

10K08 14 10 7.6 125 20 2.2 3 8GR300 M2.2*7 Q06

12M08 16 12 8.6 150 24 2.2 1 8GR100 M2.2*7 Q06

16Q09 20 16 11.5 180 32 3.2 3 9GR300 M2.5*9 Q08

20R09 24 20 13.6 200 40 3.2 3 9GR300 M2.5*9 Q08

1& F Suitable: &= 71 5 TUNGALOQY Insert

§3 DEREK §3 DEREK




